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ʎʝʣʠ ʟʘʜʘʯʠ ʢʫʨʩʦʚʦʡ ʨʘʙʦʪʳ 

ɺʘʞʥʝʡʰʠʤ ʢʦʤʧʦʥʝʥʪʦʤ ʦʙʨʘʟʦʚʘʪʝʣʴʥʦʛʦ ʧʨʦʮʝʩʩʘ ʷʚʣʷʝʪʩʷ 

ʧʦʜʛʦʪʦʚʢʘ ʠ ʟʘʱʠʪʘ ʢʫʨʩʦʚʦʡ ʨʘʙʦʪʳ, ʮʝʣʴ ʢʦʪʦʨʦʡ ʟʘʢʣʶʯʘʝʪʩʷ ʚ 

ʟʘʢʨʝʧʣʝʥʠʠ ʪʝʦʨʝʪʠʯʝʩʢʠʭ ʟʥʘʥʠʡ ʠ ʧʨʠʦʙʨʝʪʝʥʠʝ ʨʘʟʣʠʯʥʳʭ ʪʠʧʘʭ 

ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʦʙʱʝʛʦ ʧʨʠʤʝʥʝʥʠʷ, ʪʨʘʥʩʬʦʨʤʘʪʦʨʘʭ, ʘ ʪʘʢʞʝ 

ʩʧʝʮʠʘʣʴʥʳʭ ʤʘʰʠʥʘʭ, ʦʙʫʯʝʥʠʝ ʥʘʚʳʢʘʤ ʩʘʤʦʩʪʦʷʪʝʣʴʥʦʡ ʨʘʙʦʪʳ ʧʨʠ 

ʨʝʰʝʥʠʠ ʪʝʦʨʝʪʠʯʝʩʢʠʭ ʠ ʧʨʘʢʪʠʯʝʩʢʠʭ ʟʘʜʘʯ ʧʦ ʧʨʠʤʝʥʝʥʠʶ ʵʣʝʢʪʨʠʯʝʩʢʠʭ 

ʤʘʰʠʥ. 

¶ ʠʟʫʯʝʥʠʝ ʦʙʱʠʭ ʚʦʧʨʦʩʦʚ ʠʩʧʦʣʴʟʦʚʘʥʠʷ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ; 

¶ ʠʟʫʯʝʥʠʝ ʧʨʠʥʮʠʧʦʚ ʜʝʡʩʪʚʠʷ ʠ ʢʦʥʩʪʨʫʢʪʠʚʥʦʝ ʠʩʧʦʣʥʝʥʠʝ 

ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʜʣʷ ʧʨʦʝʢʪʥʦ-ʢʦʥʩʪʨʫʢʪʦʨʩʢʦʡ ʜʝʷʪʝʣʴʥʦʩʪʠ; 

¶ ʠʟʫʯʝʥʠʝ ʪʝʭʥʠʯʝʩʢʠʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʦʧʨʝʜʝʣʷʶʱʠʭ ʵʢʩʧʣʫʘʪʘʮʠʦʥʥʳʝ 
ʩʚʦʡʩʪʚʘ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʜʣʷ ʧʨʦʠʟʚʦʜʩʪʚʝʥʥʦ-ʪʝʭʥʦʣʦʛʠʯʝʩʢʦʡ 

ʜʝʷʪʝʣʴʥʦʩʪʠ; 

¶ ʩʬʦʨʤʠʨʦʚʘʪʴ ʧʨʘʢʪʠʯʝʩʢʠʝ ʥʘʚʳʢʠ ʧʨʠʤʝʥʝʥʠʷ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ 
ʚ ʦʨʛʘʥʠʟʘʮʠʦʥʥʦ-ʫʧʨʘʚʣʝʥʯʝʩʢʦʡ ʜʝʷʪʝʣʴʥʦʩʪʠ. 

¶ ɺ ʨʝʟʫʣʴʪʘʪʝ ʠʟʫʯʝʥʠʷ ʜʠʩʮʠʧʣʠʥʳ çʕʣʝʢʪʨʠʯʝʩʢʠʝ ʤʘʰʠʥʳè 

ʩʪʫʜʝʥʪʳ ʜʦʣʞʥʳ ʟʥʘʪʴ: 

¶ - ʟʥʘʯʝʥʠʝ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʜʣʷ ʵʣʝʢʪʨʠʬʠʢʘʮʠʠ ʠ 

ʘʚʪʦʤʘʪʠʟʘʮʠʠ ʧʨʦʠʟʚʦʜʩʪʚʘ; 

¶ - ʦʩʥʦʚʳ ʪʝʦʨʠʠ ʵʣʝʢʪʨʦʤʝʭʘʥʠʯʝʩʢʦʛʦ ʧʨʝʦʙʨʘʟʦʚʘʥʠʷ ʵʥʝʨʛʠʠ ʠ 

ʬʠʟʠʯʝʩʢʠʝ ʦʩʥʦʚʳ ʨʘʙʦʪʳ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ; 

¶ - ʚʠʜʳ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʠ ʠʭ ʦʩʥʦʚʥʳʝ ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ;  

¶ - ʢʦʥʩʪʨʫʢʪʠʚʥʳʝ ʠʩʧʦʣʥʝʥʠʷ, ʧʘʨʘʤʝʪʨʳ ʠ ʨʝʞʠʤʳ ʨʘʙʦʪʳ 

ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ, ʦʩʥʦʚʥʳʝ ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ ʵʣʝʢʪʨʠʯʝʩʢʠʭ 

ʜʚʠʛʘʪʝʣʝʡ, ʛʝʥʝʨʘʪʦʨʦʚ ʠ ʧʨʝʦʙʨʘʟʦʚʘʪʝʣʝʡ;  

¶ -ʵʢʩʧʣʫʘʪʘʮʠʦʥʥʳʝ ʪʨʝʙʦʚʘʥʠʷ ʢ ʨʘʟʣʠʯʥʳʤ  ʚʠʜʘʤ ʵʣʝʢʪʨʠʯʝʩʢʠʭ 

ʤʘʰʠʥ;  

¶ - ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ ʠ ʨʝʛʫʣʠʨʦʚʦʯʥʳʝ ʩʚʦʡʩʪʚʘ ʵʣʝʢʪʨʦʧʨʠʚʦʜʦʚ ʩ 

ʜʚʠʛʘʪʝʣʷʤʠ ʧʦʩʪʦʷʥʥʦʛʦ ʠ ʧʝʨʝʤʝʥʥʦʛʦ ʪʦʢʘ; 

¶ - ʪʝʥʜʝʥʮʠʠ ʨʘʟʚʠʪʠʷ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ. 

¶ -ʦʩʥʦʚʳ ʦʙʝʩʧʝʯʝʥʠʷ ʙʝʟʦʧʘʩʥʦʩʪʠ ʞʠʟʥʝʜʝʷʪʝʣʴʥʦʩʪʠ; 

¶ ʫʤʝʪʴ: 

¶ - ʧʦʜʢʣʶʯʘʪʴ ʠ ʠʩʧʳʪʳʚʘʪʴ ʵʣʝʢʪʨʠʯʝʩʢʠʝ ʤʘʰʠʥʳ ʠ 

ʪʨʘʥʩʬʦʨʤʘʪʦʨʳ; 

¶ - ʨʘʩʩʯʠʪʳʚʘʪʴ, ʠʟʤʝʨʷʪʴ ʠ ʘʥʘʣʠʟʠʨʦʚʘʪʴ ʧʘʨʘʤʝʪʨʳ ʠ ʦʩʥʦʚʥʳʝ 

ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʠ ʪʨʘʥʩʬʦʨʤʘʪʦʨʦʚ 

ʧʨʠʤʝʥʠʪʝʣʴʥʦ ʢ ʧʦʪʨʝʙʥʦʩʪʷʤ ʘʛʨʦʧʨʦʤʳʰʣʝʥʥʦʛʦ ʢʦʤʧʣʝʢʩʘ.  

¶ -ʧʨʠʤʝʥʷʪʴ, ʵʢʩʧʣʫʘʪʠʨʦʚʘʪʴ ʠ ʧʨʦʠʟʚʦʜʠʪʴ ʚʳʙʦʨ ʤʘʰʠʥ, 

ʵʣʝʢʪʨʠʯʝʩʢʦʛʦ ʧʨʠʚʦʜʘ, ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʯʝʩʢʠʭ ʩʠʩʪʝʤ ʠ ʩʝʪʝʡ, 

ʩʠʩʪʝʤ ʵʣʝʢʪʨʦʩʥʘʙʞʝʥʠʷ;  
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¶ -ʬʦʨʤʠʨʦʚʘʪʴ ʟʘʢʦʥʯʝʥʥʦʝ ʧʨʝʜʩʪʘʚʣʝʥʠʝ ʦ ʧʨʠʥʷʪʳʭ ʨʝʰʝʥʠʷʭ ʠ 

ʧʦʣʫʯʝʥʥʳʭ ʨʝʟʫʣʴʪʘʪʘʭ ʚ ʚʠʜʝ ʥʘʫʯʥʦ-ʪʝʭʥʠʯʝʩʢʦʛʦ ʦʪʯʝʪʘ ʩ ʝʛʦ 

ʧʫʙʣʠʯʥʦʡ ʟʘʱʠʪʦʡ. 

¶ ʚʣʘʜʝʪʴ: 

¶ -ʨʘʩʯʝʪʘ ʠ ʚʳʙʦʨʘ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥ ʠ ʪʨʘʥʩʬʦʨʤʘʪʦʨʦʚ ʜʣʷ 

ʨʝʘʣʠʟʘʮʠʠ ʪʝʭʥʦʣʦʛʠʡ ʧʨʦʠʟʚʦʜʩʪʚʘ; 

¶ - ʤʝʪʦʜʘʤʠ ʨʘʩʯʝʪʘ, ʧʨʦʝʢʪʠʨʦʚʘʥʠʷ ʠ ʢʦʥʩʪʨʫʠʨʦʚʘʥʠʷ 

ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʯʝʩʢʦʛʦ ʠ ʵʣʝʢʪʨʦʪʝʭʥʠʯʝʩʢʦʛʦ ʦʙʦʨʫʜʦʚʘʥʠʷ ʠ 

ʩʠʩʪʝʤ;  

¶ -ʤʝʪʦʜʘʤʠ ʘʥʘʣʠʟʘ ʨʝʞʠʤʦʚ ʨʘʙʦʪʳ ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʯʝʩʢʦʛʦ ʠ 

ʵʣʝʢʪʨʦʪʝʭʥʠʯʝʩʢʦʛʦ ʦʙʦʨʫʜʦʚʘʥʠʷ ʠ ʩʠʩʪʝʤ; 

¶ - ʤʝʪʦʜʘʤʠ ʨʘʩʯʝʪʘ ʧʘʨʘʤʝʪʨʦʚ ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʯʝʩʢʠʭ ʫʩʪʨʦʡʩʪʚ ʠ 

ʵʣʝʢʪʨʦʫʩʪʘʥʦʚʦʢ, ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʯʝʩʢʠʭ ʩʝʪʝʡ ʠ ʩʠʩʪʝʤ, ʩʠʩʪʝʤ 

ʵʣʝʢʪʨʦʩʥʘʙʞʝʥʠʷ, ʨʝʣʝʡʥʦʡ ʟʘʱʠʪʳ ʠ ʘʚʪʦʤʘʪʠʢʠ; 

¶ -ʥʘʚʳʢʘʤʠ ʠʩʩʣʝʜʦʚʘʪʝʣʴʩʢʦʡ ʨʘʙʦʪʳ;  

¶ -ʥʘʚʳʢʘʤʠ ʧʨʦʚʝʜʝʥʠʷ ʩʪʘʥʜʘʨʪʥʳʭ ʠʩʧʳʪʘʥʠʡ 

ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʯʝʩʢʦʛʦ ʠ ʵʣʝʢʪʨʦʪʝʭʥʠʯʝʩʢʦʛʦ ʦʙʦʨʫʜʦʚʘʥʠʷ ʠ 

ʩʠʩʪʝʤ. 

¶ ʇʨʠ ʧʦʜʛʦʪʦʚʢʝ, ʥʘʧʠʩʘʥʠʠ ʠ ʟʘʱʠʪʳ ʢʫʨʩʦʚʦʡ ʨʘʙʦʪʳ ʧʦ 

ʜʠʩʮʠʧʣʠʥʝ çʕʣʝʢʪʨʠʯʝʩʢʠʝ ʤʘʰʠʥʳè ʫ ʩʪʫʜʝʥʪʦʚ ʬʦʨʤʠʨʫʶʪʩʷ 

ʩʣʝʜʫʶʱʠʝ ʢʦʤʧʝʪʝʥʮʠʠ: 

¶  - ʇʂ-8 - ʛʦʪʦʚʥʦʩʪʴʶ ʢ ʧʨʦʬʝʩʩʠʦʥʘʣʴʥʦʡ ʵʢʩʧʣʫʘʪʘʮʠʠ ʤʘʰʠʥ ʠ 

ʪʝʭʥʦʣʦʛʠʯʝʩʢʦʛʦ ʦʙʦʨʫʜʦʚʘʥʠʷ ʠ ʵʣʝʢʪʨʦʫʩʪʘʥʦʚʦʢ; 

¶ -ʇʂ-10-ʩʧʦʩʦʙʥʦʩʪʴʶ ʠʩʧʦʣʴʟʦʚʘʪʴ ʩʦʚʨʝʤʝʥʥʳʝ ʤʝʪʦʜʳ ʤʦʥʪʘʞʘ, 

ʥʘʣʘʜʢʠ ʤʘʰʠʥ ʠ ʫʩʪʘʥʦʚʦʢ, ʧʦʜʜʝʨʞʘʥʠʷ ʨʝʞʠʤʦʚ ʨʘʙʦʪʳ 

ʵʣʝʢʪʨʠʬʠʮʠʨʦʚʘʥʥʳʭ ʠ ʘʚʪʦʤʘʪʠʟʠʨʦʚʘʥʥʳʭ ʪʝʭʥʦʣʦʛʠʯʝʩʢʠʭ 

ʧʨʦʮʝʩʩʦʚ, ʥʝʧʦʩʨʝʜʩʪʚʝʥʥʦ ʩʚʷʟʘʥʥʳʭ ʩ ʙʠʦʣʦʛʠʯʝʩʢʠʤʠ ʦʙʲʝʢʪʘʤʠ 

  



 

1 ʊʝʭʥʠʯʝʩʢʦʝ ʟʘʜʘʥʠʝ 

 

ɿʘʜʘʥʠʝ ʥʘ ʢʫʨʩʦʚʦʡ ʧʨʦʝʢʪ ʩʦʜʝʨʞʠʪ ʦʩʥʦʚʥʳʝ ʜʘʥʥʳʝ 

ʧʨʦʝʢʪʠʨʫʝʤʦʡ ʤʘʰʠʥʳ, ʫʢʘʟʘʥʠʷ ʦ ʢʦʥʩʪʨʫʢʪʠʚʥʦʤ ʠʩʧʦʣʥʝʥʠʠ, ʚʠʜʝ 

ʟʘʱʠʪʳ ʦʪ ʦʢʨʫʞʘʶʱʝʡ ʩʨʝʜʳ. ʇʦʤʠʤʦ ʵʪʦʛʦ ʤʦʛʫʪ ʙʳʪʴ ʪʘʢʞʝ ʟʘʜʘʥʳ 

ʜʦʧʦʣʥʠʪʝʣʴʥʳʝ ʪʨʝʙʦʚʘʥʠʷ, ʥʘʧʨʠʤʝʨ, ʥʘʠʤʝʥʴʰʠʝ ʜʦʧʫʩʪʠʤʳʝ ʟʥʘʯʝʥʠʷ 

ʢʨʘʪʥʦʩʪʠ ʧʫʩʢʦʚʦʛʦ ʠ ʤʘʢʩʠʤʘʣʴʥʦʛʦ ʤʦʤʝʥʪʦʚ, ʧʨʝʜʝʣʴʥʳʝ ʟʥʘʯʝʥʠʷ 

ʧʫʩʢʦʚʦʛʦ ʪʦʢʘ ʠ ʪ.ʜ. ɺʘʨʠʘʥʪʳ ʢʫʨʩʦʚʦʛʦ ʧʨʦʝʢʪʘ ʚʳʜʘʶʪʩʷ ʧʨʝʧʦʜʘʚʘʪʝʣʝʤ 

ʚʦ ʚʨʝʤʷ ʧʨʦʚʝʜʝʥʠʷ ʫʩʪʘʥʦʚʦʯʥʳʭ ʣʝʢʮʠʡ. ʆʙʨʘʟʝʮ ʙʣʘʥʢʘ ʟʘʜʘʥʠʷ 

ʧʨʠʚʝʜʝʥ ʚ ʧʨʠʣʦʞʝʥʠʠ 1. 

ɺ ʦʪʥʦʰʝʥʠʠ ʪʨʝʙʦʚʘʥʠʡ, ʥʝʦʛʦʚʦʨʝʥʥʳʭ ʚ ʟʘʜʘʥʠʠ, 

ʩʧʨʦʝʢʪʠʨʦʚʘʥʥʘʷ ʤʘʰʠʥʘ ʜʦʣʞʥʘ ʫʜʦʚʣʝʪʚʦʨʷʪʴ ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʤ 

ɻʆʉʊʘʤ. ʇʨʠ ʨʘʙʦʪʝ ʥʘʜ ʧʨʦʝʢʪʦʤ, ʝʩʣʠ ʥʝʪ ʩʧʝʮʠʘʣʴʥʳʭ ʫʢʘʟʘʥʠʡ 

ʨʫʢʦʚʦʜʠʪʝʣʷ, ʩʣʝʜʫʝʪ ʦʨʠʝʥʪʠʨʦʚʘʪʴʩʷ ʥʘ ʢʦʥʩʪʨʫʢʪʠʚʥʦʝ ʠʩʧʦʣʥʝʥʠʝ, 

ʧʨʠʥʷʪʦʝ ʚ ʤʘʰʠʥʘʭ ʝʜʠʥʦʡ ʩʝʨʠʠ 4ɸ. 

ɿʘʜʘʥʠʝ ʜʣʷ ʦʯʥʦʡ ʬʦʨʤʳ ʦʙʫʯʝʥʠʷ ʚʳʙʠʨʘʝʪʩʷ ʩʦʛʣʘʩʥʦ ʫʪʚʝʨʞʜʝʥʥʦʡ 

ʪʝʤʘʪʠʢʝ ʢʫʨʩʦʚʳʭ ʧʨʦʝʢʪʦʚ. 

ɿʘʜʘʥʠʝ ʜʣʷ ʟʘʦʯʥʦʡ ʬʦʨʤʳ ʦʙʫʯʝʥʠʷ ʚʳʙʠʨʘʝʪʩʷ ʩʦʛʣʘʩʥʦ ʧʦʩʣʝʜʥʝʡ ʮʠʬʨʝ 

ʟʘʯʝʪʥʦʡ ʢʥʠʞʢʠ. 

ɿʘʜʘʥʠʷ ʜʣʷ ʢʫʨʩʦʚʦʛʦ ʧʨʦʝʢʪʘ 

ɺʝʣʠʯʠʥʳ ɺʘʨʠʘʥʪʳ 

0 1 2 3 4 5 6 7 8 9 

ʄʘʩʩʘ ʛʨʫʟʘ, 

ʢʛ*10
3
 

8 7 5 3 10 12 7 4 11 1 

ʉʢʦʨʦʩʪʴ 

ʧʦʜʲʝʤʘ, ʤ/ʩ 

0,1 0,2 0,1 0,3 0,2 0,1 0,1 0,2 0,1 0,5 

ɺʳʩʦʪʘ 

ʧʦʜʲʝʤʘ h, ʤ 

6 5 6 10 6 8 6 4 2 12 

ʂʦʵʬʬʠʮʠʝʥʪ, 

ʫʯʠʪʳʚʘʶʱʠʡ 

ʧʨʦʪʠʚʦʚʝʩ, k 

0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 
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ʂʇɼ 

ʧʦʜʲʝʤʥʠʢʘ, ɖ 

0,8 0,8 0,8 0,8 0,8 0,8 0,8 0,8 0,8 0,8 

ʂʦʵʬʬʠʮʠʝʥʪ 

ʫʚʝʣʠʯʝʥʠʷ 

ʤʦʱʥʦʩʪʠ, KP 

1,5 1,5 1,5 1,5 1,5 1,5 1,5 1,5 1,5 1,5 

ʏʠʩʣʦ 

ʧʦʣʶʩʦʚ 2ʨ 
4 4 6 8 4 4 4 2 6 2 

ɻʘʨʤʦʥʠʢʘ  ɜ 7 7 7 7 7 7 7 7 7 7 

 

2 ʉʦʜʝʨʞʘʥʠʝ ʢʫʨʩʦʚʦʛʦ ʧʨʦʝʢʪʘ 

 

ʂʫʨʩʦʚʦʡ ʧʨʦʝʢʪ ʚʳʧʦʣʥʷʝʪʩʷ ʥʘ ʦʩʥʦʚʘʥʠʠ ʪʝʭʥʠʯʝʩʢʦʛʦ ʟʘʜʘʥʠʷ ʠ 

ʩʦʩʪʦʠʪ ʠʟ ʨʘʟʜʝʣʦʚ, ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʚ ʧʨʠʣʦʞʝʥʠʠ 2, ʛʜʝ ʪʘʢʞʝ ʫʢʘʟʘʥ 

ʧʨʠʤʝʨʥʳʡ ʦʙʲʝʤ ʨʘʙʦʪʳ, ʥʝʦʙʭʦʜʠʤʦʡ ʜʣʷ ʚʳʧʦʣʥʝʥʠʷ ʢʘʞʜʦʛʦ ʨʘʟʜʝʣʘ, ʚ 

ʧʨʦʮʝʥʪʘʭ ʢʦ ʚʩʝʤʫ ʦʙʲʝʤʫ ʧʨʦʝʢʪʘ. ʂ ʟʘʱʠʪʝ ʢʫʨʩʦʚʦʛʦ ʧʨʦʝʢʪʘ ʜʦʣʞʥʳ 

ʙʳʪʴ ʧʨʝʜʩʪʘʚʣʝʥʳ ʯʝʨʪʝʞʠ ʩʧʨʦʝʢʪʠʨʦʚʘʥʥʦʡ ʤʘʰʠʥʳ ʠ ʧʦʷʩʥʠʪʝʣʴʥʘʷ 

ʟʘʧʠʩʢʘ. 

 

3 ʋʯʝʙʥʳʝ ʧʦʩʦʙʠʷ 

 

ʆʩʥʦʚʥʳʤ ʫʯʝʙʥʳʤ ʧʦʩʦʙʠʝʤ ʧʨʠ ʚʳʧʦʣʥʝʥʠʠ ʫʯʝʙʥʳʭ ʧʨʦʝʢʪʦʚ 

ʘʩʠʥʭʨʦʥʥʳʭ ʤʘʰʠʥ ʷʚʣʷʝʪʩʷ ʢʥʠʛʘ çʇʨʦʝʢʪʠʨʦʚʘʥʠʝ ʵʣʝʢʪʨʠʯʝʩʢʠʭ ʤʘʰʠʥè 

[1], ʚ ʢʦʪʦʨʦʡ ʨʘʩʩʤʦʪʨʝʥʘ ʢʦʥʩʪʨʫʢʮʠʷ ʤʘʰʠʥ ʠ ʧʨʠʚʝʜʝʥʘ ʤʝʪʦʜʠʢʘ ʠʭ 

ʨʘʩʯʝʪʘ. ɼʣʷ ʙʦʣʝʝ ʛʣʫʙʦʢʦʡ ʧʨʦʨʘʙʦʪʢʠ ʤʘʪʝʨʠʘʣʘ ʩʣʝʜʫʝʪ ʠʩʧʦʣʴʟʦʚʘʪʴ  

ʪʘʢʞʝ ʠ ʜʨʫʛʫʶ ʩʧʝʮʠʘʣʴʥʫʶ ʣʠʪʝʨʘʪʫʨʫ [2]. 

 

4 ʋʢʘʟʘʥʠʷ ʢ ʚʳʧʦʣʥʝʥʠʶ ʦʪʜʝʣʴʥʳʭ ʨʘʟʜʝʣʦʚ ʧʨʦʝʢʪʘ 

 

4.1 ɺr ʙʦʨ ʵʣʝʢʪʨʦʤʘʛʥʠʪʥʳʭ ʥʘʛʨʫʟʦʢ ʠ ʨʘʩʯʝʪ ʛʣʘʚʥʳʭ 

ʨʘʟʤʝʨʦʚ 

 

ʇʨʝʜʚʘʨʠʪʝʣʴʥʦ ʵʣʝʢʪʨʦʤʘʛʥʠʪʥʳʝ ʥʘʛʨʫʟʢʠ ɸ ʠ ὄ  ʩʣʝʜʫʝʪ ʚʳʙʠʨʘʪʴ 

ʚʧʨʝʜʝʣʘʭ, ʨʝʢʦʤʝʥʜʦʚʘʥʥʳʭ ʚ [1] ʟʥʘʯʝʥʠʡ ʜʣʷ ʟʘʜʘʥʥʦʛʦ ʪʠʧʦʨʘʟʤʝʨʘ ʠ 

ʠʩʧʦʣʥʝʥʠʷ ʜʚʠʛʘʪʝʣʷ. ʊʘʢ ʢʘʢ ʧʨʠ ʧʨʦʝʢʪʠʨʦʚʘʥʠʠ ʜʦʧʫʩʢʘʝʪʩʷ 



ʦʪʥʦʩʠʪʝʣʴʥʦ ʰʠʨʦʢʦʝ ʚʘʨʴʠʨʦʚʘʥʠʝ ʵʪʠʤʠ ʚʝʣʠʯʠʥʘʤʠ, ʪʦ ʧʨʠ ʠʭ ʚʳʙʦʨʝ 

ʥʝʦʙʭʦʜʠʤʦ ʨʫʢʦʚʦʜʩʪʚʦʚʘʪʴʩʷ ʩʣʝʜʫʶʱʠʤ. ɺʳʙʦʨ ʙʦʣʴʰʠʭ (ʧʦ ʚʝʨʭʥʠʤ 

ʧʨʝʜʝʣʘʤ ʜʦʧʫʩʢʘʝʤʳʭ ʦʙʣʘʩʪʝʡ) ʟʥʘʯʝʥʠʡ ɸ ʠ ὄ  ʧʨʠʚʦʜʠʪ ʢ ʫʤʝʥʴʰʝʥʠʶ 

ʛʘʙʘʨʠʪʦʚ ʤʘʰʠʥʳ ʠ ʝʝ ʤʘʩʩʥʳʭ ʧʦʢʘʟʘʪʝʣʝʡ, ʥʦ ʦʜʥʦʚʨʝʤʝʥʥʦ, ʫʚʝʣʠʯʠʚʘʝʪ 

ʥʘʛʨʝʚ ʦʙʤʦʪʢʠ ʠ ʫʭʫʜʰʘʝʪ ʵʥʝʨʛʝʪʠʯʝʩʢʠʝ ʧʦʢʘʟʘʪʝʣʠ ʜʚʠʛʘʪʝʣʷ. ʇʨʠ 

ʥʠʟʢʠʭ ʟʥʘʯʝʥʠʷʭ ɸ ʠ ὄ  ʨʘʟʤʝʨʳ ʤʘʰʠʥʳ ʫʚʝʣʠʯʠʚʘʶʪʩʷ ʠ ʦʙʲʝʤ ʝʝ 

ʘʢʪʠʚʥʦʡ ʯʘʩʪʠ ʠʩʧʦʣʴʟʫʝʪʩʷ ʥʝ ʧʦʣʥʦʩʪʴʶ. 

ɼʣʷ ʧʨʘʚʠʣʴʥʦʛʦ ʚʳʙʦʨʘ ʵʣʝʢʪʨʦʤʘʛʥʠʪʥʳʭ ʥʘʛʨʫʟʦʢ ʩʣʝʜʫʝʪ, ʢʨʦʤʝ 

ʪʦʛʦ, ʫʯʝʩʪʴ, ʯʪʦ ʦʪ ʩʦʦʪʥʦʰʝʥʠʷ ʠʭ ʟʥʘʯʝʥʠʡ ʚ ʟʥʘʯʠʪʝʣʴʥʦʡ ʤʝʨʝ ʟʘʚʠʩʷʪ 

ʦʩʦʙʝʥʥʦʩʪʠ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʜʚʠʛʘʪʝʣʷ, ʦʧʨʝʜʝʣʷʝʤʳʝ ʜʦʧʦʣʥʠʪʝʣʴʥʳʤʠ 

ʪʨʝʙʦʚʘʥʠʷʤʠ ʪʝʭʥʠʯʝʩʢʦʛʦ ʟʘʜʘʥʠʷ ʠʣʠ ʧʨʝʜʧʦʣʘʛʘʝʤʳʤʠ ʫʩʣʦʚʠʷʤʠ 

ʨʘʙʦʪʳ ʧʨʦʝʢʪʠʨʫʝʤʦʡ ʤʘʰʠʥʳ. 

ɺʳʙʨʘʥʥʳʝ ʟʥʘʯʝʥʠʷ ɸ ʠ ὄ  ʦʧʨʝʜʝʣʷʶʪ ʪʦʣʴʢʦ ʥʝʦʙʭʦʜʠʤʳʡ 

çʦʙʲʝʤè ʘʢʪʠʚʥʦʡ ʯʘʩʪʠ ʤʘʰʠʥʳ Ὀὰ ʢʦʪʦʨʳʡ ʤʦʞʝʪ ʙʳʪʴ ʧʦʣʫʯʝʥ ʧʨʠ 

ʨʘʟʣʠʯʥʳʭ ʩʦʦʪʥʦʰʝʥʠʷʭ ʛʣʘʚʥʳʭ ʨʘʟʤʝʨʦʚ. 

ʇʦʵʪʦʤʫ ʚ ʥʘʯʘʣʝ ʧʨʦʝʢʪʠʨʦʚʘʥʠʷ ʨʘʩʩʯʠʪʳʚʘʶʪ ʥʝʩʢʦʣʴʢʦ ʚʘʨʠʘʥʪʦʚ 

ʟʥʘʯʝʥʠʡ D ʠ ὰ, ʩʚʷʟʘʥʥʳʭ ʤʝʞʜʫ ʩʦʙʦʡ ʚʝʣʠʯʠʥʦʡ ʤʘʰʠʥʥʦʡ ʧʦʩʪʦʷʥʥʦʡ. 

ʇʦʩʣʝ ʘʥʘʣʠʟʘ ʧʨʠʥʠʤʘʶʪ ʥʘʠʙʦʣʝʝ ʫʜʘʯʥʳʡ ʠʟ ʥʠʭ. ʪ. ʝ. ʪʝ ʟʥʘʯʝʥʠʷ D ʠ ὰ, 

ʢʦʪʦʨʳʝ ʥʘʠʣʫʯʰʠʤ ʦʙʨʘʟʦʤ ʫʜʦʚʣʝʪʚʦʨʷʶʪ ʫʩʣʦʚʠʷʤ, ʧʨʠʚʝʜʝʥʥʳʤ ʚ 

ʨʘʩʯʝʪʥʦʡ ʤʝʪʦʜʠʢʝ. ʇʨʠ ʵʪʦʤ ʟʥʘʯʝʥʠʝ ʥʘʨʫʞʥʦʛʦ ʜʠʘʤʝʪʨʘ ʩʝʨʜʝʯʥʠʢʘ 

ʩʪʘʪʦʨʘ D2 ʜʦʣʞʥʦ ʙʳʪʴ ʫʚʷʟʘʥʦ ʩ ʚʳʩʦʪʦʡ ʦʩʠ ʚʨʘʱʝʥʠʷ h, ʢʦʪʦʨʘʷ ʤʦʞʝʪ 

ʙʳʪʴ ʚʟʷʪʘ ʪʦʣʴʢʦ ʠʟ ʩʪʘʥʜʘʨʪʥʦʛʦ ʨʷʜʘ ʚʳʩʦʪ ʦʩʝʡ ʚʨʘʱʝʥʠʷ [1,2]. 

ʇʨʠ ʚʳʧʦʣʥʝʥʠʠ ʵʪʦʛʦ ʨʘʟʜʝʣʘ ʧʨʦʝʢʪʘ ʩʣʝʜʫʝʪ ʠʤʝʪʴ ʚ ʚʠʜʫ, ʯʪʦ 

ʜʘʣʴʥʝʡʰʠʡ ʨʘʩʯʝʪ ʤʦʞʝʪ ʧʦʢʘʟʘʪʴ ʮʝʣʝʩʦʦʙʨʘʟʥʦʩʪʴ ʥʝʢʦʪʦʨʦʛʦ ʠʟʤʝʥʝʥʠʷ 

ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ ʚʳʙʨʘʥʥʳʭ ʛʣʘʚʥʳʭ ʨʘʟʤʝʨʦʚ ʜʚʠʛʘʪʝʣʷ. 

 

4.2 ʕʣʝʢʪʨʦʤʘʛʥʠʪʥʳʡ ʨʘʩʯʝʪ 

 

4.2.1 ʈʘʩʯʝʪ ʩʪʘʪʦʨʘ 

 

ʆʩʥʦʚʥʦʡ ʟʘʜʘʯʝʡ ʥʘʩʪʦʷʱʝʛʦ ʨʘʟʜʝʣʘ ʷʚʣʷʝʪʩʷ ʨʘʩʯʝʪ, ʯʠʩʣʘ ʚʠʪʢʦʚ 

ʬʘʟʳ ʦʙʤʦʪʢʠ, ʨʘʩʧʨʝʜʝʣʝʥʠʝ ʝʝ ʚ ʧʘʟʘʭ ʠ ʨʘʩʯʝʪ ʠʥʜʫʢʮʠʠ ʥʘ ʫʯʘʩʪʢʘʭ 
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ʤʘʛʥʠʪʦʧʨʦʚʦʜʘ ʩʪʘʪʦʨʘ. ʇʨʝʜʚʘʨʠʪʝʣʴʥʦ ʜʦʣʞʝʥ ʙʳʪʴ ʨʝʰʝʥ ʚʦʧʨʦʩ ʦ ʪʠʧʝ 

ʦʙʤʦʪʢʠ (ʚʩʳʧʥʘʷ. ʧʦʣʫʞʝʩʪʢʘʷ, ʞʝʩʪʢʘʷ), ʢʦʪʦʨʘʷ, ʚ ʩʚʦʶ ʦʯʝʨʝʜʴ, 

ʦʧʨʝʜʝʣʷʝʪ ʬʦʨʤʫ ʧʘʟʘ (ʧʦʣʫʟʘʢʨʳʪʳʡ, ʧʦʣʫʦʪʢʨʳʪʳʡ ʠʣʠ ʦʪʢʨʳʪʳʡ). ɼʘʣʝʝ 

ʟʘʜʘʶʪʩʷ ʚʝʣʠʯʠʥʦʡ ʟʫʙʮʦʚʦʛʦ ʜʝʣʝʥʠʷ ʩʪʘʪʦʨʘ [1] ʠ ʦʧʨʝʜʝʣʷʶʪ ʯʠʩʣʦ ʧʘʟʦʚ 

Ὀ ʧʨʠ ʵʪʦʤ ʯʠʩʣʦ ʧʘʟʦʚ ʥʘ ʧʦʣʶʩ ʠ ʬʘʟʫ q ʜʦʣʞʥʦ ʙʳʪʴ ʮʝʣʳʤ, ʪʘʢ ʢʘʢ ʚ 

ʘʩʠʥʭʨʦʥʥʳʭ ʜʚʠʛʘʪʝʣʷʭ ʜʨʦʙʥʦʝ ʯʠʩʣʦ q ʦʙʳʯʥʦ ʥʝ ʧʨʠʤʝʥʷʶʪ. 

ʏʠʩʣʦ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʚ ʧʘʟʫ ό̐ ʮʝʣʝʩʦʦʙʨʘʟʥʦ ʦʧʨʝʜʝʣʠʪʴ 

ʧʦ ʧʨʠʥʷʪʦʡ ʨʘʥʝʝ ʚʝʣʠʯʠʥʝ ʣʠʥʝʡʥʦʡ ʥʘʛʨʫʟʢʠ. ʇʦʣʫʯʝʥʥʦʝ ʟʥʘʯʝʥʠʝ ό̐  

ʦʢʨʫʛʣʷʝʪʩʷ ʚ ʟʘʚʠʩʠʤʦʩʪʠ ʦʪ ʦʩʦʙʝʥʥʦʩʪʝʡ ʧʨʠʥʷʪʦʛʦ ʪʠʧʘ ʦʙʤʦʪʢʠ. ʇʦʩʣʝ 

ʵʪʦʛʦ ʥʝʦʙʭʦʜʠʤʦ ʨʘʩʩʯʠʪʘʪʴ ʯʠʩʣʦ ʚʠʪʢʦʚ ʚ ʬʘʟʝ, ʚʝʣʠʯʠʥʳ ʣʠʥʝʡʥʦʡ 

ʥʘʛʨʫʟʢʠ, ʧʦʪʦʢʘ ʠ ʠʥʜʫʢʮʠʠ ʚ ʚʦʟʜʫʰʥʦʤ ʟʘʟʦʨʝ. 

ɺʥʦʚʴ ʧʦʣʫʯʝʥʥʳʝ ʚʝʣʠʯʠʥʳ ὄ  ʠ ɸ ʤʦʛʫʪ ʥʝʩʢʦʣʴʢʦ ʦʪʣʠʯʘʪʴʩʷ ʦʪ 

ʧʨʠʥʷʪʳʭ ʚ ʥʘʯʘʣʝ ʨʘʩʯʝʪʘ, ʥʦ ʥʝ ʜʦʣʞʥʳ ʚʳʭʦʜʠʪʴ ʟʘ ʧʨʝʜʝʣʳ ʜʦʧʫʩʪʠʤʳʭ 

ʟʥʘʯʝʥʠʡ. ʇʨʠ ʙʦʣʴʰʠʭ ʨʘʩʭʦʞʜʝʥʠʷʭ ʩʣʝʜʫʝʪ ʧʨʦʚʝʨʠʪʴ ʧʨʘʚʠʣʴʥʦʩʪʴ 

ʧʨʦʚʝʜʝʥʥʳʭ ʚʳʯʠʩʣʝʥʠʠ. ɺʝʩʴ ʜʘʣʴʥʝʡʰʠʡ ʨʘʩʯʝʪ ʧʨʦʚʦʜʠʪʩʷ ʥʘ ʦʩʥʦʚʘʥʠʠ 

ʧʦʣʫʯʝʥʥʳʭ ʚ ʵʪʦʤ ʨʘʟʜʝʣʝ ʟʥʘʯʝʥʠʡ ɸ ʠ  ὄ  ʥʝ ʨʘʥʝʝ ʧʨʠʥʷʪʳʭ ʠʭ ʚʝʣʠʯʠʥ. 

ʇʝʨʝʭʦʜʷ ʢ ʨʘʩʯʝʪʫ ʨʘʟʤʝʨʦʚ ʟʫʙʮʦʚ ʠ ʧʘʟʦʚ ʩʪʘʪʦʨʘ, ʩʣʝʜʫʝʪ ʠʤʝʪʴ ʚ 

ʚʠʜʫ, ʯʪʦ ʚ ʩʪʘʪʦʨʘʭ, ʠʤʝʶʱʠʭ ʚʩʳʧʥʫʶ ʦʙʤʦʪʢʫ ʠʟ ʢʨʫʛʣʦʛʦ ʧʨʦʚʦʜʘ, ʢʘʢ 

ʧʨʘʚʠʣʦ, ʧʨʠʤʝʥʷʶʪ ʪʨʘʧʝʮʝʠʜʘʣʴʥʳʝ ʠʣʠ ʛʨʫʰʝʚʠʜʥʳʝ ʧʘʟʳ, ʧʨʠʯʝʤ ʠʭ 

ʨʘʟʤʝʨʳ ʜʦʣʞʥʳ ʙʳʪʴ ʪʘʢʠʤʠ, ʯʪʦʙʳ ʟʫʙʮʳ ʠʤʝʣʠ ʧʘʨʘʣʣʝʣʴʥʳʝ ʩʪʝʥʢʠ. 

ʅʘʠʙʦʣʝʝ ʧʨʦʩʪʳʤ ʩʧʦʩʦʙʦʤ ʦʧʨʝʜʝʣʝʥʠʷ ʨʘʟʤʝʨʦʚ ʧʘʟʘ, ʫʜʦʚʣʝʪʚʦʨʷʶʱʠʭ 

ʵʪʦʤʫ ʫʩʣʦʚʠʶ, ʷʚʣʷʝʪʩʷ ʩʣʝʜʫʶʱʠʡ. ʅʘ ʚʳʯʝʨʯʝʥʥʦʤ ʚ ʤʘʩʰʪʘʙʝ ʟʫʙʮʦʚʦʤ 

ʜʝʣʝʥʠʠ ʣʠʩʪʘ ʩʪʘʪʦʨʘ ʦʪʤʝʯʘʶʪʩʷ ʟʦʥʳ ʟʫʙʮʦʚ ʠ ʩʧʠʥʢʠ, ʨʘʟʤʝʨʳ ʢʦʪʦʨʳʭ 

ʦʧʨʝʜʝʣʷʶʪʩʷ ʜʦʧʫʩʪʠʤʳʤ ʫʨʦʚʥʝʤ ʠʥʜʫʢʮʠʠ ʚ ʥʠʭ. ɺ ʦʩʪʘʚʰʝʡʩʷ 

ʩʚʦʙʦʜʥʦʡ ʦʙʣʘʩʪʠ ʧʘʟʦʚʦʛʦ ʜʝʣʝʥʠʷ ʨʘʟʤʝʱʘʝʪʩʷ ʧʘʟ. 

ʇʨʠ ʚʳʙʦʨʝ ʤʘʪʝʨʠʘʣʦʚ ʠ ʢʦʥʩʪʨʫʢʮʠʠ ʠʟʦʣʷʮʠʠ ʦʙʤʦʪʢʠ ʥʝʦʙʭʦʜʠʤʦ 

ʨʫʢʦʚʦʜʩʪʚʦʚʘʪʴʩʷ ʜʘʥʥʳʤʠ, ʧʨʠʚʝʜʝʥʥʳʤʠ ʚ [1]. 

ʆʢʦʥʯʘʪʝʣʴʥʳʝ ʨʘʟʤʝʨʳ ʧʘʟʦʚ ʠ ʟʫʙʮʦʚ ʩʪʘʪʦʨʘ ʚ ʰʪʘʤʧʝ ʦʧʨʝʜʝʣʷʶʪʩʷ 

ʧʦʩʣʝ ʚʳʙʦʨʘ ʨʘʟʤʝʨʦʚ ʦʙʤʦʪʦʯʥʦʛʦ ʧʨʦʚʦʜʘ, ʨʘʩʯʝʪʘ ʢʦʵʬʬʠʮʠʝʥʪʘ 



ʟʘʧʦʣʥʝʥʠʷ ʧʘʟʘ ʠ ʠʥʜʫʢʮʠʡ ʚ ʩʧʠʥʢʝ ʠ ʚ ʟʫʙʮʘʭ ʩʪʘʪʦʨʘ ʩ ʫʯʝʪʦʤ ʧʨʠʧʫʩʢʘ 

ʧʘ ʰʪʘʤʧʦʚʢʫ ʣʠʩʪʦʚ ʠ ʰʠʭʪʦʚʢʫ ʩʝʨʜʝʯʥʠʢʘ. 

4.2.2 ɺʦʟʜʫʰʥʳʡ ʟʘʟʦʨ 

 

ʄʘʛʥʠʪʦʜʚʠʞʫʱʘʷ ʩʠʣʘ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ ʚ ʦʩʥʦʚʥʦʤ ʦʧʨʝʜʝʣʷʝʪ 

ʧʦʣʥʫʶ ʄɼʉ ʤʘʰʠʥʳ, ʧʦʵʪʦʤʫ ʫʚʝʣʠʯʝʥʠʝ ʟʘʟʦʨʘ ʧʨʠʚʦʜʠʪ ʢ ʚʦʟʨʘʩʪʘʥʠʶ 

ʥʘʤʘʛʥʠʯʠʚʘʶʱʝʛʦ ʪʦʢʘ ʠ ʩʥʠʞʝʥʠʶ cosű. ʆʜʥʘʢʦ ʯʨʝʟʤʝʨʥʦʝ ʫʤʝʥʴʰʝʥʠʝ 

ʟʘʟʦʨʘ ʚʳʟʳʚʘʝʪ ʨʝʟʢʦʝ ʚʦʟʨʘʩʪʘʥʠʝ ʧʦʚʝʨʭʥʦʩʪʥʳʭ ʠ ʧʫʣʴʩʘʮʠʦʥʥʳʭ ʧʦʪʝʨʴ, 

ʢʦʪʦʨʦʝ ʤʦʞʝʪ ʧʨʠʚʝʩʪʠ ʢ ʫʭʫʜʰʝʥʠʶ ʢ.ʧ.ʜ. ʜʚʠʛʘʪʝʣʷ. ʇʦʵʪʦʤʫ ʚʝʣʠʯʠʥʫ 

ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ ʩʣʝʜʫʝʪ ʚʳʙʠʨʘʪʴ, ʦʨʠʝʥʪʠʨʫʷʩʴ ʥʘ ʟʘʚʦʜʩʢʠʝ ʠʩʧʦʣʥʝʥʠʷ 

ʘʥʘʣʦʛʠʯʥʳʭ ʧʦ ʪʠʧʫ ʠ ʤʦʱʥʦʩʪʠ ʘʩʠʥʭʨʦʥʥʳʭ ʜʚʠʛʘʪʝʣʝʡ ʥʦʚʳʭ ʩʝʨʠʡ [1, 

2]. 

 

4.2.3 ʈʘʩʯʝʪ ʨʦʪʦʨʘ 

 

ʇʨʠ ʨʘʩʯʝʪʝ ʢʦʨʦʪʢʦʟʘʤʢʥʫʪʦʛʦ ʨʦʪʦʨʘ ʚʥʘʯʘʣʝ ʚʳʙʠʨʘʝʪʩʷ ʯʠʩʣʦ 

ʧʘʟʦʚ ʨʦʪʦʨʘ ʚ ʩʦʦʪʚʝʪʩʪʚʠʠ ʩ ʨʝʢʦʤʝʥʜʘʮʠʷʤʠ ʦ ʜʦʧʫʩʪʠʤʳʭ ʩʦʦʪʥʦʰʝʥʠʷʭ 

Z1 ʠ Z2. ɼʘʣʝʝ ʩʣʝʜʫʝʪ ʧʨʠʥʮʠʧʠʘʣʴʥʦ ʨʝʰʠʪʴ ʚʦʧʨʦʩ ʦ ʬʦʨʤʝ ʧʘʟʘ ʨʦʪʦʨʘ ʩ 

ʫʯʝʪʦʤ ʤʦʱʥʦʩʪʠ ʤʘʰʠʥʳ ʠ ʪʨʝʙʦʚʘʥʠʡ ʢ ʧʫʩʢʦʚʳʤ ʭʘʨʘʢʪʝʨʠʩʪʠʢʘʤ. ʇʦʩʣʝ 

ʵʪʦʛʦ ʨʘʩʩʯʠʪʳʚʘʶʪʩʷ ʧʣʦʱʘʜʠ ʩʝʯʝʥʠʷ ʩʪʝʨʞʥʝʡ ʠ ʢ.ʟ. ʢʦʣʝʮ, ʨʘʟʤʝʨʳ ʧʘʟʦʚ 

ʠ ʟʫʙʮʦʚ ʠ ʦʧʨʝʜʝʣʷʶʪʩʷ ʠʥʜʫʢʮʠʠ ʚ ʟʫʙʮʘʭ ʠ ʷʨʤʝ ʨʦʪʦʨʘ. 

ʇʨʠ ʨʘʩʯʝʪʝ ʬʘʟʥʦʛʦ ʨʦʪʦʨʘ ʯʠʩʣʦ ʚʠʪʢʦʚ ʝʛʦ ʦʙʤʦʪʢʠ ʦʧʨʝʜʝʣʷʝʪʩʷ 

ʧʦ ʧʨʠʥʷʪʦʤʫ ʟʥʘʯʝʥʠʶ ʵ.ʜ.ʩ. E2 ʥʘ ʝʝ ʚʳʚʦʜʘʭ (ʥʘ ʢʦʥʪʘʢʪʥʳʭ ʢʦʣʴʮʘʭ). 

ɺʝʣʠʯʠʥʘ ɽ2 ʨʝʛʣʘʤʝʥʪʠʨʦʚʘʥʘ ʚ ʟʘʚʠʩʠʤʦʩʪʠ ʦʪ ʤʦʱʥʦʩʪʠ ʠ ʫʩʣʦʚʠʡ ʨʘʙʦʪʳ 

ʜʚʠʛʘʪʝʣʷ. ɼʣʠ ʦʙʝʩʧʝʯʝʥʠʷ ʥʘʜʝʞʥʦʡ ʨʘʙʦʪʳ ʦʥʘ ʥʝ ʜʦʣʞʥʘ ʧʨʝʚʳʰʘʪʴ 

ʫʩʪʘʥʦʚʣʝʥʥʳʭ ʧʨʝʜʝʣʦʚ. ʅʘʠʤʝʥʴʰʝʝ ʟʥʘʯʝʥʠʝ E2 ʧʨʠ ʜʚʫʭʩʣʦʡʥʦʡ ʦʙʤʦʪʢʝ 

ʥʘ ʨʦʪʦʨʝ ʜʦʩʪʠʛʘʝʪʩʷ ʧʨʠ ʜʚʫʭ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʘʭ ʚ ʧʘʟʫ. ɺ ʵʪʦʤ 

ʩʣʫʯʘʝ ʚʳʧʦʣʥʷʝʪʩʷ ʩʪʝʨʞʥʝʚʘʷ ʚʦʣʥʦʚʘʷ ʦʙʤʦʪʢʘ, ʚ ʢʦʪʦʨʦʡ, ʚ ʦʪʣʠʯʠʝ ʦʪ 

ʧʝʪʣʝʚʦʡ, ʜʣʷ ʤʘʰʠʥ ʩ 2ʨ>2 ʩʫʱʝʩʪʚʝʥʥʦ ʫʤʝʥʴʰʘʝʪʩʷ ʢʦʣʠʯʝʩʪʚʦ 

ʤʝʞʛʨʫʧʧʦʚʳʭ ʩʦʝʜʠʥʝʥʠʡ. 
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ʈʘʩʯʝʪ ʠʥʜʫʢʮʠʠ ʚ ʟʫʙʮʘʭ ʨʦʪʦʨʘ ʚ ʥʝʢʦʪʦʨʳʭ ʩʣʫʯʘʷʭ ʧʦʢʘʟʳʚʘʝʪ, 

ʯʪʦ ʤʘʢʩʠʤʘʣʴʥʘʷ ʠʥʜʫʢʮʠʷ ʚ ʥʠʭ ʧʨʝʚʳʰʘʝʪ ʨʝʢʦʤʝʥʜʦʚʘʥʥʳʡ ʤʝʪʦʜʠʢʘʤʠ 

ʧʨʝʜʝʣ. ɹʦʣʴʰʝʡ ʯʘʩʪʴʶ ʵʪʦ ʷʚʣʷʝʪʩʷ ʩʣʝʜʩʪʚʠʝʤ ʥʝʫʜʘʯʥʦ ʚʳʙʨʘʥʥʳʭ 

ʨʘʟʤʝʨʥʳʭ ʩʦʦʪʥʦʰʝʥʠʡ ʧʘʟʦʚ, ʦʩʦʙʝʥʥʦ ʧʨʠ ʧʨʠʤʝʥʝʥʠʠ ʬʠʛʫʨʥʳʭ ʧʘʟʦʚ 

(ʣʦʧʘʪʦʯʥʳʭ, ʪʨʘʧʝʮʝʠʜʘʣʴʥʳʭ ʠ ʪ. ʜ.), ʠʣʠ ʯʨʝʟʤʝʨʥʦ ʛʣʫʙʦʢʠʭ 

ʧʨʷʤʦʫʛʦʣʴʥʳʭ (ʠ ʚ ʢʦʨʦʪʢʦʟʘʤʢʥʫʪʳʭ ʠ ʚ ʬʘʟʥʳʭ ʨʦʪʦʨʘʭ). 

ɺ ʵʪʠʭ ʩʣʫʯʘʷʭ ʥʫʞʥʦ ʧʨʦʚʝʨʠʪʴ ʧʨʘʚʠʣʴʥʦʩʪʴ ʚʳʙʦʨʘ ʧʣʦʪʥʦʩʪʠ ʪʦʢʘ 

ʠ ʨʘʩʯʝʪʘ ʩʝʯʝʥʠʷ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ ʠ, ʝʩʣʠ ʦʰʠʙʢʘ ʥʝ ʦʙʥʘʨʫʞʝʥʘ, ʪʦ 

ʠʟʤʝʥʠʪʴ ʩʦʦʪʥʦʰʝʥʠʝ ʨʘʟʤʝʨʦʚ ʧʘʟʘ ʪʘʢʠʤ ʦʙʨʘʟʦʤ, ʯʪʦʙʳ ʤʠʥʠʤʘʣʴʥʘʷ 

ʰʠʨʠʥʘ ʟʫʙʮʘ ʚʦʟʨʦʩʣʘ. ʇʦʧʳʪʢʘ ʫʤʝʥʴʰʠʪʴ ʠʥʜʫʢʮʠʶ ʚ ʟʫʙʮʘʭ ʨʦʪʦʨʘ 

ʧʫʪʝʤ ʫʤʝʥʴʰʝʥʠʷ ʯʠʩʣʘ ʝʛʦ ʧʘʟʦʚ ʧʨʘʢʪʠʯʝʩʢʠ ʥʝ ʜʘʝʪ ʵʬʬʝʢʪʘ, ʦʩʦʙʝʥʥʦ ʚ 

ʢʦʨʦʪʢʦʟʘʤʢʥʫʪʳʭ ʨʦʪʦʨʘʭ. 

ɽʩʣʠ ʧʨʠ ʟʘʜʘʥʥʦʤ ʜʠʘʤʝʪʨʝ ʨʦʪʦʨʘ ʥʝ ʫʜʘʝʪʩʷ ʩʧʨʦʝʢʪʠʨʦʚʘʪʴ ʝʛʦ 

ʟʫʙʮʦʚʫʶ ʟʦʥʫ, ʥʝ ʧʨʝʚʳʰʘʷ ʜʦʧʫʩʪʠʤʳʭ ʟʥʘʯʝʥʠʡ ʠʥʜʫʢʮʠʠ ʠʣʠ ʧʣʦʪʥʦʩʪʠ 

ʪʦʢʘ ʚ ʦʙʤʦʪʢʝ, ʪʦ ʩʣʝʜʫʝʪ ʫʚʝʣʠʯʠʪʴ ʛʣʘʚʥʳʝ ʨʘʟʤʝʨʳ ʜʚʠʛʘʪʝʣʷ, ʯʪʦ ʚ 

ʥʝʢʦʪʦʨʳʭ ʩʣʫʯʘʷʭ ʪʨʝʙʫʝʪ ʧʝʨʝʭʦʜʘ ʥʘ ʙʦʣʴʰʫʶ ʚʳʩʦʪʫ ʦʩʠ ʚʨʘʱʝʥʠʷ. 

ɺ ʜʚʠʛʘʪʝʣʷʭ, ʩʝʨʜʝʯʥʠʢʠ ʨʦʪʦʨʦʚ ʢʦʪʦʨʳʭ ʥʘʩʘʞʝʥʳ 

ʥʝʧʦʩʨʝʜʩʪʚʝʥʥʦ ʥʘ ʚʘʣ, ʯʘʩʪʦ ʧʦʩʣʝ ʨʘʩʯʝʪʘ ʟʫʙʮʦʚʦʡ ʟʦʥʳ ʚʳʷʩʥʷʝʪʩʷ, ʯʪʦ 

ʠʥʜʫʢʮʠʷ ʚ ʷʨʤʝ ʨʦʪʦʨʘ ʩʫʱʝʩʪʚʝʥʥʦ ʥʠʞʝ ʜʦʧʫʩʪʠʤʳʭ ʟʥʘʯʝʥʠʡ. ɽʩʣʠ ʧʨʠ 

ʵʪʦʤ ʥʘ ʜʨʫʛʠʭ ʫʯʘʩʪʢʘʭ ʤʘʛʥʠʪʦʧʨʦʚʦʜʘ ʠʥʜʫʢʮʠʷ ʩʦʦʪʚʝʪʩʪʚʫʝʪ ʥʦʨʤʘʤ, ʪʦ 

ʧʨʠʥʠʤʘʪʴ ʢʘʢʠʝ-ʣʠʙʦ ʠʩʢʫʩʩʪʚʝʥʥʳʝ ʤʝʨʳ ʜʣʷ ʧʦʚʳʰʝʥʠʷ ʠʥʜʫʢʮʠʠ ʚ ʷʨʤʝ 

ʨʦʪʦʨʘ (ʫʩʪʘʥʦʚʢʘ ʚʪʫʣʢʠ ʥʘ ʚʘʣʫ ʠ ʪ. ʧ.) ʥʝ ʩʣʝʜʫʝʪ. ɺʩʝ ʦʥʠ ʧʨʠʚʦʜʷʪ ʢ 

ʫʩʣʦʞʥʝʥʠʶ ʢʦʥʩʪʨʫʢʮʠʠ ʠ ʪʝʭʥʦʣʦʛʠʠ ʧʨʦʠʟʚʦʜʩʪʚʘ ʜʚʠʛʘʪʝʣʷ. 

 

4.2.4 ʈʘʩʯʝʪ ʧʘʨʘʤʝʪʨʦʚ ʩʭʝʤʳ ʟʘʤʝʱʝʥʠʷ ʠ ʭʘʨʘʢʪʝʨʠʩʪʠʢ 

ʜʚʠʛʘʪʝʣʷ 

 

ʇʘʨʘʤʝʪʨʳ ʩʭʝʤʳ ʟʘʤʝʱʝʥʠʷ ʨʘʩʩʯʠʪʳʚʘʶʪʩʷ ʜʣʷ ʥʦʤʠʥʘʣʴʥʦʛʦ 

ʨʝʞʠʤʘ ʜʚʠʛʘʪʝʣʷ. ʀʭ ʟʥʘʯʝʥʠʷ ʧʨʠʥʠʤʘʶʪ ʧʦʩʪʦʷʥʥʳʤʠ ʧʨʠ ʠʟʤʝʥʝʥʠʠ 

ʥʘʛʨʫʟʢʠ ʜʚʠʛʘʪʝʣʷ ʦʪ ʭʦʣʦʩʪʦʛʦ ʭʦʜʘ ʜʦ ʥʦʤʠʥʘʣʴʥʦʡ. ʇʨʠ ʩʢʦʣʴʞʝʥʠʷʭ 



ʙʦʣʴʰʝ ʥʦʤʠʥʘʣʴʥʦʛʦ ʩʣʝʜʫʝʪ ʫʯʝʩʪʴ ʚʦʟʤʦʞʥʳʝ ʠʟʤʝʥʝʥʠʷ ʚʝʣʠʯʠʥ ʨʷʜʘ 

ʧʘʨʘʤʝʪʨʦʚ, ʚʳʟʚʘʥʥʳʭ ʵʬʬʝʢʪʦʤ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʚ ʩʪʝʨʞʥʷʭ ʦʙʤʦʪʢʠ 

ʨʦʪʦʨʘ ʠ ʥʘʩʳʱʝʥʠʝʤ ʟʫʙʮʦʚʦʡ ʟʦʥʳ ʧʦʪʦʢʘʤʠ ʨʘʩʩʝʷʥʠʷ. 

ʆʧʨʝʜʝʣʝʥʠʝʤ ʧʘʨʘʤʝʪʨʦʚ ʩʭʝʤʳ ʟʘʤʝʱʝʥʠʷ ʜʣʷ ʥʦʤʠʥʘʣʴʥʦʛʦ 

ʨʝʞʠʤʘ ʟʘʚʝʨʰʘʝʪʩʷ ʦʩʥʦʚʥʘʷ ʯʘʩʪʴ ʵʣʝʢʪʨʦʤʘʛʥʠʪʥʦʛʦ ʨʘʩʯʝʪʘ. ʇʦ ʠʭ 

ʟʥʘʯʝʥʠʷʤ, ʚʳʨʘʞʝʥʥʳʤ ʚ ʦʪʥʦʩʠʪʝʣʴʥʳʭ ʝʜʠʥʠʮʘʭ, ʤʦʞʥʦ ʩʫʜʠʪʴ ʦ 

ʧʨʘʚʠʣʴʥʦʩʪʠ ʚʳʙʨʘʥʥʳʭ ʨʘʟʤʝʨʥʳʭ ʩʦʦʪʥʦʰʝʥʠʡ ʚ ʤʘʰʠʥʝ ʠ ʝʝ 

ʦʙʤʦʪʦʯʥʳʭ ʜʘʥʥʳʭ. 

ʈʝʟʫʣʴʪʘʪʳ ʨʘʩʯʝʪʘ ʧʘʨʘʤʝʪʨʦʚ ʩʭʝʤʳ ʟʘʤʝʱʝʥʠʷ ʜʦʣʞʥʳ ʙʳʪʴ 

ʦʙʷʟʘʪʝʣʴʥʦ ʦʙʩʫʞʜʝʥʳ ʩ ʨʫʢʦʚʦʜʠʪʝʣʷʤʠ ʧʨʦʝʢʪʘ, ʧʦʩʣʝ ʯʝʛʦ ʤʦʞʥʦ 

ʧʝʨʝʡʪʠ ʢ ʨʘʩʯʝʪʫ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʜʚʠʛʘʪʝʣʷ. 

 

4.2.5 ʈʘʩʯʝʪ ʨʘʙʦʯʠʭ ʠ ʧʫʩʢʦʚʳʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʧʨʦʚʦʜʠʪʩʷ ʧʦ 

ʚʝʣʠʯʠʥʘʤ ʧʘʨʘʤʝʪʨʦʚ ʜʣʷ ʥʦʤʠʥʘʣʴʥʦʛʦ ʨʝʞʠʤʘ 

 

ʈʘʩʯʝʪ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʧʨʦʚʦʜʠʪʩʷ ʘʥʘʣʠʪʠʯʝʩʢʠʤ ʤʝʪʦʜʦʤ. ʇʨʠ 

ʧʦʩʪʦʷʥʩʪʚʝ ʧʘʨʘʤʝʪʨʦʚ ʧʦ ʩʦʛʣʘʩʦʚʘʥʠʶ, ʩ ʨʫʢʦʚʦʜʠʪʝʣʝʤ ʤʦʞʥʦ 

ʠʩʧʦʣʴʟʦʚʘʪʴ ʤʝʪʦʜ ʨʘʩʯʝʪʘ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʧʦ ʢʨʫʛʦʚʦʡ ʜʠʘʛʨʘʤʤʝ, ʢʦʪʦʨʘʷ ʚ 

ʵʪʦʤ ʩʣʫʯʘʝ ʜʦʣʞʥʘ ʙʳʪʴ ʧʦʩʪʨʦʝʥʘ ʥʘ ʣʠʩʪʝ ʤʠʣʣʠʤʝʪʨʦʚʦʡ ʙʫʤʘʛʠ ʚ 

ʜʦʩʪʘʪʦʯʥʦ ʢʨʫʧʥʦʤ ʤʘʩʰʪʘʙʝ. 

ɼʣʷ ʨʘʩʯʝʪʘ ʧʫʩʢʦʚʳʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʩʣʝʜʫʝʪ ʟʘʜʘʪʴʩʷ ʥʝʩʢʦʣʴʢʠʤʠ 

 

5 ʇʨʠʤʝʨ ʨʘʩʯʝʪʘ 

 

ɺʳʙʦʨ ʜʚʠʛʘʪʝʣʷ ʧʦ ʥʦʤʠʥʘʣʴʥʦʡ ʤʦʱʥʦʩʪʠ 

 

ɼʣʷ ʨʘʩʯʝʪʘ ʤʦʱʥʦʩʪʠ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ ʜʣʷ ʧʦʜʲʝʤʘ ʛʨʫʟʘ 

ʩʣʝʜʫʝʪ ʧʦʣʴʟʦʚʘʪʴʩʷ ʬʦʨʤʫʣʦʡ: 

P=kmgvĀ0,001/n,                                                (1) 

ʛʜʝ k- ʢʦʵʬʠʮʠʝʥʪ, ʫʯʠʪʳʚʘʶʱʠʡ ʜʝʡʩʪʚʠʝ ʧʨʦʪʠʚʦʚʝʩʘ; 
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m- ʤʘʩʩʘ ʛʨʫʟʘ, ʢʛ; 

g- ʫʩʢʦʨʝʥʠʝ ʩʚʦʙʦʜʥʦʛʦ ʧʘʜʝʥʠʷ; 

v- ʩʢʦʨʦʩʪʴ ʧʦʜʲʝʤʘ ʛʨʫʟʘ, ʤ/ʩ; 

n- ʂʇɼ ʧʦʜʲʝʤʥʠʢʘ. 

 

ʄʘʩʩʘ ʛʨʫʟʘéééééééééééééééééééééé36734 

ʂʦʵʬʠʮʠʝʥʪ, ʫʯʠʪʳʚʘʶʱʠʡ ʜʝʡʩʪʚʠʝ ʧʨʦʪʠʚʦʚʝʩʘéééééé...0,5 

ʉʢʦʨʦʩʪʴ ʧʦʜʲʝʤʘ ʛʨʫʟʘéééééééééééééééééé0,1 

ʂʇɼ ʧʦʜʲʝʤʥʠʢʘééééééééééééééééééééé0,8 

ʂʦʵʬʠʮʠʝʥʪ ʫʚʝʣʠʯʝʥʠʷ ʤʦʱʥʦʩʪʠééééééééééééé..1,5 

 

ʈʘʩʯʝʪ ʤʦʱʥʦʩʪʠ ʜʚʠʛʘʪʝʣʷ: 

P=kmgvĀ0,001/(nĀKp),                                      (2) 

P=0,5Ā36734Ā9,8Ā0,1Ā0,001/(0,8Ā1,5)=15 ʢɺʪ. 

ʇʦʣʫʯʝʥʥʦʝ ʟʥʘʯʝʥʠʝ ʫʚʝʣʠʯʠʚʘʝʤ ʜʦ ʢʘʪʘʣʦʞʥʦʛʦ ʟʥʘʯʝʥʠʷ. 

ɼʚʠʛʘʪʝʣʴ ʚʳʙʠʨʘʝʤ ʠʟ ʙʘʟʳ ʜʘʥʥʳʭ. ɹʣʠʞʘʡʰʠʡ ʧʦ ʤʦʱʥʦʩʪʠ 

ʜʚʠʛʘʪʝʣʴ ɸʀʈ160S2 (ʈ=15 ʢɺʪ, n=1500 ʦʙ/ʤʠʥ.). 

ʆʧʨʝʜʝʣʷʝʤ ʝʛʦ ʥʦʤʠʥʘʣʴʥʳʡ ʤʦʤʝʥʪ: 

ʄʥ=9550Āʈʥ/n,                                     (3) 

ʄʥ =9550Ā15/1500=95,5 ʅĀʤ. 

ʄʘʢʩʠʤʘʣʴʥʳʡ ʤʦʤʝʥʪ: 

ʄʤ=3ʄʥ=3Ā95,5=286,5 ʅĀʤ. 

ʉʧʨʦʝʢʪʠʨʦʚʘʪʴ ʪʨʝʭʬʘʟʥʳʡ ʘʩʠʥʭʨʦʥʥʳʡ ʜʚʠʛʘʪʝʣʴ ʩʦ ʩʣʝʜʫʶʱʠʤʠ 

ʜʘʥʥʳʤʠ: 

ʈʦʪʦʨ ʢʦʨʦʪʢʦʟʘʤʢʥʫʪʳʡ; 

ʄʦʱʥʦʩʪʴ P2=15 ʢɺʪ; 

ʅʘʧʨʷʞʝʥʠʝ U=220/380 ɺ; 

ʏʠʩʣʦ ʧʦʣʶʩʦʚ 2p=4; 

ʀʩʧʦʣʥʝʥʠʝ ʧʦ ʩʧʦʩʦʙʫ ʟʘʱʠʪʳ ʥʘ ʚʦʟʜʝʡʩʪʚʠʝ ʦʢʨʫʞʘʶʱʝʡ ʩʨʝʜʳ IP44; 

ʂʦʥʩʪʨʫʢʪʠʚʥʦʝ ʠʩʧʦʣʥʝʥʠʝ IM1001. 



 

 

 

5.1 ɺʳʙʦʨ ʛʣʘʚʥʳʭ ʨʘʟʤʝʨʦʚ 

 

1. ɺʳʩʦʪʘ ʦʩʠ ʚʨʘʱʝʥʠʷ (ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ) h=170 ʤʤ (ʨʠʩʫʥʦʢ 1ʘ ʇʨʠʣʦʞʝʥʠʝ 

5). 

ɺʳʙʝʨʝʤ h=160 ʤʤ, Da =0,272ʤ (ʪʘʙʣʠʮʘ 1 ʇʨʠʣʦʞʝʥʠʝ 5). 

2. ɺʥʫʪʨʝʥʥʠʡ ʜʠʘʤʝʪʨ ʩʪʘʪʦʨʘ: 

 D=KDĀDa, (1) 

ʛʜʝ D ï ʚʥʫʪʨʝʥʥʠʡ ʜʠʘʤʝʪʨ ʩʪʘʪʦʨʘ, ʤ; 

KD ï ʢʦʵʬʬʠʮʠʝʥʪ ʦʪʥʦʰʝʥʠʷ D/Dʘ ʚ ʟʘʚʠʩʠʤʦʩʪʠ ʦʪ ʯʠʩʣʘ ʧʦʣʶʩʦʚ  

KD =0,68 (ʪʘʙʣʠʮʘ 2 ʇʨʠʣʦʞʝʥʠʝ 5); 

Da ï ʚʥʝʰʥʠʡ ʜʠʘʤʝʪʨ ʩʪʘʪʦʨʘ, ʤ. 

D=0,68Ā0,272=0,185 ʤ. 

3. ʇʦʣʶʩʥʦʝ ʜʝʣʝʥʠʝ: 

Ű=
Ā́D

2p
,                                                            (2) 

ʛʜʝ Ű ï ʚʥʫʪʨʝʥʥʠʡ ʜʠʘʤʝʪʨ ʩʪʘʪʦʨʘ, ʤ; 

p ï ʢʦʣʠʯʝʩʪʚʦ ʧʦʣʶʩʦʚ. 

Ű=
3,14Ā0,185

2Ā2
0,145 ʤ. 

4. ʈʘʩʯʝʪʥʘʷ ʤʦʱʥʦʩʪʴ: 

P'=P2Ā
kE

ɖĀcosű
                                                    (3) 

ʛʜʝ ʈ
'
 ï ʨʘʩʯʝʪʥʘʷ ʤʦʱʥʦʩʪʴ, ɺĀɸ; 

P2 ï ʤʦʱʥʦʩʪʴ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ, ʢɺʪ; 

ɖ ï ʧʨʠʤʝʨʥʦʝ ʟʥʘʯʝʥʠʝ ʂʇɼ, ɖ=0,88 (ʨʠʩʫʥʦʢ 3ʘ ʇʨʠʣʦʞʝʥʠʝ 5.) 

cosű ï ʧʨʠʤʝʨʥʦʝ ʟʥʘʯʝʥʠʝ cosű ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ, cosű=0,88 

(ʨʠʩʫʥʦʢ 3ʘ ʇʨʠʣʦʞʝʥʠʝ 5.); 

kE ï ʦʪʥʦʰʝʥʠʝ ʕɼʉ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ ʢ ʥʦʤʠʥʘʣʴʥʦʤʫ ʥʘʧʨʷʞʝʥʠʶ,  
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kE =0,975 (ʨʠʩʫʥʦʢ 2 ʇʨʠʣʦʞʝʥʠʝ 5).  

P'=15Ā10
3
Ā
0,975

0,88Ā0,88
=18885å18900 BĀA. 

5. ʕʣʝʢʪʨʦʤʘʛʥʠʪʥʳʝ ʥʘʛʨʫʟʢʠ (ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ): 

A=32000 ɸ/ʤ, Bŭ=0,75 ʊʣ (ʨʠʩʫʥʦʢ 6ʙ ʇʨʠʣʦʞʝʥʠʝ 5). 

6. ʆʙʤʦʪʦʯʥʳʡ ʢʦʵʬʬʠʮʠʝʥʪ ʜʣʷ ʦʜʥʦʩʣʦʡʥʦʡ ʦʙʤʦʪʢʠ (ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ ʜʣʷ 

ʦʜʥʦʩʣʦʡʥʦʡ ʦʙʤʦʪʢʠ): 

kʦʙ1=0,95 , ʪ.ʢ. h Ò 160 ʤʤ (ʧʨʠ h > 160 ʤʤ ï ʜʚʫʭʩʣʦʡʥʘʷ ʦʙʤʦʪʢʘ kʦʙ1=0,91-

0,92) 

7. ʈʘʩʯʝʪʥʘʷ ʜʣʠʥʘ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ: 

lŭ=
P'

kBĀD
2ĀɋĀkʦʙ1ĀɸĀBŭ

,                                                 (4) 

ʛʜʝ lŭ - ʨʘʩʯʝʪʥʘʷ ʜʣʠʥʘ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ, ʤ; 

ɋ ï ʩʠʥʭʨʦʥʥʘʷ ʫʛʣʦʚʘʷ ʯʘʩʪʦʪʘ ʜʚʠʛʘʪʝʣʷ, ʨʘʜ/ʩ; 

kB ï ʢʦʵʬʬʠʮʠʝʥʪ ʬʦʨʤʳ ʧʦʣʷ; 

ɺʳʯʠʩʣʠʤ ɋ ʧʦ ʬʦʨʤʫʣʝ 5; 

ɋ=
2́n1

60
,           ʠʣʠ          ɋ=

2́f
1

p
,                                     (5) 

ʛʜʝ ʧ1 ï ʩʠʥʭʨʦʥʥʘʷ ʯʘʩʪʦʪʘ ʚʨʘʱʝʥʠʷ, ʦʙ/ʤʠʥ; 

f1 ï ʯʘʩʪʦʪʘ ʧʠʪʘʥʠʷ, ɻʮ. 

ɋ=
2Ā3,14Ā50

2
=157 ʨʘʜ/ʩ. 

ɺʳʯʠʩʣʠʤ kB ʧʦ ʬʦʨʤʫʣʝ 6: 

kB =
ˊ

2ã2
,                                                           (6) 

kB =
3,14

2ã2
=1,11 

lŭ=
18900

1,11Ā0,1852Ā157Ā0,95Ā3200Ā0,75
=0,139 å0,14 ʤ. 

8. ɿʥʘʯʝʥʠʝ ɚ ʥʘʭʦʜʠʤ ʠʟ ʦʪʥʦʰʝʥʠʷ: 

ɚ=
lŭ

Ű
,                                                                   (7) 



ɚ=
0,14

0,145
=0,97 

ʇʦʣʫʯʝʥʥʦʝ ʟʥʘʯʝʥʠʝ ʥʘʭʦʜʠʪʩʷ ʚ ʧʨʝʜʝʣʘʭ ʜʦʧʫʩʪʠʤʳʭ ʟʥʘʯʝʥʠʡ 

(ʨʠʩʫʥʦʢ 4 ʇʨʠʣʦʞʝʥʠʝ 5). 

 

ʆʧʨʝʜʝʣʝʥʠʝ Z1, w1 ʠ ʧʣʦʱʘʜʠ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʧʨʦʚʦʜʘ 

ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ 

 

9. ʇʨʝʜʝʣʴʥʳʝ ʟʥʘʯʝʥʠʷ ʜʠʘʧʘʟʦʥʘ ʟʫʙʮʦʚʳʭ ʜʝʣʝʥʠʡ: 

tZ1max=15ʤʤ, tZ1min=12ʤʤ (ʨʠʩʫʥʦʢ5 ʇʨʠʣʦʞʝʥʠʝ 5) 

10. ʏʠʩʣʦ ʧʘʟʦʚ ʩʪʘʪʦʨʘ: 

Z1min=
Ā́D

tZ1max
,                                                  (8) 

Z1max=
Ā́D

tZ1min
,                                                 (9) 

ʛʜʝ Z1min, Z1max ï ʯʠʩʣʦ ʧʘʟʦʚ ʩʪʘʪʦʨʘ; 

tZ1min, tZ1max ï ʧʨʝʜʝʣʴʥʳʝ ʟʥʘʯʝʥʠʷ ʜʠʘʧʘʟʦʥʘ ʟʫʙʮʦʚʳʭ ʜʝʣʝʥʠʡ, ʤʤ. 

Z1min=
3,14Ā0,185

0,015
=39 

Z1max=
3,14Ā0,185

0,012
=48 

ʏʠʩʣʦ ʧʘʟʦʚ ʩʪʘʪʦʨʘ Z1  ʚʳʙʠʨʘʝʤ, ʪʘʢ ʯʪʦʙʳ q ʙʳʣʦ ʮʝʣʳʤ. 

ʇʨʠʥʠʤʘʝʤ Z1=  48,ʪʦʛʜʘ q1 ʙʫʜʝʪ ʨʘʚʥʦ: 

q
1
=
Z1

2pĀm
,                                                     (10) 

ʛʜʝ q1 ï ʯʠʩʣʦ ʧʘʟʦʚ ʥʘ ʧʦʣʶʩ ʠ ʬʘʟʫ; 

m ï ʯʠʩʣʦ ʬʘʟ; 

q
1
=
48

2Ā2Ā3
=4 

ʆʙʤʦʪʢʘ ʦʜʥʦʩʣʦʡʥʘʷ. 

11. ɿʫʙʮʦʚʦʝ ʜʝʣʝʥʠʝ ʩʪʘʪʦʨʘ (ʦʢʦʥʯʘʪʝʣʴʥʦ): 
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t:1=
Ā́D

2pĀmĀq
,                                                       (11) 

tZ1=
3,14Ā0,185

2Ā2Ā3Ā4
=12,1Ā10

-3
 ʤ. 

12. ʏʠʩʣʦ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʚ ʧʘʟʫ (ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ, ʧʨʠ ʫʩʣʦʚʠʠ, 

ʯʪʦ ʧʘʨʘʣʣʝʣʴʥʳʝ ʚʝʪʚʠ ʚ ʦʙʤʦʪʢʝ ʦʪʩʫʪʩʪʚʫʶʪ ʘ=1) 

uʧ
'=

Ā́DĀA

I1ʥʦʤĀZ1
,                                                       (12) 

ʛʜʝ uʧ
' ï ʯʠʩʣʦ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʚ ʧʘʟʫ; 

ɸ ï ʧʨʠʥʷʪʦʝ ʨʘʥʝʝ ʟʥʘʯʝʥʠʝ ʣʠʥʝʡʥʦʡ ʥʘʛʨʫʟʢʠ, ɸ/ʤ; 

I1ʥʦʤ ï ʥʦʤʠʥʘʣʴʥʳʡ ʪʦʢ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ, ɸ.  

ɺʳʯʠʩʣʠʤ ʥʦʤʠʥʘʣʴʥʳʡ ʪʦʢ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ ʧʦ ʬʦʨʤʫʣʝ 13: 

I1ʥʦʤ= 
P2

mU1ʥʦʤcosűĀɖ
,                                                 (13) 

ʛʜʝ U1ʥʦʤ ï ʥʦʤʠʥʘʣʴʥʦʝ ʥʘʧʨʷʞʝʥʠʝ, ɺ. 

I1ʥʦʤ=
15Ā103

3Ā220Ā0,88Ā0,88
=29,3 ɸ. 

uʧ
'=
3,14Ā0,185Ā32000

29,3Ā48
=13,2 

13.ʇʦʣʫʯʝʥʥʦʝ ʟʥʘʯʝʥʠʝ ʧʦ ʬʦʨʤʫʣʝ 13 ʥʝ ʦʢʨʫʛʣʷʶʪ ʜʦ ʮʝʣʦʛʦ, ʘ ʥʘʭʦʜʷʪ 

ʪʘʢʦʝ ʯʠʩʣʦ ʧʘʨʘʣʣʝʣʴʥʳʭ ʚʝʪʚʝʡ ʦʙʤʦʪʢʠ ʘ, ʧʨʠ ʢʦʪʦʨʦʤ ʯʠʩʣʦ 

ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʚ ʧʘʟʫ ʣʠʙʦ ʙʫʜʝʪ ʧʦʣʥʦʩʪʴʶ ʫʜʦʚʣʝʪʚʦʨʷʪʴ 

ʦʪʤʝʯʝʥʥʳʤ ʫʩʣʦʚʠʷʤ, ʣʠʙʦ ʧʦʪʨʝʙʫʝʪ ʣʠʰʴ ʥʝʟʥʘʯʠʪʝʣʴʥʦʛʦ ʠʟʤʝʥʝʥʠʷ: 

ʧʨʠʥʠʤʘʝʤ ʘ=1, ʪʦʛʜʘ: 

 un=aĀunǋ, (14) 

ʛʜʝ un ï ʯʠʩʣʦ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʚ ʧʘʟʫ. 

un=1Ā13=13 ʧʨʦʚʦʜʥʠʢʦʚ. 

14. ʆʢʦʥʯʘʪʝʣʴʥʳʝ ʟʥʘʯʝʥʠʷ: 

ʆʢʦʥʯʘʪʝʣʴʥʦʝ ʯʠʩʣʦ ʚʠʪʢʦʚ ʚ ʬʘʟʝ ʦʙʤʦʪʢʠ: 

w1= 
unĀZ1

2ĀaĀm
,                                                       (15) 



w1= 
13Ā48

2Ā1Ā3
=104 

ʆʢʦʥʯʘʪʝʣʴʥʦʝ ʟʥʘʯʝʥʠʝ ʣʠʥʝʡʥʦʡ ʥʘʛʨʫʟʢʠ: 

A=
 2ĀI1ʥʦʤĀw1Ām

Ā́D
,                                                   (16) 

A
2Ā29,3Ā104Ā3

3,14Ā0,185
=31,5Ā10

3
 ɸ/ʤ. 

ʆʢʦʥʯʘʪʝʣʴʥʦ ʫʪʦʯʥʷʝʤ ʟʥʘʯʝʥʠʝ ʤʘʛʥʠʪʥʦʛʦ ʧʦʪʦʢʘ: 

ʌ=
kEĀU1ʥʦʤ

4ĀkBĀw1Ākʦʙ1Āf1
,                                                 (17) 

ɼʣʷ ʦʜʥʦʩʣʦʡʥʦʡ ʦʙʤʦʪʢʠ ʩ q=4 (ʪʘʙʣʠʮʘ 19 ʇʨʠʣʦʞʝʥʠʝ 5) kʦʙ1=kp=0,958. 

ɼʣʷ ʜʚʫʭʩʣʦʡʥʦʡ ʦʙʤʦʪʢʠ kʦʙ1=kp1Āky1, ky1=sin
ˊ

2
ɓ, ɓ=

 Ù

ʐ
, Ű=

Z1

2p
, ʫʢʦʨʦʯʝʥʠʝ ʰʘʛʘ  

ɓ=0,79...0,83. 

ʌ=
0,975Ā220

4Ā1,11Ā104Ā0,958Ā50
=9,7Ā10

-3
 ɺʙ. 

ʆʢʦʥʯʘʪʝʣʴʥʦ ʫʪʦʯʥʷʝʤ ʟʥʘʯʝʥʠʝ ʠʥʜʫʢʮʠʠ ʚ ʚʦʟʜʫʰʥʦʤ ʟʘʟʦʨʝ: 

Bŭ=
ʨĀʌ

DĀlŭ
,                                                         (18) 

Bŭ=
2Ā9,7Ā10-3

0,185Ā0,14
=0,749 Tʣ. 

ʇʦʣʫʯʝʥʥʳʝ ʟʥʘʯʝʥʠʷ ɸ ʠ Bŭ ʥʘʭʦʜʷʪʩʷ ʚ ʜʦʧʫʩʪʠʤʳʭ ʧʨʝʜʝʣʘʭ (ʨʠʩʫʥʦʢ 6 

ʇʨʠʣʦʞʝʥʠʝ 5). 

15. ʇʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʦʙʤʦʪʢʝ ʩʪʘʪʦʨʘ (ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ): 

J1=
(AĀJ)

A
,                                                           (19) 

ʛʜʝ J1 - ʧʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʦʙʤʦʪʢʝ ʩʪʘʪʦʨʘ, ɸ/ʤ
2
;  

J ï ʧʣʦʪʥʦʩʪʴ ʪʦʢʘ, ɸ/ʤ
2
. 

(AĀJ)=180Ā10
9
 ɸ

2
/ʤ

3
 (ʨʠʩʫʥʦʢ 7ʙ ʇʨʠʣʦʞʝʥʠʝ 5). 

J1=
180Ā109

31500
=5,71Ā10

6
 A/ʤ2. 

16. ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ 

(ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ) ʧʨʠ ʘ=1: 
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qɻ
ʬ
=
I1ʥʦʤ

aĀJ1
,                                                                (20) 

ʛʜʝ qʵʬ ï ʧʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ, ʤʤ
2
. 

qɻ
ʬ
= 

29,3

1Ā5,71Ā106
=5,13Ā10

-6
 ʤ2=5,13 ʤʤ2. 

17. ʉʝʯʝʥʠʝ ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ (ʦʢʦʥʯʘʪʝʣʴʥʦ):  

ɽʩʣʠ ʨʘʩʯʝʪʥʦʝ ʩʝʯʝʥʠʝ ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ ʚ ʤʘʰʠʥʘʭ ʩʦ ʚʩʳʧʥʦʡ 

ʦʙʤʦʪʢʦʡ ʚʳʰʝ ʟʥʘʯʝʥʠʡ, ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʭ ʫʢʘʟʘʥʥʳʤ ʜʠʘʤʝʪʨʘʤ, ʪʦ 

ʵʬʬʝʢʪʠʚʥʳʡ ʧʨʦʚʦʜʥʠʢ ʜʝʣʷʪ ʥʘ ʥʝʩʢʦʣʴʢʦ ʵʣʝʤʝʥʪʘʨʥʳʭ. ɼʣʷ ʵʪʦʛʦ ʧʦ 

ʪʘʙʣʠʮʝ 3 ʇʨʠʣʦʞʝʥʠʝ 5 ʧʦʜʙʠʨʘʶʪʩʷ ʩʝʯʝʥʠʝ q ʣɻ ʠ ʯʠʩʣʦ ʵʣʝʤʝʥʪʘʨʥʳʭ 

ʧʨʦʚʦʜʥʠʢʦʚ nʵʣ, ʩʦʩʪʘʚʣʷʶʱʠʭ ʦʜʠʥ ʵʬʬʝʢʪʠʚʥʳʡ, ʪʘʢʠʤ ʦʙʨʘʟʦʤ, ʯʪʦʙʳ 

ʜʠʘʤʝʪʨ dʵʣ ʵʣʝʤʝʥʪʘʨʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʥʝ ʚʳʭʦʜʠʪ ʟʘ ʫʢʘʟʘʥʥʳʝ ʧʨʝʜʝʣʳ, ʘ 

ʠʭ ʩʫʤʤʘʨʥʘʷ ʧʣʦʱʘʜʴ ʩʝʯʝʥʠʷ ʙʳʣʘ ʙʣʠʟʢʘ ʢ ʨʘʩʯʝʪʥʦʤʫ ʩʝʯʝʥʠʶ 

ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ. ɺ ʥʘʰʝʤ ʧʨʠʤʝʨʝ ʧʨʠʥʠʤʘʝʤ nʵʣ=3 ʪʦʛʜʘ: 

 q ʣɻ= qʵʬ/nʵʣ, (21) 

qɻ
ʣ
=
5,13

3
=1,71 ʤʤ2. 

ʇʨʠʥʠʤʘʝʤ ʦʙʤʦʪʦʯʥʳʡ ʧʨʦʚʦʜ ʤʘʨʢʠ ʇʕʊɺ (ʪʘʙʣʠʮʘ 3 ʇʨʠʣʦʞʝʥʠʝ 5): 

dʵʣ=1,5 ʤʤ, q ʣɻ=1,767 ʤʤ
2
, dʠʟ=1,585 ʤʤ. 

ʊʦʛʜʘ ʧʦ ʬʦʨʤʫʣʝ 22 qʵ.ʩʨ ʙʫʜʝʪ ʨʘʚʥʦ: 

 q .ɻʩʨ=nʵʣĀq ʣɻ, (22) 

q .ɻʩʨ=3Ā1,767=5,3 ʤʤ2. 

18. ʇʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʩʪʘʪʦʨʝ (ʦʢʦʥʯʘʪʝʣʴʥʦ): 

J1=
I1ʥʦʤ

aĀqɻ
ʣ
Ānɻʣ

,                                                             (23) 

J1=
29,3

1Ā1,71Ā3
=5,35 A/ʤʤ2. 

 

ʈʘʩʯʝʪ ʨʘʟʤʝʨʦʚ ʟʫʙʮʦʚʦʡ ʟʦʥʳ ʩʪʘʪʦʨʘ ʠ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ 

 



ʇʘʟ ʩʪʘʪʦʨʘ ʦʧʨʝʜʝʣʷʝʤ ʩ ʩʦʦʪʥʦʰʝʥʠʝʤ ʨʘʟʤʝʨʦʚ, ʦʙʝʩʧʝʯʠʚʘʶʱʠʤ 

ʧʘʨʘʣʣʝʣʴʥʦʩʪʴ ʙʦʢʦʚʳʭ ʛʨʘʥʝʡ ʟʫʙʮʦʚ (ʨʠʩʫʥʦʢ 8 ʇʨʠʣʦʞʝʥʠʝ 5). 

19. ʇʨʠʥʠʤʘʝʤ ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ ʧʦ ʪʘʙʣʠʮʝ 4 ʇʨʠʣʦʞʝʥʠʝ 5 ʜʦʧʫʩʪʠʤʳʝ 

ʟʥʘʯʝʥʠʷ ʠʥʜʫʢʮʠʠ ʥʘ ʫʯʘʩʪʢʘʭ ʤʘʛʥʠʪʥʦʡ ʮʝʧʠ Bz1=1,9 ʊʣ, Ba=1,6 ʊʣ, ʪʦʛʜʘ 

ʰʠʨʠʥʘ ʟʫʙʮʘ ʙʫʜʝʪ ʨʘʚʥʘ: 

bz1= 
BŭĀὸĀlŭ
Bz1Ālcm1Ākc

,                                                      (24) 

ʛʜʝ bz1 ï ʰʠʨʠʥʘ ʟʫʙʮʘ, ʤʤ; 

Bz1 ï ʜʦʧʫʩʪʠʤʦʝ ʟʥʘʯʝʥʠʝ ʠʥʜʫʢʮʠʠ ʥʘ ʫʯʘʩʪʢʝ ʤʘʛʥʠʪʥʦʡ ʮʝʧʠ, ʊʣ; 

lʩʪ1 ï ʜʣʠʥʘ ʩʪʘʣʠ ʩʝʨʜʝʯʥʠʢʘ, lʩʪ1=lŭ, ʤ; 

kC ï ʢʦʵʬʬʠʮʠʝʥʪ ʟʘʧʦʣʥʝʥʠʷ ʩʪʘʣʴʶ ʤʘʛʥʠʪʦʧʨʦʚʦʜʦʚ ʩʪʘʪʦʨʘ ʠ ʨʦʪʦʨʘ, 

ʧʦ ʪʘʙʣʠʮʝ 5 ʇʨʠʣʦʞʝʥʠʝ 5 kc=0,97. 

bz1=
0,749Ā12,1Ā0,14

1,9Ā0,14Ā0,97
=4,9 ʤʤ. 

ʆʧʨʝʜʝʣʷʝʤ ʚʳʩʦʪʫ ʷʨʤʘ ʩʪʘʪʦʨʘ: 

hʘ=
ʌ

2Balcm1kc
,                                                      (25) 

hʘ=
9,7 Ā10-3

2Ā1,6Ā0,14Ā0,97
=0,0223 ʤ.=22,3 ʤʤ. 

20. ʈʘʟʤʝʨʳ ʧʘʟʘ ʚ ʰʪʘʤʧʝ ʧʨʠʥʠʤʘʝʤ ʨʘʚʥʳʤʠ b =h3,7 ʤʤ, h =h1 ʤʤ, ɓ=45
Ü 

(ʨʠʩʫʥʦʢ 8 ʇʨʠʣʦʞʝʥʠʝ 5), ʪʦʛʜʘ: 

ɺʳʩʦʪʘ ʧʘʟʘ: 

hn=
Da-D

2
-ha,                                                       (26) 

hn=
0,272-0,185

2
-0,0223=0,0212 ʤ.=21,2 ʤʤ. 

ʐʠʨʠʥʘ ʰʣʠʮʘ ʧʘʟʘ: 

ʇʨʠ ɓ=45
Ü
: 

 b1=
ˊD+2hh-bh -Z1bZ1

Z1-́
,                                             (27) 

ʇʨʠ ɓ=30
Ü
: 
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b1=
ˊD+2hh-bh/ã3-Z1bZ1

Z1-́/ã3
,                                         (28) 

ɺ ʜʘʥʥʦʤ ʩʣʫʯʘʝ ɓ=45
Ü
, ʪʦ ʨʘʩʯʝʪ ʧʨʦʠʟʚʦʜʠʤ ʧʦ ʬʦʨʤʫʣʝ 27: 

b1=
3,14Ā185+2-3,7-48Ā4,9

48-3,14
=7,59å7,6 ʤʤ. 

b2= 
ˊD+2hn

Z1
- bZ1,                                                  (29) 

b2=
3,14Ā185+2Ā21,2

48
-4,99,98 ʤʤ.å10 ʤʤ. 

hʧ.ʢ=hn-hh+
b1-bh

2
,                                                  (30) 

hʧ.ʢ=21,2-1+
7,6-3,7

2
18,25ʤʤ.å18,3 ʤʤ. 

ʇʘʟ ʩʪʘʪʦʨʘ ʧʦʢʘʟʘʥ ʥʘ ʨʠʩʫʥʢʝ 1ʙ. 

 

21. ʈʘʟʤʝʨʳ ʧʘʟʘ ʚ ʩʚʝʪʫ ʩ ʫʯʝʪʦʤ ʧʨʠʧʫʩʢʘ ʥʘ ʩʙʦʨʢʫ: 

 b1
/
=b1-ȹbn, (31) 

ʛʜʝ ȹbn ï ʧʨʠʧʫʩʢʠ ʧʦ ʰʠʨʠʥʝ ʧʘʟʘ, ʤʤ. 

ɺʳʙʠʨʘʝʤ ʧʨʠʧʫʩʢʠ ʧʦ ʰʠʨʠʥʝ ʠ ʚʳʩʦʪʝ ʧʘʟʘ ʠʟ ʪʘʙʣʠʮʳ: 

ɺʳʩʦʪʘ ʦʩʠ ʚʨʘʱʝʥʠʷ h, 

ʤʤ 

ʇʨʠʧʫʩʢʠ, ʤʤ 

ʧʦ ʰʠʨʠʥʝ ʧʘʟʘ ȹbn ʧʦ ʚʳʩʦʪʝ ʧʘʟʘ ȹhn 

50-132 

160-250 

280-355 

400-500 

0,1 

0,2 

0,3 

0,4 

0,1 

0,2 

0,3 

0,3 



 

b1
/
=7,6-0,2=7,4 ʤʤ. 

 b2
/
=b2-ȹbn, (32) 

b2
/
=10-0,2=9,8 ʤʤ. 

 hn.k.
/
=hn.k.-ȹhʧ, (33) 

ʛʜʝ ȹhʧ ï ʧʨʠʧʫʩʢʠ ʧʦ ʚʳʩʦʪʝ ʧʘʟʘ, ʤʤ. 

hn.k.
/
=18,3-0,2=18,1 ʤʤ. 

ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʧʘʟʘ ʜʣʷ ʨʘʟʤʝʱʝʥʠʷ ʧʨʦʚʦʜʥʠʢʦʚ ʦʙʤʦʪʢʠ 

Sn
'
=
b1
/
+b2
/

2
Āh1
/
-Sʠʟ-Sʧʨ,                                             (34) 

Sn
'
=
7,4+9,8

2
Ā18,1-24=131,7 ʤʤ2. 

ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʧʨʦʢʣʘʜʦʢ Sʧʨ=0. 

ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʢʦʨʧʫʩʥʦʡ ʠʟʦʣʷʮʠʠ ʚ ʧʘʟʫ: 

Sʠʟ=bʠʟĀ2hʧ+b1+b2,                                               (35) 

ʛʜʝ bʠʟ ï ʦʜʥʦʩʪʦʨʦʥʥʷʷ ʪʦʣʱʠʥʘ ʠʟʦʣʷʮʠʠ ʚ ʧʘʟʫ, ʤʤ; bʠʟ=0,4 ʧʦ ʪʘʙʣʠʮʝ 6 

ʇʨʠʣʦʞʝʥʠʝ 5. 

Sʠʟ=0,4Ā(2Ā21,2+7,6+10)=24 ʤʤ
2. 

22. ʂʦʵʬʬʠʮʠʝʥʪ ʟʘʧʦʣʥʝʥʠʷ ʧʘʟʘ: 

kʟ=
dʠʟ
2
unnɻʣ

Sn
/
,                                                       (36) 

ʂʦʵʬʬʠʮʠʝʥʪ ʟʘʧʦʣʥʝʥʠʷ ʜʦʣʞʝʥ ʥʘʭʦʜʠʪʴʩʷ ʚ ʧʨʝʜʝʣʘʭ kʟ=0,69...0,71 ʜʣʷ 

ʜʚʠʛʘʪʝʣʝʡ ʩ 2ʨ=2 ʠ kʟ=0,72...0,74 ʜʣʷ ʜʚʠʛʘʪʝʣʝʡ ʩ 2ʨÓ4. 

kʟ=
1,5852Ā13Ā3

131,7
=0,74 

ʂʦʵʬʬʠʮʠʝʥʪ ʟʘʧʦʣʥʝʥʠʷ ʨʘʚʝʥ ʨʝʢʦʤʝʥʜʦʚʘʥʥʦʤʫ ʟʥʘʯʝʥʠʶ ʜʣʷ ʨʫʯʥʦʡ 

ʫʢʣʘʜʢʠ ʦʙʤʦʪʦʢ. 

 

ʈʘʩʯʝʪ ʨʦʪʦʨʘ 
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23. ɺʦʟʜʫʰʥʳʡ ʟʘʟʦʨ: 

ŭ=0,5ʤʤ (ʨʠʩʫʥʦʢ 9 ʇʨʠʣʦʞʝʥʠʝ 5). 

24. ʏʠʩʣʦ ʧʘʟʦʚ ʨʦʪʦʨʘ: 

Z2=  38 (ʪʘʙʣʠʮʘ 7 ʇʨʠʣʦʞʝʥʠʝ 5). 

25. ɺʥʝʰʥʠʡ ʜʠʘʤʝʪʨ ʨʦʪʦʨʘ: 

D2=D-2ŭ, (37) 

D2=0,185-2Ā0,5Ā10
-3
=0,184 ʤ. 

26. ɼʣʠʥʘ ʤʘʛʥʠʪʦʧʨʦʚʦʜʘ ʨʦʪʦʨʘ: 

l2=l1 =0,14ʤ. 

27. ɿʫʙʮʦʚʦʝ ʜʝʣʝʥʠʝ ʨʦʪʦʨʘ: 

t:2=
Ā́D2

Z2
,                                                             (38) 

tZ2=
3,14Ā0,184

38
=0,0152 ʤ.=15,2 ʤʤ. 

28. ɺʥʫʪʨʝʥʥʠʡ ʜʠʘʤʝʪʨ ʨʦʪʦʨʘ ʨʘʚʝʥ ʜʠʘʤʝʪʨʫ ʚʘʣʘ, ʪʘʢ ʢʘʢ ʩʝʨʜʝʯʥʠʢ 

ʥʝʧʦʩʨʝʜʩʪʚʝʥʥʦ ʥʘʩʘʞʝʥ ʥʘ ʚʘʣ:  

Dj=DB=kBĀDa, (39) 

ʛʜʝ kB= ʢʦʵʬʬʠʮʠʝʥʪ ʜʣʷ ʨʘʩʯʝʪʘ ʜʠʘʤʝʪʨʘ ʚʘʣʘ ʘʩʠʥʭʨʦʥʥʳʭ ʜʚʠʛʘʪʝʣʝʡ: 

kB=0,23 ʧʦ ʪʘʙʣʠʮʝ 8 ʇʨʠʣʦʞʝʥʠʝ 5. 

Dj=DB=0,23Ā0,272=0,0626 ʤ.=60 ʤʤ. 

29. ʊʦʢ ʚ ʦʙʤʦʪʢʝ ʨʦʪʦʨʘ: 

I2=ki I1 ɡi, (40) 

ʛʜʝ ki ï ʢʦʵʬʬʠʮʠʝʥʪ, ʫʯʠʪʳʚʘʶʱʠʡ ʚʣʠʷʥʠʝ ʪʦʢʘ ʥʘʤʘʛʥʠʯʠʚʘʥʠʷ; 

ɡi ï ʢʦʵʬʬʠʮʠʝʥʪ ʧʨʠʚʝʜʝʥʠʷ ʪʦʢʦʚ, ʜʣʷ ʜʚʠʛʘʪʝʣʝʡ ʩ ʬʘʟʥʳʤʠ ʨʦʪʦʨʘʤʠ. 

ki=0,2+0,8 cosű, (41) 

ki=0,2+0,8Ā0,88=0,904 

ɜi
2m1Āw1Ākʦʙ1

Z2Ākʩʢ
,                                                       (42) 

ʛʜʝ kʩʢ ï ʢʦʵʬʬʠʮʠʝʥʪ ʩʢʦʩʘ, ʫʯʠʪʳʚʘʶʱʠʡ ʫʤʝʥʴʰʝʥʠʝ ʕɼʉ ʦʙʤʦʪʢʠ ʧʨʠ 

ʩʢʦʰʝʥʥʳʭ ʧʘʟʘʭ ʨʦʪʦʨʘ; 

m1 ï ʯʠʩʣʦ ʬʘʟ; m1=3. 



kʩʢ=
2Āsin(ɔ

ʩʢ
/2)

ɔ
ʩʢ

,                                                 (43) 

ʛʜʝ ɔ
ʩʢ
=ɓ
ʩʢ

2ʨ

Z
; ɓ
ʩʢ
=
bʩʢ

tZ2
; bʩʢ - ʩʢʦʩ ʧʘʟʦʚ, ʤʤ. 

ɺ ʜʘʥʥʦʤ ʨʘʩʯʝʪʝ ʧʘʟʳ ʨʦʪʦʨʘ ʚʳʧʦʣʥʷʝʤ ʙʝʟ ʩʢʦʩʘ, ʪ.ʝ. kʩʢ=1. 

ɜi=
2Ā3Ā104Ā0,958

38Ā1
=15,73 

I2=0,904Ā29,3Ā15,73=417A. 

30. ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʩʪʝʨʞʥʷ (ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ): 

q
c
= 
I2

J2
,                                                         (44) 

ʛʜʝ J2 ï ʧʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʩʪʝʨʞʥʷʭ ʨʦʪʦʨʘ ʤʘʰʠʥ ʟʘʢʨʳʪʦʛʦ ʦʙʜʫʚʘʝʤʦʛʦ 

ʠʩʧʦʣʥʝʥʠʷ, ɸ/ʤ
2
. 

ʇʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʩʪʝʨʞʥʷʭ ʨʦʪʦʨʘ ʤʘʰʠʥ ʟʘʢʨʳʪʦʛʦ ʠʩʧʦʣʥʝʥʠʷ ʧʨʠ ʟʘʣʠʚʢʝ 

ʧʘʟʦʚ ʘʣʶʤʠʥʠʝʤ ʚʳʙʠʨʘʝʪʩʷ ʚ ʧʨʝʜʝʣʘʭ J2=(2,5...3,5)Ā10
6
 ɸ/ʤ

2
, ʘ ʧʨʠ 

ʟʘʱʠʱʝʥʥʦʤ ʠʩʧʦʣʥʝʥʠʠ ʥʘ 10...15% ʚʳʰʝ, ʧʨʠ ʵʪʦʤ ʜʣʷ ʤʘʰʠʥ ʙʦʣʴʰʠʭ 

ʤʦʱʥʦʩʪʝʡ ʩʣʝʜʫʝʪ ʧʨʠʥʠʤʘʪʴ ʤʝʥʴʰʠʝ ʟʥʘʯʝʥʠʷ ʧʣʦʪʥʦʩʪʠ ʪʦʢʘ. 

q
c
=
417

2,5Ā106
=166,8 ʤʤ2. 

31. ʇʘʟ ʨʦʪʦʨʘ ʦʧʨʝʜʝʣʷʝʤ ʧʦ ʨʠʩʫʥʢʫ 10ʙ ʇʨʠʣʦʞʝʥʠʝ 5. ʇʨʠʥʠʤʘʝʤ 

bh=1,5 ʤʤ, hh=0,7 ʤʤ, hh
/
=0,3 ʤʤ (hh

/
=0, ̆̒̌̉ h<160 ʤʤ. 

ɼʦʧʫʩʪʠʤʘʷ ʰʠʨʠʥʘ ʟʫʙʮʘ: 

bZ2ʜʦʧ= 
BŭĀt:2Ālŭ

BZ2Ālcm2Ākc
,                                                     (45) 

ʛʜʝ ɺZ2 ï ʜʦʧʫʩʪʠʤʦʝ ʟʥʘʯʝʥʠʝ ʠʥʜʫʢʮʠʠ ʥʘ ʫʯʘʩʪʢʘʭ ʤʘʛʥʠʪʥʦʡ ʮʝʧʠ 

ʘʩʠʥʭʨʦʥʥʳʭ ʜʚʠʛʘʪʝʣʝʡ, ʊʣ. ʇʨʠʥʠʤʘʝʤ ʧʦ ʪʘʙʣʠʮʝ 4 ʇʨʠʣʦʞʝʥʠʝ 5 

BZ2=1,8 ʊʣ; 

lʩʪ2 ï ʜʣʠʥʘ ʩʪʘʣʠ ʨʦʪʦʨʘ, lʩʪ2=lŭ, ʤ; 

bZ2ʜʦʧ=
0,749Ā15,2Ā10-3Ā0,14

1,8Ā0,14Ā0,97
=6,52Ā10

-3
 ʤ=6,5 ʤʤ . 

ʈʘʟʤʝʨʳ ʧʘʟʘ ʨʠʩʫʥʦʢ 10 ʇʨʠʣʦʞʝʥʠʝ 5: 
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b1= 
ˊD2-2hh-2hh

ù
-Z2bZ2 

+́Z2
,                                      (46) 

b1=
3,14184-2Ā0,7-2Ā0,3-38Ā6,5

3,14+38
=7,9 ʤʤ. 

b2

b1
2 Z2
ˊ
+
ˊ
2
-4q
c

Z2
ˊ
-
ˊ
2

,                                                  (47) 

b2

7,9
2 38
3,14
+
3,14
2
-4Ā166,8

38
3,14
-
3,14
2

=4,2ʤʤ. 

h1=b1-b2
Z2

2́
,                                                      (48) 

h1=7,9-4,2
38

2Ā3,14
=22,38 ʤʤ.å22,4 ʤʤ. 

32. ʋʪʦʯʥʷʝʤ ʰʠʨʠʥʫ ʟʫʙʮʦʚ ʨʦʪʦʨʘ (ʨʠʩʫʥʦʢ 10 ʇʨʠʣʦʞʝʥʠʝ 5): 

bZ2
/
= ́
D2-2(hh+hh

/
)b1

Z2
-b1,                                              (49) 

bZ2
/
=3,14

184-2(0,7+0,3)Ā7,9

38
-7,9=6,49 ʤʤ.å6,5 ʤʤ. 

bZ2
ùù
=́
D2-2hʧ+b2

Z2
-b2,                                             (50) 

bZ2
ùù
=3,14

184-2Ā29,4+4,2

38
- 4,2=6,5 ʤʤ. 

bZ2
ù
=bZ2
ùù
å6,5 ʤʤ. 

ʇʨʠʥʠʤʘʝʤ ʟʥʘʯʝʥʠʝ ʧʘʟʘ ʨʦʪʦʨʘ ʧʦ ʨʠʩʫʥʢʫ 1ʘ: b1=7,9; b2=4,2; hʧ=22,4. 

ʇʦʣʥʘʷ ʚʳʩʦʪʘ ʧʘʟʘ: 

hn2=hh
/
+hh+

b1

2
+h1+

b2

2
,                                     (51) 

hn2=0,3+0,7+
7,9

2
+22,4+

4,2

2
=29,5 ʤʤ. 

33. ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠ ̫ʩʪʝʨʞʥʷ (ʫʪʦʯʥʝʥʥʘʷ): 

q
c
=
ˊ

8
b1
2
+b2
2
+
1

2
b1+b2Āh1,                                        (52) 



q
c
=
3,14

8
7,9
2
+4,2

2
+0,5Ā7,9+4,2Ā22,4=169,96 ʤʤ2.å167ʤʤ2. 

ʇʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʩʪʝʨʞʥʝ: 

J2=
I2

q
c

,                                                        (53) 

J2=
417

167Ā10-6
=2,5Ā10

6 ɸ/ʤ. 

34. ʂʦʨʦʪʢʦʟʘʤʳʢʘʶʱʠʝ ʢʦʣʴʮʘ. ʇʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʢʦʣʴʮʘ: 

q
ʢʣ
= 
Iʢʣ

Jʢʣ
,                                                   (54) 

ʛʜʝ Jʢʣ ï ʧʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ ʟʘʤʳʢʘʶʱʠʭ ʢʦʣʴʮʘʭ, ɸ/ʤ
2
. ʇʣʦʪʥʦʩʪʴ ʪʦʢʘ ʚ 

ʟʘʤʳʢʘʶʱʠʭ ʢʦʣʴʮʘʭ Jʢʣ ʚʳʙʠʨʘʶʪ ʚ ʩʨʝʜʥʝʤ ʥʘ 15...20% ʤʝʥʴʰʝ, ʯʝʤ ʚ 

ʩʪʝʨʞʥʷʭ. 

Iʢʣ ï ʪʦʢ ʚ ʢʦʣʴʮʘʭ, ɸ. 

Iʢʣ=
I2

æ
,                                                        55 

æ=2sin
ʘZ

2
=2sin

Ā́p

Z2
,                                             (56) 

æ=2sin
2Ā180

38
=0,329  

Iʢʣ=
417

0,329
=1267 A. 

Jʢʣ=0,85ĀJ2,                                                        (57) 

Jʢʣ=0,85Ā2,5Ā10
6
=2,13Ā10

6
ɸ/ʤ2.  

q
ʢʣ
=
1267

2,13Ā106
=595 ʤʤ2. 

ʈʘʟʤʝʨʳ ʢʦʨʦʪʢʦʟʘʤʳʢʘʶʱʠʭ ʢʦʣʝʮ: 

hʢʣ=1,25Āhn2,                                                   (58) 

hʢʣ=1,25Ā29,5=37 ʤʤ. 

bʢʣ=
q
ʢʣ

hʢʣ
,                                                         (59) 

bʢʣ=
595

37
=16 ʤʤ. 
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q
ʢʣ
=hʢʣĀbʢʣ,                                                     (60) 

q
ʢʣ
=37Ā16=592 ʤʤ2. 

Dʢ.ʩʨ=D2-hʢʣ,                                                  (61) 

Dʢ.ʩʨ=184-37=147 ʤʤ.=0,147 ʤ. 

 

ʈʘʩʯʝʪ ʤʘʛʥʠʪʥʦʡ ʮʝʧʠ 

 

ʄʘʛʥʠʪʦʧʨʦʚʦʜ ʠʟ ʩʪʘʣʠ 2013; ʪʦʣʱʠʥʘ ʣʠʩʪʦʚ 0,5 ʤʤ. 

35 ʄʘʛʥʠʪʥʦʝ ʥʘʧʨʷʞʝʥʠʝ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ: 

Fŭ=
2

ɛ
0

ĀɺŭĀŭĀkŭ,                                                  (62) 

ʛʜʝ ɺŭ ï ʠʥʜʫʢʮʠʷ ʚ ʚʦʟʜʫʰʥʦʤ ʟʘʟʦʨʝ, ʊʣ; 

ŭ ï ʚʦʟʜʫʰʥʳʡ ʟʘʟʦʨ, ʤ; 

kɿ ï ʢʦʵʬʬʠʮʠʝʥʪ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ; 

ʈ0 ï ʤʘʛʥʠʪʥʘʷ ʧʨʦʥʠʮʘʝʤʦʩʪʴ, ɻʥ/ʤ: ʈ0=4 Ā́10
-7
 ɻʥ/ʤ. 

ʂʦʵʬʬʠʮʠʝʥʪ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ: 

kŭ=
tZ1

tZ1-ɔ1Āŭ
,                                                 (63) 

ɔ
1
=
(bh1/ŭ)

2

5+bh1/ŭ
,                                                 (64) 

ʛʜʝ bʰ1 ï ʨʘʟʤʝʨ ʧʘʟʘ ʚ ʰʪʘʤʧʝ; bʰ1=b =h3,7 ʤʤ. 

ɔ
1
=
(3,7/0,5)

2

5+3,7/0,5
=4,42 

kŭ=
12,1

12,1-4,42Ā0,5
=1,22  

Fŭ=1,59Ā10
6
Ā0,749Ā1,22Ā0,5Ā10

-3
=726,5 ɸ. 

36. ʄʘʛʥʠʪʥʦʝ ʥʘʧʨʷʞʝʥʠʝ ʟʫʙʮʦʚʦʡ ʟʦʥr ʩʪʘʪʦʨʘ: 

Fz1=2hz1Hz1,                                                  (65) 

ʛʜʝ hZ1 ï ʨʘʩʯʝʪʥʘʷ ʚʳʩʦʪʘ ʟʫʙʮʘ ʩʪʘʪʦʨʘ, ʤ; hZ1=hʧ=21,2 ʤʤ. 



HZ1 ï ʨʘʩʯʝʪʥʘʷ ʥʘʧʨʷʞʝʥʥʦʩʪʴ ʧʦʣʷ ʚ ʟʫʙʮʝ, ɸ/ʤ. ɿʥʘʯʝʥʠʝ ʨʘʩʯʝʪʥʦʡ 

ʥʘʧʨʷʞʝʥʥʦʩʪʠ ʧʨʠʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʝ 14 ʇʨʠʣʦʞʝʥʠʝ 5.  

ʇʦ ʪʘʙʣʠʮʝ 14 HZ1=2070 ɸ/ʤ. 

Fz1=2Ā21,2Ā10
-3
Ā2070=87,8 A. 

ʈʘʩʯʝʪʥʘʷ ʠʥʜʫʢʮʠʷ ʚ ʟʫʙʮʘʭ: 

ɺZ1
'= 

BŭĀt:1Ālŭ

bZ2Ālcm1Ākc1
,                                               (66) 

ʛʜʝ kC1 ï ʢʦʵʬʬʠʮʠʝʥʪ ʟʘʧʦʣʥʝʥʠʷ ʩʪʘʣʴʶ ʤʘʛʥʠʪʦʧʨʦʚʦʜʦʚ ʩʪʘʪʦʨʘ ʠ ʨʦʪʦʨʘ, 

ʧʦ ʪʘʙʣʠʮʝ 5 ʇʨʠʣʦʞʝʥʠʝ 5 kc1=0,97. 

ɺZ1
'= 
0,749Ā12,1Ā0,14

4,9Ā0,14Ā0,97
=1,91 ʊʣ. 

ʊʘʢ ʢʘʢ ɺZ1
'>1,8 ʊʣ, ʥʝʦʙʭʦʜʠʤʦ ʫʯʝʩʪʴ ʦʪʚʝʪʚʣʝʥʠʝ ʧʦʪʦʢʘ ʚ ʧʘʟ ʠ ʥʘʡʪʠ 

ʜʝʡʩʪʚʠʪʝʣʴʥʫʶ ʠʥʜʫʢʮʠʶ ʚ ʟʫʙʮʝ ɺZ1. ʂʦʵʬʬʠʮʠʝʥʪ, ʦʧʨʝʜʝʣʷʶʱʠʡ 

ʦʪʥʦʰʝʥʠʝ ʧʣʦʱʘʜʝʡ ʧʦʧʝʨʝʯʥʳʭ ʩʝʯʝʥʠʡ ʧʘʟʘ ʠ ʟʫʙʮʘ kʧʭ ʥʘ ʚʳʩʦʪʝ 

hZx=0,5hZ: 

ʂʦʵʬʬʠʮʠʝʥʪ, ʦʧʨʝʜʝʣʷʶʱʠʡ ʦʪʥʦʰʝʥʠʝ ʧʣʦʱʘʜʝʡ ʧʦʧʝʨʝʯʥʳʭ ʩʝʯʝʥʠʡ 

ʧʘʟʘ ʠ ʟʫʙʮʘ: 

kʧʭ=
bʧʭĀlŭ

bZxĀlʩʪ1Ākʉ1
,                                                (67) 

ʛʜʝ bZx=bZ1=4,9 ʤʤ. 

bʧʭ
b1+b2

2
,                                                    (68) 

bʧʭ=
7,6+10

2
=8,8 

kʧʭ=
8,8Ā0,14

4,9Ā0,14Ā0,97
=1,85 

BZ1=ɺZ1
'-ʈ0ĀHZ1Ākʧʭ, (69) 

ʇʨʠʥʠʤʘʝʤ BZ1=1,9 ʊʣ, ʧʨʦʚʝʨʷʝʤ ʩʦʦʪʥʦʰʝʥʠʝ BZ1 ʠ ɺZ1
' : 

1,9=1,91-1,256Ā10
-6
Ā2070Ā1,85=1,9 

37. ʄʘʛʥʠʪʥʦʝ ʥʘʧʨʷʞʝʥʠʝ ʟʫʙʮʦʚʦʡ ʟʦʥʳ ʨʦʪʦʨʘ: 

Fz2=2hz2ĀHz2,                                                          (70) 
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ʛʜʝ hZ2 ï ʨʘʩʯʝʪʥʘʷ ʚʳʩʦʪʘ ʟʫʙʮʘ, ʤ; hZ2=hʧ2-0,1Āb2=29,4-0,1Ā4,2=29 ʤʤ. 

HZ1 ï ʨʘʩʯʝʪʥʘʷ ʥʘʧʨʷʞʝʥʥʦʩʪʴ ʧʦʣʷ ʚ ʟʫʙʮʝ ʨʦʪʦʨʘ, ɸ/ʤ. ɿʥʘʯʝʥʠʝ 

ʨʘʩʯʝʪʥʦʡ ʥʘʧʨʷʞʝʥʥʦʩʪʠ ʧʨʠʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʝ 14 ʇʨʠʣʦʞʝʥʠʝ 5.  

ʇʦ ʪʘʙʣʠʮʝ 14 HZ2=1570 ɸ/ʤ. 

Fz2=2Ā0,029Ā1570=91,1 A. 

ʀʥʜʫʢʮʠʷ ʚ ʟʫʙʮʝ: 

BZ2= 
BŭĀt:2Ālŭ

bZ2Ālcm2Ākcς
,                                               (71) 

BZ2= 
0,749Ā15,2Ā10-3Ā0,14

6,5Ā10-3Ā0,14Ā0,97
=1,81ʊʣ. 

38. ʂʦʵʬʬʠʮʠʝʥʪ ʥʘʩʳʱʝʥʠʷ ʟʫʙʮʦʚʦʡ ʟʦʥʳ: 

kz=1+
Fz1+Fz2

Fŭ
,                                               (72) 

kz=1+
87,8+91,1

726,5
=1,25 

39. ʄʘʛʥʠʪʥʳʝ ʥʘʧʨʷʞʝʥʠʷ ʷʨʤʘ ʩʪʘʪʦʨʘ: 

Fa=LaĀHa,                                                    (73) 

ʛʜʝ Lʘ ï ʜʣʠʥʘ ʩʨʝʜʥʝʡ ʤʘʛʥʠʪʥʦʡ ʩʠʣʦʚʦʡ ʣʠʥʠʠ ʚ ʷʨʤʝ ʩʪʘʪʦʨʘ, ʤ; 

Hʘ ï ʥʘʧʨʷʞʝʥʥʦʩʪʴ ʧʦʣʷ ʧʨʠ ʠʥʜʫʢʮʠʠ Bʘ ʧʦ ʢʨʠʚʦʡ ʥʘʤʘʛʥʠʯʠʚʘʥʠʷ ʜʣʷ 

ʷʨʤʘ, ʧʨʠʥʷʪʦʡ ʧʨʠ ʧʨʦʝʢʪʠʨʦʚʘʥʠʠ ʩʪʘʣʠ, ɸ/ʤ. 

La=
(́Da-ha)

2p
,                                                 (74) 

ʛʜʝ hʘ ï ʚʳʩʦʪʘ ʷʨʤʘ ʩʪʘʪʦʨʘ, ʤ. 

hʘ=
D2-D

2
-hn1,                                                (75) 

hʘ=
0,272-0,185

2
-21,2Ā10

-3
=22,3Ā10

-3
ʤ. 

La=
3,14(0,272-0,0223)

2Ā2
=0,196 ʤ. 

Ba=
ʌ

2haĀlcm1Ākc
,                                               (76) 



Ba=
9,7Ā10-3

2Ā22,3Ā10-3Ā0,14Ā0,97
=1,6 ʊʣ. 

ʇʨʠ ʦʪʩʫʪʩʪʚʠʠ ʨʘʜʠʘʣʴʥʳʭ ʚʝʥʪʠʣʷʮʠʦʥʥʳʭ ʢʘʥʘʣʦʚ ʚ ʩʪʘʪʦʨʝ 

hʘ
'
=hʘ=22,3Ā10

-3
 ʤ, ʜʣʷ Bʘ=1,6 ʊʣ ʧʦ ʪʘʙʣʠʮʝ 13 ʇʨʠʣʦʞʝʥʠʝ 5 ʥʘʭʦʜʠʤ 

Hʘ=750 ɸ/ʤ. 

Fa=0,196Ā750=147 A. 

40. ʄʘʛʥʠʪʥʦʝ ʥʘʧʨʷʞʝʥʠʝ ʷʨʤʘ ʨʦʪʦʨʘ: 

Fj=LjĀHj,                                                       (77) 

ʛʜʝ Lj ï ʜʣʠʥʘ ʩʨʝʜʥʝʡ ʤʘʛʥʠʪʥʦʡ ʩʠʣʦʚʦʡ ʣʠʥʠʠ ʚ ʷʨʤʝ ʨʦʪʦʨʘ, ʤ; 

Hj ï ʥʘʧʨʷʞʝʥʥʦʩʪʴ ʧʦʣʷ ʚ ʷʨʤʝ ʧʨʠ ʠʥʜʫʢʮʠʠ Bj ʧʦ ʢʨʠʚʦʡ 

ʥʘʤʘʛʥʠʯʠʚʘʥʠʷ ʜʣʷ ʷʨʤʘ ʧʨʠʥʷʪʦʡ ʧʨʠ ʧʨʦʝʢʪʠʨʦʚʘʥʠʠ ʩʪʘʣʠ, ɸ/ʤ. 

Lj=
(́Dj+hj)

2p
,                                                 (78) 

ʛʜʝ hjï ʨʘʩʯʝʪʥʘʷ ʚʳʩʦʪʘ ʷʨʤʘ ʨʦʪʦʨʘ, ʤ. 

hj=
D2-Dj

2
-hn2,                                            (79) 

hj=
0,184-0,06

2
-29,4Ā10

-3
=32,6Ā10

-3
ʤ. 

Lj=
3,14(60-32,6)Ā10-3

2Ā2
=72,7Ā10

-3
Aʤϳ . 

Bj=
ʌ

2hj
ù
lcm2kc2

,                                             (80) 

ɼʣʷ ʯʝʪʳʨʝʭʧʦʣʶʩʥʳʭ ʤʘʰʠʥ ʧʨʠ 0,75Ā(0,5ĀD2-hʧ2)<Dj 

hj
ù
=
2+p

3,2p
Ā(
D2

2
-hʧ2)-

2

3
dk2Āmʢ2,                                        (81) 

ʛʜʝ dk2 ʠ mk2 ï ʜʠʘʤʝʪʨ ʠ ʯʠʩʣʦ ʨʷʜʦʚ ʘʢʩʠʘʣʴʥʳʭ ʚʝʥʪʠʣʷʮʠʦʥʥʳʭ ʢʘʥʘʣʦʚ ʚ 

ʨʦʪʦʨʝ; ʧʨʠ ʦʪʩʫʪʩʪʚʠʠ ʢʘʥʘʣʦʚ mk2=0. 

hj
ù
=
2+2

3,2Ā2
Ā(0,5Ā0,184-29,5Ā10

-3
)=39,1Ā10

-3
 ʤ. 

Bj=
9,7Ā10-3

2Ā39,1Ā10-3Ā0,14Ā0.97
=0,91 ʊʣ. 
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ɼʣʷ Bj=0,91 ʊʣ ʧʦ ʪʘʙʣʠʮʝ 13 ʇʨʠʣʦʞʝʥʠʝ 5 ʥʘʭʦʜʠʤ Hj=155 ɸ/ʤ. 

Fj=72,7Ā10
-3
Ā155=11,3 A. 

41. ʄʘʛʥʠʪʥʦʝ ʥʘʧʨʷʞʝʥʠʝ ʥʘ ʧʘʨʫ ʧʦʣʶʩʦʚ: 

Fʮ=Fŭ+Fz1+Fz2+Fa+Fj,                                          (82) 

Fʮ=726,5+87,8+91,1+147+11,3=1063,7 A. 

42. ʂʦʵʬʬʠʮʠʝʥʪ ʥʘʩʳʱʝʥʠʷ ʤʘʛʥʠʪʥʦʡ ʮʝʧʠ: 

kɛ=
Fʮ

Fŭ
,                                                             (83) 

kɛ=
1063,7 

726,5
=1,46 

43. ʅʘʤʘʛʥʠʯʠʚʘʶʱʠʡ ʪʦʢ: 

Iɛ=
pĀFʮ

0,9m1Āw1Ākʦʙ1
,                                               (84) 

Iɛ=
3Ā1063,7

0,9Ā3Ā104Ā0,958
=7,91 A. 

ʆʪʥʦʩʠʪʝʣʴʥʦʝ ʟʥʘʯʝʥʠʝ: 

Iɛ*=
Iɛ

I1H
,                                                      (85) 

Iɛ*=
7,91

29,3
=0,27 

0,2<Iɛ*< 0,3 

 

ʇʘʨʘʤʝʪʨʳ ʨʘʙʦʯʝʛʦ ʨʝʞʠʤʘ 

 

44. ɸʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ: 

r1=KRĀɟɜĀ
L1

qɻ
ʬ
a1
,                                                   (86) 

ʛʜʝ L1 ï ʦʙʱʘʷ ʜʣʠʥʘ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʬʘʟʳ ʦʙʤʦʪʢʠ, ʤ; 

qʵʬ ï ʧʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ, ʤ
2
; 

ɟʉ ï ʫʜʝʣʴʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʤʘʪʝʨʠʘʣʘ ʦʙʤʦʪʢʠ ʧʨʠ ʨʘʩʯʝʪʥʦʡ 

ʪʝʤʧʝʨʘʪʫʨʝ, ʆʤĀʤ; 



KR ï ʢʦʵʬʬʠʮʠʝʥʪ ʫʚʝʣʠʯʝʥʠʷ ʘʢʪʠʚʥʦʛʦ ʩʦʧʨʦʪʠʚʣʝʥʠʷ ʬʘʟʳ ʦʙʤʦʪʢʠ ʦʪ 

ʜʝʡʩʪʚʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ, KR=1. 

ɺ ʜʘʥʥʦʤ ʨʘʩʯʝʪʝ ὥ1=3. 

ɼʣʷ ʢʣʘʩʩʘ ʥʘʛʨʝʚʦʩʪʦʡʢʦʩʪʠ ʠʟʦʣʷʮʠʠ F ʨʘʩʯʝʪʥʘʷ ʪʝʤʧʝʨʘʪʫʨʘ 

ɜʨʘʩʯ=115Üʉ; ʜʣʷ ʤʝʜʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ɟ115=10
-6
/41 ʆʤĀʤ. (ʪʘʙʣʠʮʘ 20 

ʇʨʠʣʦʞʝʥʠʝ 5) 

ɼʣʠʥʘ ʧʨʦʚʦʜʥʠʢʦʚ ʬʘʟʳ ʦʙʤʦʪʢʠ: 

L1=lcp1Āw1,                                                      (87) 

ʛʜʝ lcp1 - ʩʨʝʜʥʷʷ ʜʣʠʥʘ ʚʠʪʢʘ ʦʙʤʦʪʢʠ, ʤ; 

w1 - ʯʠʩʣʦ ʚʠʪʢʦʚ ʬʘʟʳ. 

lcp1=2ln1+lʣ1,                                              (88) 

ʛʜʝ ln1 - ʜʣʠʥʘ ʧʘʟʦʚʦʡ ʯʘʩʪʠ, ʤ. 

ɼʣʠʥʘ ʧʘʟʦʚʦʡ ʯʘʩʪʠ ln1 ʨʘʚʥʘ ʢʦʥʩʪʨʫʢʪʠʚʥʦʡ ʜʣʠʥʝ ʩʝʨʜʝʯʥʠʢʦʚ ʤʘʰʠʥʳ. 

ln1=l1=0,14 ʤ. 

lʣ1=ʂʣĀbʢm+2B,                                                  (89) 

ʛʜʝ ʂʣ ï ʢʦʵʬʬʠʮʠʝʥʪ ʟʥʘʯʝʥʠʝ ʢʦʪʦʨʦʛʦ ʙʝʨʫʪ ʠʟ ʪʘʙʣʠʮʳ 9 ʇʨʠʣʦʞʝʥʠʝ 5, 

ʂʣ=1,3; 

bʢʪ ï ʩʨʝʜʥʷʷ ʰʠʨʠʥʘ ʢʘʪʫʰʢʠ, ʤ, ʦʧʨʝʜʝʣʷʝʤʘʷ ʧʦ ʜʫʛʝ ʦʢʨʫʞʥʦʩʪʠ, 

ʧʨʦʭʦʜʷʱʝʡ ʧʦ ʩʝʨʝʜʠʥʘʤ ʚʳʩʦʪʳ ʧʘʟʦʚ. 

ɼʣʷ ʚʩʳʧʥʦʡ ʦʙʤʦʪʢʠ, ʫʢʣʘʜʳʚʘʝʤʦʡ ʚ ʧʘʟʳ ʜʦ ʟʘʧʨʝʩʩʦʚʢʠ ʩʝʨʜʝʯʥʠʢʘ ʚ 

ʢʦʨʧʫʩ, ʙʝʨʫʪ ɺ=0,01 ʤ. 

bkm=
(́D+hn1)

2p
Āɓ,                                              (90) 

ʛʜʝ ɓ ï ʫʢʦʨʦʯʝʥʠʝ ʰʘʛʘ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ. 

ɼʣʷ ʜʠʘʤʝʪʨʘʣʴʥʳʭ ʜʚʫʭʩʣʦʡʥʳʭ ʦʙʤʦʪʦʢ, ʚʳʧʦʣʥʝʥʥʳʭ ʙʝʟ ʫʢʦʨʦʯʝʥʠʷ 

ʰʘʛʘ, ʠ ʜʣʷ ʦʜʥʦʩʣʦʡʥʳʭ ʦʙʤʦʪʦʢ, ʚʢʣʶʯʘʷ ʦʙʤʦʪʢʠ ʠʟ ʢʦʥʮʝʥʪʨʠʯʝʩʢʠʭ 

ʢʘʪʫʰʝʢ, ʠʤʝʶʱʠʭ ʨʘʟʥʫʶ ʰʠʨʠʥʫ, ʧʨʠʥʠʤʘʶʪ ɓ=1. 

bkm=
3,140,185+0,0212

2Ā2
Ā1=0,162 ʤ. 

lʣ1=1,3Ā0,162+2Ā0,01=0,231 ʤ. 



32 
 

lcp1=20,14+0,231=0,742 ʤ. 

L1=0,742Ā104=77,17 ʤ. 

r1=
10-6Ā77,17

41Ā5,3Ā10-6Ā1
=0,355 Oʤ. 

ɼʣʠʥʘ ʚʳʣʝʪʘ ʣʦʙʦʚʦʡ ʯʘʩʪʠ ʢʘʪʫʰʢʠ: 

lʚʳʣ=Kʚʳʣbʢm+B,                                                (91) 

ʛʜʝ ʂʣ ï ʢʦʵʬʬʠʮʠʝʥʪ ʟʥʘʯʝʥʠʝ ʢʦʪʦʨʦʛʦ ʙʝʨʫʪ ʠʟ ʪʘʙʣʠʮʳ 9 ʇʨʠʣʦʞʝʥʠʝ 5, 

ʂʣ=0,4. 

lʚʳʣ=0,4Ā0,162+0,01=0,0748 ʤ. 

ʆʪʥʦʩʠʪʝʣʴʥʦʝ ʟʥʘʯʝʥʠʝ r1: 

r
1*
=r1Ā

I1ʥʦʤ

U1ʥʦʤ
,                                                      (92) 

r
1*
=0,355Ā

29,3

220
=0,047 

45. ɸʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʬʘʟʳ ʘʣʶʤʠʥʠʝʚʦʡ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ: 

r2=rc+
2rʢʣ

æ2
Ākr,                                                     (93) 

ʉʦʧʨʦʪʠʚʣʝʥʠʝ ʩʪʝʨʞʥʷ: 

rc=ɟʩĀ
l2

q
c

,                                                           (94) 

ʛʜʝ qʩ ï ʩʝʯʝʥʠʝ ʩʪʝʨʞʥʷ, ʤ
2
; 

kr ï ʢʦʵʬʬʠʮʠʝʥʪ ʫʚʝʣʠʯʝʥʠʷ ʘʢʪʠʚʥʦʛʦ ʩʦʧʨʦʪʠʚʣʝʥʠʷ ʩʪʝʨʞʥʷ ʦʪ 

ʜʝʡʩʪʚʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ; ʧʨʠ ʨʘʩʯʝʪʝ ʨʘʙʦʯʠʭ ʨʝʞʠʤʦʚ ʚ ʧʨʝʜʝʣʘʭ 

ʠʟʤʝʥʝʥʠʷ ʩʢʦʣʴʞʝʥʠʷ ʦʪ ʭʦʣʦʩʪʦʛʦ ʭʦʜʘ ʜʦ ʥʦʤʠʥʘʣʴʥʦʛʦ ʜʣʷ ʚʩʝʭ ʨʦʪʦʨʦʚ 

ʧʨʠʥʠʤʘʶʪ kr=1. 

ɟʩ ï ʩʦʦʪʚʝʪʩʪʚʝʥʥʦʝ ʫʜʝʣʴʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʤʘʪʝʨʠʘʣʘ ʩʪʝʨʞʥʷ 

ʟʘʤʳʢʘʶʱʠʭ ʢʦʣʝʮ ʧʨʠ ʨʘʩʯʝʪʥʦʡ ʪʝʤʧʝʨʘʪʫʨʝ 115Üʉ, ʆʤĀʤ. ɼʘʥʥʳʝ ʧʦ 

ʫʜʝʣʴʥʦʤʫ ʩʦʧʨʦʪʠʚʣʝʥʠʶ ʧʨʠʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʝ 20 ʇʨʠʣʦʞʝʥʠʝ 5. 

ɼʣʷ ʣʠʪʦʡ ʘʣʶʤʠʥʠʝʚʦʡ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ ɟ
ʩ
”ʢʣ=ɟ115=

10-6

20,5
 OʤĀʤ. 



rc=
10-6

20,5
Ā
0,14

167Ā10-6
=40,89Ā10

-6 Oʤ. 

ʉʦʧʨʦʪʠʚʣʝʥʠʝ ʫʯʘʩʪʢʘ ʟʘʤʳʢʘʶʱʝʛʦ ʢʦʣʴʮʘ: 

rʢʣ=ɟʢʣĀ
Ā́Dʢʣ.ʩʨ

Z2Āqʢʣ
,                                                         (95) 

ʛʜʝ Dʢʣ.ʩʨ ï ʩʨʝʜʥʠʡ ʜʠʘʤʝʪʨ ʟʘʤʳʢʘʶʱʠʭ ʢʦʣʝʮ, ʤ; 

qʢʣ ï ʧʣʦʱʘʜʴ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʟʘʤʳʢʘʶʱʝʛʦ ʢʦʣʴʮʘ, ʤ
2
; 

ɟʢʣ ï ʩʦʦʪʚʝʪʩʪʚʝʥʥʦʝ ʫʜʝʣʴʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʤʘʪʝʨʠʘʣʘ ʩʪʝʨʞʥʷ 

ʟʘʤʳʢʘʶʱʠʭ ʢʦʣʝʮ ʧʨʠ ʨʘʩʯʝʪʥʦʡ ʪʝʤʧʝʨʘʪʫʨʝ 115Üʉ, ʆʤĀʤ. ɼʘʥʥʳʝ ʧʦ 

ʫʜʝʣʴʥʦʤʫ ʩʦʧʨʦʪʠʚʣʝʥʠʶ ʧʨʠʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʝ 20 ʇʨʠʣʦʞʝʥʠʝ 5. 

Dʢʣ.ʩʨ=D2-hʢʣ, (96) 

Dʢʣ.ʩʨ=0,184-0,037=0,147 ʤ. 

rʢʣ=
10-6

20,5
Ā
3,14Ā0,148

38Ā595Ā10-6
=10

-6
 Oʤ. 

r2=40,89 Ā10
-6
+
2Ā10-6

0,3292
=59,37Ā10

-6
 Oʤ. 

ʇʨʠʚʦʜʠʤ  r2 ʢ ʯʠʩʣʫ ʚʠʪʢʦʚ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ: 

r2
ù=  r2Ā

4m1Ā(w1Ākʦʙ1)
2

Z2Ākck
2

,                                             (97) 

r2
ù=59,37Ā10

-64Ā3(104Ā0,958)
2

38
=0,186 Oʤ. 

ʆʪʥʦʩʠʪʝʣʴʥʦʝ ʟʥʘʯʝʥʠʝ: 

r
2*
ù
=r2
ùĀ
I1ʥʦʤ

U1ʥʦʤ
,                                                       (98) 

r
2*
ù
=0,186Ā

29,3

220
=0,0248 

46. ʀʥʜʫʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʬʘʟʳ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ:  

ʈʠʩʫʥʦʢ 11ʝ ʇʨʠʣʦʞʝʥʠʝ 5 ʠ ʨʠʩʫʥʦʢ 1. ɼʣʷ ʦʜʥʦʩʣʦʡʥʦʡ ʦʙʤʦʪʢʠ 

lŭ
ù
=lŭ=0,14 ʤ. 

X1=15,8Ā
f
1

100
Ā
w1

100

2

Ā
lŭ
ù

pĀq
Āɚn1+ɚʣ1+ɚÖ1,                             (99) 
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ʛʜʝ ɚʧ1 ï ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʧʘʟʦʚʦʛʦ ʨʘʩʩʝʷʥʠʷ; 

ɚʣ1 ï ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʣʦʙʦʚʦʛʦ ʨʘʩʩʝʷʥʠʷ; 

ɚʜ1 ï ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʜʠʬʬʝʨʝʥʮʠʘʣʴʥʦʛʦ 

ʨʘʩʩʝʠʚʘʥʠʷ. 

ɚn1=
h2

3b1
Ākɓ+(

h1

b1
+
3hk

b1+2bh
+
hh

bh
Ākɓ
'
,                                     (100) 

h2=hn.k-2bʠʟ,                                                      (101) 

h2=18,3-2Ā0,4=17,5 ʤʤ. 

hk=0,5b1-bh ,                                               (102) 

hk=0,57,6-3,7=1,95 ʤʤ. 

ʊ.ʢ. ʧʨʦʚʦʜʥʠʢʠ ʟʘʢʨʝʧʣʝʥʳ ʧʘʟʦʚʦʡ ʢʨʳʰʢʦʡ, ʪʦ h1=0, kɓ=1, kɓ
/
=1. 

ɼʣʷ ʜʚʫʭʩʣʦʡʥʦʡ ʦʙʤʦʪʢʠ ʩ ʫʢʦʨʦʯʝʥʥʳʤ ʰʘʛʦʤ kɓ=0,25(1+3kɓ
/
); 

 kɓ
/
=0,25(1+3ɓ) 

ɚn1=
17,3

3Ā7,6
+(
3Ā1,95

7,6+2Ā3,7
+
1

3,7
)Ā1=1,42 

ɚʣ1=0,34Ā
q

lŭ
ù
Ālʣ1-0,64ɓĀŰ,                                            (103) 

ʛʜʝ q ï ʯʠʩʣʦ ʧʘʟʦʚ ʥʘ ʧʦʣʶʩ ʠ ʬʘʟʫ; 

lʣ ï ʜʣʠʥʘ ʣʦʙʦʚʦʡ ʯʘʩʪʠ ʚʠʪʢʘ ʦʙʤʦʪʢʠ; 

ɓ ï ʫʢʦʨʦʯʝʥʠʝ ʰʘʛʘ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ. 

ɚʣ1=0,34Ā
4

0,14
Ͻ0,231-0,64Ā1Ā0,145=1,34 

ɚÖ1=
tZ1

12ŭkŭ
Āɝ,                                                        (104) 

ʛʜʝ ɝ ï ʢʦʵʬʬʠʮʠʝʥʪ ʟʘʚʠʩʷʱʠʡ ʦʪ ʯʠʩʣʘ q, ʫʢʦʨʦʯʝʥʠʷ ʰʘʛʘ ʦʙʤʦʪʢʠ, 

ʨʘʟʤʝʨʥʳʭ ʩʦʦʪʥʦʰʝʥʠʡ ʟʫʙʮʦʚʳʭ ʟʦʥ ʠ ʚʦʟʜʫʰʥʦʛʦ ʟʘʟʦʨʘ. 

ɝ=2kck
ù
kɓ-kʦʙ1

2
(
tz1

tz2
)
2

Ā1+ɓ
ck

2
,                                (105) 

ʛʜʝ ʜʣ ̫ɓ
ck
=0 ʠ 

tz1

tz2
=
15,2

12,1
=1,26 ʧʦ ʨʠʩʫʥʢʫ 12ʜ ʇʨʠʣʦʞʝʥʠʝ 5, kck

ù
=1,25. 

ɝ=2Ā1,25-0,958
2
(
15,2

12,1
)

2

=1,05 



ɚÖ1=
12,1

12Ā0,5Ā1,22
Ā1,05=1,74 

X1=15,8Ā
50

100
Ā
104

100

2

Ā
0,14

2Ā4
1,42+1,34+1,74=0,673 Oʤ. 

ʆʪʥʦʩʠʪʝʣʴʥʦʝ ʟʥʘʯʝʥʠʝ: 

x
1*
=X1Ā

I1ʥʦʤ

U1ʥʦʤ
,                                                  (106) 

x
1*
=0,673Ā

29,3

220
=0,09 

47. ʀʥʜʫʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʬʘʟʳ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ: 

x2=7,9Āf1Ālŭ
ù
Āɚn2+ɚʣ2+ɚÖ2+ɚck,                                 (107) 

ʛʜʝ ɚʧ2 ï ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʧʘʟʦʚʦʛʦ ʨʘʩʩʝʷʥʠʷ; 

ɚʣ2 ï ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʣʦʙʦʚʦʛʦ ʨʘʩʩʝʷʥʠʷ; 

ɚʜ2 ï ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʜʠʬʬʝʨʝʥʮʠʘʣʴʥʦʛʦ 

ʨʘʩʩʝʠʚʘʥʠʷ; 

ɚck ï ʢʦʵʬʬʠʮʠʝʥʪ ʧʨʦʚʦʜʠʤʦʩʪʠ ʩʢʦʩʘ. 

ɚn2=
h0

3b1
Ā1-

b́1
2

8q
c

+0,66-
bh

2b1
ĀkÖ+
hh

bh
+1,12Ā

hh
ù
Ā106

I2
,             (108) 

ʇʦ ʨʠʩʫʥʢʫ 13ʘ,ʞ ʇʨʠʣʦʞʝʥʠʝ 5 ʠ ʨʠʩʫʥʦʢ 1 (ʜʣʷ ʜʚʠʛʘʪʝʣʝʡ ʩ h<160 ʤʤ, 

hh
ù
=0) q

ʩ
=167 ʤʤ2; b1=7,9 ʤʤ; bh=1,5ʤʤ; hh=0,7 ʤʤ;hh

ù
=0,3 ʤʤ. 

h0=h1+0,4b2,                                                (109) 

h0=22,4+0,4Ā4,2=24,08 ʤʤ.  

ɚn2=
24,08

3Ā7,9
Ā1-
3,14Ā7,92

8Ā167
+0,66-

1,5

2Ā7,9
Ā1+
0,7

1,5
+1,12Ā

0.03Ā10-3Ā106

417
=2,58 

ɚʣ2=
2,3Dk.cp

Z2lŭ
ù
æ2
Ālg
4,7Dk.cp

aʢʣ+2bʢʣ
,                                         (110) 

ɚʣ2=
2,3Ā0,147

38Ā0,14Ā0,3292
Ālg

4,7Ā0,147

0,016+2Ā0,037
=0,587 

ɚÖ2=
tZ2

12ŭkŭ
Āɝ,                                             (111) 

ʊʘʢ ʢʘʢ ʧʨʠ ʟʘʢʨʳʪʳʭ ʧʘʟʘʭ æZå0. 
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ɝ=1+
1

5
  
ṕ

Z2
 
2

-
æZ

1- 
p
Z2
 
2
=1,005 

x2=7,9Ā50Ā0,142,58+0,59+2,09=291Ā10
-6
ʆʤ. 

ʇʨʠʚʦʜʠʤ ʢ ʯʠʩʣʫ ʚʠʪʢʦʚ ʩʪʘʪʦʨʘ: 

x2
ù=x2Ā

4mĀ(w1Ākʦʙ1)
2

Z2Ākck
2

,                                             (112) 

x2
ù=291Ā10

-64Ā3(104Ā0,958)
2

38Ā12
=0,912 ʆʤ. 

ʆʪʥʦʩʠʪʝʣʴʥʦʝ ʟʥʘʯʝʥʠʝ: 

x
2*
ù
=x2
ùĀ
I1ʥʦʤ

U1ʥʦʤ
,                                                (113) 

x
2*
ù
=0,912Ā

29,3

220
=0,121 

ʈʘʩʯʝʪ ʧʦʪʝʨʴ 

48. ʆʩʥʦʚʥʳʝ ʧʦʪʝʨʠ ʚ ʩʪʘʣʠ: 

ʈʩm.ʦʩʥ=p1,05,0ϳ Ā(
f
1

50
)

ɓ

ĀkÖaĀBa
2Āma+kÖzĀBz1

2Āmz1,                   (114) 

ʛʜʝ p
1,05,0ϳ  ï ʫʜʝʣʴʥʳʝ ʧʦʪʝʨʠ ʧʨʠ ʠʥʜʫʢʮʠʠ 1 ʊʣ ʠ ʯʘʩʪʦʪʝ ʧʝʨʝʤʘʛʥʠʯʠʚʘʥʠʷ 

50 ɻʮ, ʢɺʪ/ʢʛ; 

ɓ ï ʧʦʢʘʟʘʪʝʣʴ ʩʪʝʧʝʥʠ, ʫʯʠʪʳʚʘʶʱʠʡ ʟʘʚʠʩʠʤʦʩʪʴ ʧʦʪʝʨʴ ʚ ʩʪʘʣʠ ʦʪ 

ʯʘʩʪʦʪʳ ʧʝʨʝʤʘʛʥʠʯʠʚʘʥʠʷ; ʜʣʷ ʙʦʣʴʰʠʥʩʪʚʘ ʵʣʝʢʪʨʦʪʝʭʥʠʯʝʩʢʠʭ ʩʪʘʣʝʡ 

ɓ=1,3...1,5; 

kÖa, kÖz ï ʢʦʵʬʬʠʮʠʝʥʪʳ, ʫʯʠʪʳʚʘʶʱʠʝ ʚʣʠʷʥʠʝ ʥʘ ʧʦʪʝʨʠ ʚ ʩʪʘʣʠ, 

ʥʝʨʘʚʥʦʤʝʨʥʦʩʪʠ ʨʘʩʧʨʝʜʝʣʝʥʠʷ ʧʦʪʦʢʘ ʧʦ ʩʝʯʝʥʠʷʤ ʫʯʘʩʪʢʦʚ 

ʤʘʛʥʠʪʦʧʨʦʚʦʜʘ ʠ ʪʝʭʥʦʣʦʛʠʯʝʩʢʠʭ ʬʘʢʪʦʨʦʚ. ɼʣʷ ʤʘʰʠʥ ʤʦʱʥʦʩʪʴʶ 

ʤʝʥʴʰʝ 250 ʢɺʪ ʧʨʠʙʣʠʞʝʥʥʦ ʤʦʞʥʦ ʧʨʠʥʷʪʴ kʜʘ=1,6 ʠ kʜz=1,8; ʜʣʷ ʤʘʰʠʥ 

ʙʦʣʴʰʝʡ ʤʦʱʥʦʩʪʠ kʜʘ=1,4 ʠ kʜz=1,7. 

ɺʘ ï ʠʥʜʫʢʮʠʷ ʚ ʷʨʤʝ, ʊʣ; 

ɺz1ʩʨ ï ʩʨʝʜʥʷʷ ʠʥʜʫʢʮʠʷ ʚ ʟʫʙʮʘʭ ʩʪʘʪʦʨʘ, ʊʣ; 

mʘ ï ʤʘʩʩʘ ʩʪʘʣʠ ʷʨʤʘ, ʢʛ; 



mz1 ï ʤʘʩʩʘ ʟʫʙʮʦʚ ʩʪʘʪʦʨʘ, ʢʛ. 

ʇʦ ʪʘʙʣʠʮʝ 10 ʇʨʠʣʦʞʝʥʠʝ 5 ʫʜʝʣʴʥʳʝ ʧʦʪʝʨʠ ʜʣʷ ʩʪʘʣʠ 2013 ʙʫʜʫʪ ʨʘʚʥʳ 

p
1,05,0ϳ

=2,5 ɺʪʢʛ.ϳ  

ma=́ĀDa-haĀhaĀlcm1Ākc1Āɔc,                                            (115) 

ma=3,14Ā0,272-0,0223Ā0,0223Ā0,14Ā0,97Ā7,8Ā10
3
=18,53 ʢʛ. 

mZ1=hZ1ĀbZ1cpĀZ1Ālcm1Ākc1Āɔc,                                          (116) 

mZ1=21,3Ā10
-3
Ā4,9Ā10

-3
Ā48Ā0,14Ā0,97Ā78Ā10

3
=5,28 ʢʛ.  

ʈʩm.ʦʩʥ=2,5(
50

50
)

1,5

Ā1,6Ā1,6
2
Ā18,53+1,8Ā1,92

2
Ā5,28=276,4 ɺʪ. 

49. ʇʦʚʝʨʭʥʦʩʪʥʳʝ ʧʦʪʝʨʠ ʚ ʨʦʪʦʨʝ: 

Pʧʦʚ2=pʧʦʚ2Ātz2-bh2ĀZ2Ālcm2,                                     (117) 

ʛʜʝ p
ʧʦʚ2

 ï ʫʜʝʣʴʥʳʝ ʧʦʚʝʨʭʥʦʩʪʥʳʝ ʧʦʪʝʨʠ, ɺʪ/ʤ
2
. 

p
ʧʦʚ2
=0,5k02Ā

Z1Ān1

10000

1,5

Ā(B02t1Ā10
3
)
2
,                               (118) 

ʛʜʝ k02 ï ʢʦʵʬʬʠʮʠʝʥʪ, ʫʯʠʪʳʚʘʶʱʠʡ ʚʣʠʷʥʠʝ ʦʙʨʘʙʦʪʢʠ ʧʦʚʝʨʭʥʦʩʪʠ ʛʦʣʦʚʦʢ 

ʟʫʙʮʦʚ ʨʦʪʦʨʘ ʥʘ ʫʜʝʣʴʥʳʝ ʧʦʪʝʨʠ. ɼʚʠʛʘʪʝʣʠ ʤʦʱʥʦʩʪʴʶ ʜʦ 160 ʢɺʪ, 

ʩʝʨʜʝʯʥʠʢʠ ʩʪʘʪʦʨʦʚ ʢʦʪʦʨʳʭ ʰʠʭʪʫʶʪ ʥʘ ʮʠʣʠʥʜʨʠʯʝʩʢʠʝ ʦʧʨʘʚʢʠ, ʪʦ 

k02=1,4...1,8, ʧʨʠ ʰʣʠʬʦʚʘʥʥʳʭ ʧʦʚʝʨʭʥʦʩʪʷʭ (ʥʘʨʫʞʥʘʷ ʧʦʚʝʨʭʥʦʩʪʴ ʨʦʪʦʨʦʚ 

ʤʘʰʠʥ ʩʨʝʜʥʝʡ ʠ ʙʦʣʴʰʦʡ ʤʦʱʥʦʩʪʠ ʠ ʚʥʫʪʨʝʥʥʷʷ ʧʦʚʝʨʭʥʦʩʪʴ ʩʪʘʪʦʨʘ 

ʜʚʠʛʘʪʝʣʝʡ ʈ2>160 ʢɺʪ), ʪʦ k02=1,7...2,0; ʇʨʠʥʠʤʘʝʤ k02=1,5. 

ɺ02 ï ʘʤʧʣʠʪʫʜʘ ʧʫʣʴʩʘʮʠʠ ʠʥʜʫʢʮʠʠ ʚ ʚʦʟʜʫʰʥʦʤ ʟʘʟʦʨʝ, ʊʣ. 

B02=ɓ02ĀkŭĀBŭ,                                                      (119) 

ʛʜʝ ɓ
02

 ï ʢʦʵʬʬʠʮʠʝʥʪ ʦʪʥʦʰʝʥʠʷ ʰʠʨʠʥʳ ʰʣʠʮʘ ʧʘʟʦʚ ʩʪʘʪʦʨʘ ʢ ʚʦʟʜʫʰʥʦʤʫ 

ʟʘʟʦʨʫ. ɼʣʷ ʦʪʥʦʰʝʥʠʷ b /hɿ=3,7/0,5=7,4 ʧʦ ʨʠʩʫʥʢʫ 14 ʇʨʠʣʦʞʝʥʠʝ 5 ʥʘʭʦʜʠʤ 

ɓ
02
=0,37. 

B02=0,37Ā1,22Ā0,749=0,338 ʊʣ. 

p
ʧʦʚ2
=0,5Ā1,5

48Ā1500

10000

1,5

(0,338Ā12,1)
2
=242,4 ɺʪʤ2.ϳ  

Pʧʦʚ2=242,415,2-1,538Ā0,14Ā10
-3
=17,7 ɺʪ. 
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50. ʇʫʣʴʩʘʮʠʦʥʥʳʝ ʧʦʪʝʨʠ ʚ ʟʫʙʮʘʭ ʨʦʪʦʨʘ: 

Pnʫʣ2=0,11Ā(
Z1Ān

1000
ĀBnʫʣ2)

2

mZ2,                                     (120) 

ʛʜʝ ɺʧʫʣ2 ï ʘʤʧʣʠʪʫʜʘ ʧʫʣʴʩʘʮʠʠ ʠʥʜʫʢʮʠʠ ʚ ʩʨʝʜʥʝʤ ʩʝʯʝʥʠʠ ʟʫʙʮʦʚ ʜʣʷ ʟʫʙʮʦʚ 

ʨʦʪʦʨʘ, ʊʣ; 

mZ2 ï ʤʘʩʩʘ ʩʪʘʣʠ ʟʫʙʮʦʚ ʨʦʪʦʨʘ, ʢʛ. 

Bnʫʣ2=
ɔ
1
Āŭ

2ĀtZ2
BZ2cp,                                                          (121) 

ʛʜʝ ɺZ2ʩʨ=1,81 ʊʣ ʠʟ ʨʘʩʯʝʪʘ ʧ.37; ɔ1=4,42 ʠʟ ʨʘʩʯʝʪʘ ʧ. 35. 

Bnʫʣ2=
4,42Ā0,5Ā10-3

2Ā15,2Ā10-3
1,81=0,132 ʊʣ. 

mZ2= Z2ĀhZ2ĀbZ2cpĀlcm2Ākc2Āɔc,                                              (122) 

mZ2=38Ā29Ā10
-3
Ā6,5Ā10

-3
Ā0,14Ā0,97Ā7800=7,59 ʢʛ. 

Pnʫʣ2=0,11(
48Ā1500

1000
0,132)

2

Ā7,59=75,4 ɺʪ. 

51. ʉʫʤʤʘ ʜʦʙʘʚʦʯʥʳʭ ʧʦʪʝʨʴ ʚ ʩʪʘʣʠ: 

ʈʩʪ.ʜʦʙ=ʈʧʦʚ1+ʈʧʫʣ1+ʈʧʦʚ2+ʈʧʫʣ2,                                  (123) 

ʛʜʝ ʈʧʫʣ1 ï ʧʫʣʴʩʘʮʠʦʥʥʳʝ ʧʦʪʝʨʠ ʚ ʟʫʙʮʘʭ ʩʪʘʪʦʨʘ, ɺʪ; 

ʈʧʫʣ2 ï ʧʫʣʴʩʘʮʠʦʥʥʳʝ ʧʦʪʝʨʠ ʚ ʟʫʙʮʘʭ ʨʦʪʦʨʘ, ɺʪ; 

ʈʧʦʚ1 ï ʧʦʣʥʳʝ ʧʦʚʝʨʭʥʦʩʪʥʳʝ ʧʦʪʝʨʠ ʩʪʘʪʦʨʘ, ɺʪ; 

ʈʧʦʚ2 ï ʧʦʣʥʳʝ ʧʦʚʝʨʭʥʦʩʪʥʳʝ ʧʦʪʝʨʠ ʨʦʪʦʨʘ, ɺʪ; 

ʆʙʳʯʥʦ ʈʧʦʚ1 ʠ ʈʧʫʣ1 ʧʨʠʙʣʠʞʝʥʥʦ ʨʘʚʥʳ ʥʫʣʶ, ʩʣʝʜʦʚʘʪʝʣʴʥʦ: 

ʈʩʪ.ʜʦʙ=17,7+75,4=93,1 ɺʪ. 

52. ʇʦʣʥʳʝ ʧʦʪʝʨʠ ʚ ʩʪʘʣʠ: 

ʈʩʪ=ʈʩʪ.ʦʩʥ +ʈʩʪ.ʜʦʙ,                                        (124) 

ʈʩʪ=276,4+93,1=369,5 ɺʪ. 

53. ʄʝʭʘʥʠʯʝʩʢʠʝ ʧʦʪʝʨʠ: 

ʈʤʝʭ=ʂʊĀ(
n

10
)
2

ĀDa
4,                                               (125) 

ʛʜʝ ʂʊ ï ʢʦʵʬʬʠʮʠʝʥʪ ʪʨʝʥʠʷ.  



ɼʣʷ ʜʚʠʛʘʪʝʣʝʡ ʩ ʚʥʝʰʥʠʤ ʦʙʜʫʚʦʤ (0,1ÒDʘÒ0,5) ʂʊ=1 ʜʣʷ ʜʚʠʛʘʪʝʣʝʡ ʩ 2ʨ=2, ʘ 

ʧʨʠ 2ʨÓ4 ʂʊ=1,3Ā(1-Dʘ): 

ʂʊ=1,3Ā(1-0,272)=0,95 

ʈʤʝʭ=0,95Ā(
1500

10
)

2

Ā0,272
4
=117 ɺʪ. 

54. ʍʦʣʦʩʪʦʡ ʭʦʜ ʜʚʠʛʘʪʝʣʷ: 

Iʭ.ʭ= Iʭ.ʭȢʘ
2 +Iʭ.ʭ.ʨ

2 ,                                                   (126) 

ʛʜʝ Iʭ.ʭ.ʘ ï ʘʢʪʠʚʥʘʷ ʩʦʩʪʘʚʣʷʶʱʘʷ ʪʦʢʘ ʭʦʣʦʩʪʦʛʦ ʭʦʜʘ, ɸ; 

Iʭ.ʭ.ʨ ï ʨʝʘʢʪʠʚʥʘʷ ʩʦʩʪʘʚʣʷʶʱʘʷ ʪʦʢʘ ʭʦʣʦʩʪʦʛʦ ʭʦʜʘ, ɸ. ʈʝʘʢʪʠʚʥʘʷ 

ʩʦʩʪʘʚʣʷʶʱʘʷ ʪʦʢʘ Iʭ.ʭ.ʨåI‘. 

Iʭ.ʭ.ʘ=
ʈʩʪ+ʈʤʝʭ+ʈɻ1ʭ.ʭ

mĀU1ʥʦʤ
,                                           (127) 

ʛʜʝ ʈɻ 1ʭ.ʭ ï ʵʣʝʢʪʨʠʯʝʩʢʠʝ ʧʦʪʝʨʠ ʚ ʩʪʘʪʦʨʝ ʧʨʠ ʭʦʣʦʩʪʦʤ ʭʦʜʝ, ɺʪ. 

ʈɻ1ʭ.ʭå3Iɛ
2 Ār1,                                                     (128) 

ʈɻ1ʭ.ʭå7,9
2
Ā0,355=66,6 ɺʪ. 

Iʭ.ʭ.ʘ=
369,5+117+66,6

3Ā220
=0,84 ɸ. 

Iʭ.ʭ= 0,84
2
+7,91

2
=7,95 ɸ. 

ʂʦʵʬʬʠʮʠʝʥʪ ʤʦʱʥʦʩʪʠ ʧʨʠ ʭʦʣʦʩʪʦʤ ʭʦʜʝ: 

cosű
ʭ.ʭ
=
Iʭ.ʭ.ʘ

Iʭ.ʭ
,                                                     (129) 

cosű
ʭ.ʭ
=
0,84

7,95
=0,11 

 

ʈʘʩʯʝʪ ʨʘʙʦʯʠʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ 

 

55. ʇʘʨʘʤʝʪʨʳ: 

ʉʦʧʨʦʪʠʚʣʝʥʠʷ r12 ʠ ʭ12 ʩ ʜʦʩʪʘʪʦʯʥʦʡ ʜʣʷ ʦʙʳʯʥʳʭ ʨʘʩʯʝʪʦʚ ʪʦʯʥʦʩʪʴʶ 

ʦʧʨʝʜʝʣʷʶʪ ʧʦ ʩʣʝʜʫʶʱʠʤ ʬʦʨʤʫʣʘʤ: 

r12=
ʈʩʪ.ʦʩʥ

mĀIɛ
2
,                                                     (130) 
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r12=
276,4

3Ā7,92
=1,47 ʆʤ. 

ʭ12=
U1ʥʦʤ

Iɛ
-ʭ1,                                                (131) 

ʭ12=
220

7,9
-0,673=27,14 ʆʤ. 

ɺ ʘʩʠʥʭʨʦʥʥʳʭ ʜʚʠʛʘʪʝʣʷʭ ʤʦʱʥʦʩʪʴʶ ʙʦʣʝʝ 2 ï 3 ʢɺʪ, ʢʘʢ ʧʨʘʚʠʣʦ, |ɔ|Ò1Á, 

ʧʦʵʪʦʤʫ ʨʝʘʢʪʠʚʥʦʡ ʩʦʩʪʘʚʣʷʶʱʝʡ ʤʦʞʥʦ ʧʨʝʥʝʙʨʝʯʴ, ʪʦʛʜʘ: 

ʩ1=1+
ʭ1

ʭ12
,                                                      (132) 

ʩ1=1+
0,673

27,14
=1,025 

ɔ=arctg
r1Āʭ12-r12Āʭ1

r12Ār1+r12+ʭ12Ā(ʭ1+ʭ12)
,                                     (133) 

ɔ=arctg
0,335Ā27,14-1,47Ā0,673

1,47Ā0,355+1,47+27,14Ā(0,0673+27,14
=arctg 0,01 ʨʘʜ=| 34'|Ò1Á 

ɸʢʪʠʚʥʘʷ ʩʦʩʪʘʚʣʷʶʱʘʷ ʪʦʢʘ ʩʠʥʭʨʦʥʥʦʛʦ ʭʦʣʦʩʪʦʛʦ ʭʦʜʘ: 

I0ʘ=
ʈʩʪ.ʦʩʥ+3Iɛ

2

3U1
,                                               (134) 

I0ʘ=
276,4+3Ā7,92Ā0,673

3Ā220
=0,52 ɸ. 

ʘ/=ʩ1
2
=1,025

2
=1,051; b/=0;  

ʘ=ʩ1r1=1,025Ā0,355=0,364 ʆʤ. 

b=ʩ1ʭ1+ʩ1ʭ2
'=1,0250,673+1,025Ā0,912=1,648 ʆʤ. 

ʇʦʪʝʨʠ, ʥʝ ʤʝʥʷʶʱʠʝʩʷ ʧʨʠ ʠʟʤʝʥʝʥʠʠ ʩʢʦʣʴʞʝʥʠʷ: 

ʈʩʪ+ʈʤʝʭ=369,5+117=487 ɺʪ.å0,49 ʢɺʪ. 

56. ʈʘʩʩʯʠʪʳʚʘʝʤ ʨʘʙʦʯʠʝ ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ ʜʣʷ ʩʢʦʣʴʞʝʥʠʡ  

s=0,05; 0,01;0,015;0,020;0,025;0,03, ʧʨʠʥʠʤʘʷ ʧʨʝʜʚʘʨʠʪʝʣʴʥʦ sʥʦʤ=r2
/å0,025. 

ʈʝʟʫʣʴʪʘʪʳ ʨʘʩʯʝʪʘ ʩʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʫ 1. 

ʇʦʩʣʝ ʧʦʩʪʨʦʝʥʠʷ ʨʘʙʦʯʠʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʨʠʩʫʥʦʢ 2 ʫʪʦʯʥʷʝʤ ʟʥʘʯʝʥʠʝ 

ʥʦʤʠʥʘʣʴʥʦʛʦ ʩʢʦʣʴʞʝʥʠʷ sʥ=0,024. 

ʅʦʤʠʥʘʣʴʥʳʝ ʜʘʥʥʳʝ ʩʧʨʦʝʢʪʠʨʦʚʘʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ: 

ʈ2ʥʦʤ=15 ʢɺʪ, U1ʥʦʤ=220/380 ɺ, I1ʥʦʤ=28,4 ɸ, cosűʥʦʤ=0,894, ʂʥʦʤ=0,892. 



ʊʘʙʣʠʮʘ 1 - ʈʘʙʦʯʠʝ ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ 

 
 ̄ ʈʘʩʯʝʪʥʘʷ ʬʦʨʤʫʣʘ 

ʈʘʟʤʝʨʥʦ

ʩʪʴ 

ʉʢʦʣʴʞʝʥʠʝ S 

0,005 0,01 0,015 0,02 0,025 0,03 3ʥʦʤ0,024 

1 a'Ār2
'/s ʆʤ 39,1 19,55 13,03 9,77 7,82 6,52 8,15 

2 R=a+a'Ār2
'/s ʆʤ 39,46 19,91 13,39 10,13 8,81 6,88 8,51 

3 X=b+b
'
Ār2
'/s ʆʤ 1,65 1,65 1,65 1,65 1,65 1,65 1,65 

4 Z= R2+X2 ʆʤ 39,49 19,98 13,49 10,26 8,34 7,08 8,67 

5 I2
''=U1/Z ɸ 5,57 11,011 16,31 21,44 26,38 31,07 25,37 

6 cosű
2
'=R/Z - 0,999 0,996 0,993 0,987 0,981 0,972 0,982 

7 sinű
2
'=X/Z - 0,042 0,083 0,112 0,161 0,198 0,233 0,19 

8 I1ʘ=I0ʘ+I2
''cosű

2
'

 ɸ 6,08 11,49 16,72 21,68 26,4 30,72 25,43 

9 I1ʨ=I0ʨ+I2
''sinű

2
'

 ɸ 8,14 8,82 9,9 11,36 13,13 15,15 12,73 

10 I1= I1a
2+I1ʨ

2
 ɸ 10,16 14,48 19,43 24,28 29,48 34,25 28,44 

11 I2
'=ʩ1I2

''
 ɸ 5,71 11,29 16,72 21,98 27,04 31,85 26 

12 ʈ1=3U1ĀI1ʘĀ10
-3 ʢɺʪ 4,01 7,58 11,03 14,31 17,42 20,28 16,78 

13 ʈɻ1=3I1
2
Ār1Ā10

-3
 ʢɺʪ 0,11 0,223 0,402 0,638 0,926 1,25 0,861 

14 ʈɻ2=3I2
'2
Ār2
'Ā10-3 ʢɺʪ 0,018 0,071 0,156 0,27 0,408 0,566 0,377 

15 ʈʜʦʙ=0,005Āʈ1 ʢɺʪ 0,034 0,048 0,064 0,081 0,097 0,113 0,084 

16 
×ʈ=ʈʩʪ+ʈʤʝʭ+ 

ʈɻ2+ʈɻ1Āʈɻ.ɦ+ʈʜʦʙ 
ʢɺʪ 0,652 0,832 1,112 1,479 1,921 2,418 1,812 

17 ʈ2=ʈ1-×ʈ ʢɺʪ 3,36 6,75 9,92 12,83 15,5 17,86 14,97 

18 ɖ=1-×ʈ/ʈ1 - 0,838 0,891 0,899 0,897 0,89 0,881 0,892 

19 cosű=I1ʘ/I1 - 0,598 0,794 0,861 0,886 0,896 0,897 0,894 



42 
 

 
ʈʘʩʯʝʪ ʧʫʩʢʦʚʳʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ 

 

ʈʘʩʯʝʪ ʪʦʢʦʚ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʠʟʤʝʨʝʥʠʷ ʧʘʨʘʤʝʪʨʦʚ ʧʦʜ ʚʣʠʷʥʠʝʤ ʵʬʬʝʢʪʘ 

ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ (ʙʝʟ ʫʯʝʪʘ ʚʣʠʷʥʠʷ ʥʘʩʳʱʝʥʠʷ ʦʪ ʧʦʣʝʡ ʨʘʩʩʝʷʥʠʷ). 

ʇʦʜʨʦʙʥʳʡ ʨʘʩʯʝʪ ʧʨʠʚʝʜʝʥ ʜʣʷ ʩʢʦʣʴʞʝʥʠʷ S=1. ɼʘʥʥʳʝ ʜʣʷ ʨʘʩʯʝʪʘ ʜʨʫʛʠʭ 

ʪʦʯʝʢ ʧʨʠʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʝ 2. 

 

ʊʘʙʣʠʮʘ 2 - ʈʘʩʯʝʪ ʪʦʢʦʚ ʚ ʧʫʩʢʦʚʦʤ ʨʝʞʠʤʝ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ ʩ 

ʢʦʨʦʪʢʦʟʘʤʢʥʫʪʳʤ ʨʦʪʦʤ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ 

ˉʧ/ʧ ʈʘʩʯʝʪʥʘʷ ʬʦʨʤʫʣʘ 
ʈʘʟʤʝʨʥ
ʦʩʪʴ 

ʉʢʦʣʴʞʝʥʠʝ s 

1 0,8 0,5 0,2 0,1 Sʢʨ=0,14 

1 ɝ=63,61hʩãS - 1,81 1,63 1,28 0,81 0,57 - 

2 ű(ɝ) - 0,66 0,45 0,19 0,04 0,01 - 

3 hr=
hʩ

1+ű
 ʤʤ 17,2 19,7 23,9 28,5 28,5 28,5 

4 kr=qc/qr - 1,46 1,3 1,12 1 1 1 

5 KR=1+
rʩ

r2
kr-1 - 1,32 1,21 1,08 1 1 1 

6 r2ʊ
/=KRr2

/ ʆʤ 0,246 0,225 0,2 0,186 0,186 0,186 

7 kʜ=ű
/(ʊ) - 0,81 0,86 0,93 0,97 0,99 0,98 

8 Иn2 ʊ
/

=Иn
/
-æИn2 ʊ - 2,33 2,4 2,49 2,54 2,57 2,55 

9 Kʭ= И2ʊ/ И2 - 0,95 0,97 0,98 0,99 1 1 

10 x2ʊ
/=Kʭx2

/ ʆʤ 0,866 0,885 0,894 0,903 0,912 0,908 

11 Rn=r1+c1n
r2ʊ
/

s
 ʆʤ 0,605 0,641 0,762 1,3 2,25 1,7 

12 Xn=x1+c1nx2ʊ
/ ʆʤ 1,55 1,57 1,58 1,59 1,6 1,6 



13 ʭ2 ʊ
/=ʭ2 

/Kʭ ɸ 132,2 129,7 125,4 107,1 79,7 94,2 

14 I1n=I2n
/

Rn
2+(xn+x12n

2)

c1nʭ12n 
 ɸ 135,1 132,6 128,2 109,2 81,7 96,8 

 

57. ɸʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ 

ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ: ( ʨᵻʘʩʯ=115ᴈ; ɟ115=
10-6

20,5
 ʆʤĀʤ;

bc

bn
=1; f

1
=50ɻʮ)  

ʇʦ ʨʠʩʫʥʢʫ 1ʘ hʩ=hn-hh+hh
'
=29,5-0,7+0,3=28,5 ʤʤ. 

ɝ =2́ĀhcĀ
bcĀf2

bʧĀɟ115
=63,61ĀhʩĀЍS,                                       (135) 

ɝ=63,61Ā0,0285ĀЍ1=1,81 

ʇʦ ʨʠʩʫʥʢʫ 15 ʇʨʠʣʦʞʝʥʠʝ 5 ʜʣʷ ɝ=1,81 ʥʘʭʦʜʠʤ ű=0,66. 

ɻʣʫʙʠʥʘ ʧʨʦʥʠʢʥʦʚʝʥʠʷ ʪʦʢʘ: 

hr=
hʩ

1+ű
,                                                          (136) 

hr=
0,0285

1+0,66
=0,0172 ʤ.=17,2 ʤʤ. 

ʪʘʢ ʢʘʢ (0,5Ā7,9)<17,2<(22,4+0,5Ā7,9) ʨʠʩʫʥʦʢ 1. 

ʇʣʦʱʘʜʴ ʩʝʯʝʥʠʷ, ʦʛʨʘʥʠʯʝʥʥʘʷ ʚʳʩʦʪʦʡ hr: 

q
r
=
b́1
2

8
+
b1+br

2
Āhr-

b1

2
,                                               (137) 

br=b1-
b1-b2

h1
Āhr-

b1

2
,                                                    (138) 

br=7,9-
7,9-4,2

22,4
Ā17,2-

7,9

2
=5,71 ʤʤ. 

q
r
=
7,9+5,71

2
Ā17,2-

7,9

2
=114,7 ʤ2. 

ʂʦʵʬʬʠʮʠʝʥʪ kr ʦʧʨʝʜʝʣʷʶʪ ʧʦ ʦʪʥʦʰʝʥʠʶ ʧʣʦʱʘʜʝʡ ʚʩʝʛʦ ʩʝʯʝʥʠʷ ʩʪʝʨʞʥʷ 

ʠ ʩʝʯʝʥʠʷ ʦʛʨʘʥʠʯʝʥʥʦʛʦ ʚʳʩʦʪʦʡ hr: 

kr=
q
c

q
r

,                                                           (139) 

kr=167/114,7=1,46 
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ʂʦʵʬʬʠʮʠʝʥʪ ʦʙʱʝʛʦ ʫʚʝʣʠʯʝʥʠʷ ʩʦʧʨʦʪʠʚʣʝʥʠʷ ʬʘʟʳ ʨʦʪʦʨʘ ʧʦʜ ʚʣʠʷʥʠʝʤ 

ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ: 

KR=1+
rʩ

r2
kr-1,                                                  (140) 

KR=1+
40,89Ā10-6

59,37Ā10-6
1,46-1=1,32 

ʇʨʠʚʝʜʝʥʥʦʝ ʘʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʨʦʪʦʨʘ ʩ ʫʯʝʪʦʤ ʜʝʡʩʪʚʠʷ ʵʬʬʝʢʪʘ 

ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ: 

r2ʊ
/=KRĀr2

/,                                                        (141) 

r2ʊ
/=1,32Ā0,186=0,246 ʆʤ. 

58. ʀʥʜʫʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ 

ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʧʦ ʨʠʩʫʥʢʫ 16 ʇʨʠʣʦʞʝʥʠʝ 5 ʜʣʷ ɝ=1,81, ű'=kʜ=0,81: 

Kʭ=
ʇn2 ʊ+ʇʣ2 +ʇʜ2 
ʇn2 +ʇʣ2 +ʇʜ2 

,                                          (142) 

ʛʜʝ ʇʧ2ʊ ɀ ʢʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʧʘʟʦʚʦʛʦ ʨʘʩʩʝʠʚʘʥʠʷ ʩ ʫʯʝʪʦʤ 

ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ. 

ɚʧ2ɝ=ɚʧ2-æɚn2ɝ,                                                (143) 

ɚn2ɝ
/
=2,58-0,25=2,33 

æɚn2ɝ=ɚʧ2
'
Ā1-kʜ=

h0

3b1
Ā1-

b́1
2

8q
c

+0,66-
bh

2b1
Ā1-kʜ,                 (144) 

æɚn2ɝ=
24,08

3Ā7,9
Ā1-
3,14Ā7,92

8Ā167
+0,66-

1,5

2Ā7,9
Ā1-0,81=0,25 

Kʭ=
2,33+0,59+2,09

2,58+0,59+2,09
=0,95 

ʭ2ɝ 
/=ʭ2 

/ĀKʭ,                                                      (145) 

ʭ2ɝ 
/=0,0912Ā0,95=0,866ʆ ʤ. 

59. ʇʫʩʢʦʚʳʝ ʧʘʨʘʤʝʪʨʳ: 

ʭ12n =kɛĀx12,                                                     (146) 

ʭ12n =0,912Ā0,95=0,866 ʆʤ. 



c1n=1+
x1

x12n
,                                                     (147) 

c1n=1+
0,673

39,62
=1,017 

60. ʈʘʩʯʝʪ ʪʦʢʦʚ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʜʣʷ s=1: 

Rn=r1+c1nĀ
r2ʊ
/

s
,                                                 (148) 

Rn=0,355+1,017
0,246

1
=0,605 ʆʤ. 

Xn=x1+c1nĀx2ɝ
/,                                                 (149) 

Xn=0,673+1,017Ā0,866=1,55 ʆʤ. 

ʊʦʢ ʚ ʦʙʤʦʪʢʝ ʨʦʪʦʨʘ: 

I2n
/=

U1

Rn
2+Xn

2

,                                                      (150) 

I2n
/=

220

0,605
2
+1,55

2

=132,2 ɸ. 

I1n=I2n
/Ā

Rn
2+(xn+x12n

2
)

c1nĀʭ12n 
,                                           (151) 

I1n=132,2Ā

0,605
2
+(1,55+39,62

2

1,017Ā39,62
=135,1 ɸ. 

 

ʈʘʩʯʝʪ ʧʫʩʢʦʚʳʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʚʳʪʝʩʥʝʥʠʷ 

ʪʦʢʘ ʠ ʥʘʩʳʱʝʥʠʷ ʦʪ ʧʦʣʝʡ ʨʘʩʩʝʷʥʠʷ 

 

ʈʘʩʯʝʪ ʧʨʦʚʦʜʠʤ ʜʣʷ ʪʦʯʝʢ ʭʘʨʘʢʪʝʨʠʩʪʠʢ, ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʭ s=1; 

0,8; 0,5; 0,2 0,1, ʧʨʠ ʵʪʦʤ ʠʩʧʦʣʴʟʫʝʤ ʟʥʘʯʝʥʠʷ ʪʦʢʦʚ ʠ ʩʦʧʨʦʪʠʚʣʝʥʠʡ ʜʣʷ 

ʪʝʭ ʞʝ ʩʢʦʣʴʞʝʥʠʡ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ (ʪʘʙʣʠʮʘ 2). 

ʇʦʜʨʦʙʥʳʡ ʨʘʩʯʝʪ ʧʨʠʚʝʜʝʥ ʜʣʷ ʩʢʦʣʴʞʝʥʠʷ s=1. ɼʘʥʥʳʝ ʜʣʷ ʨʘʩʯʝʪʘ 

ʜʨʫʛʠʭ ʪʦʯʝʢ ʧʨʠʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʝ 3. 

 



46 
 

ʊʘʙʣʠʮʘ ˉ3 - ʈʘʩʯʝʪ ʧʫʩʢʦʚʳʭ ʭʘʨʘʢʪʝʨʠʩʪʠʢ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ ʩ 

ʢʦʨʦʪʢʦʟʘʤʢʥʫʪʳʤ ʨʦʪʦʨʦʤ ʩ ʫʯʝʪʦʤ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʠ ʥʘʩʳʱʝʥʠʷ 

ʦʪ ʧʦʣʝʡ ʨʘʩʩʝʷʥʠʷ 

 ̄
ʧ/ʧ 

ʈʘʩʯʝʪʥʘʷ ʬʦʨʤʫʣʘ 

ʈʘʟ
ʤʝʨ
ʥʦʩ
ʪ ɹ

ʉʢʦʣʴʞʝʥʠʝ s 

1 0,8 0,5 0,2 0,1 
Ὓ̋̑

πȟρτ 

1 kʥʘʩ - 1,35 1,3 1,2 1,1 1,05 1,08 

2 

Fʧ.ʩʨ=0,7
kʥʘʩI1un

a
(

kɓ
/
+ky1kʦʙ1

Z1

Z2
) 

ɸ 3668 3467 3094 2422 1725 2102 

3 ɺʬŭ=
Fn,ʩʨ10

-6

1,6ŭCN
 ʊʣ 4,69 4,43 3,95 3,1 2,21 2,69 

4 kʙ=ä(ɺʬŭ) - 0,5 0,53 0,61 0,72 0,84 0,79 

5 ʩ1=(tZ1-bh1)(1-ʢŭ ʤʤ 4,2 3,95 3,28 2,35 1,34 1,76 

6 ʇn1ʥʘʩ=ɚn1-æɚn1ʥʘʩ - 1,17 1,18 1,2 1,25 1,31 1,28 

7 ‗̅ ̎́=̒ɚʜ1ʢŭ - 0,87 0,92 1,06 1,25 1,46 1,37 

8 ʭ1ʥʘʩ=ʭ1
Вʇ1ʥʘʩ
Вʇ1

 ʆʤ 0,505 0,514 0,538 0,574 0,615 0,597 

9 ʩ1n.ʥʘʩ=1+
ʭ1ʥʘʩ

ʭ12n
 - 1,013 1,013 1,014 1,014 1,016 1,015 

10 ʩ2=tZ2-bh2(1-ʢŭ) ʤʤ 6,85 6,44 5,34 3,84 2,19 2,88 

11 ɚʧ2ɝʥʘʩ=ɚn2ɝ-æɚʧ2ʥʘʩ - 1,78 1,86 1,96 2,06 2,17 2,11 

12 ɚɼ2ʥʘʩ=ʢŭɚʜ2 - 1,05 1,11 1,27 1,5 1,76 1,65 

13 x2ɝʥʘʩ
' =x2

'
Вʇ2ʊʥʘʩ
Вʇ2

 ʆʤ 0,593 0,617 0,662 0,72 0,787 0,754 

14 Rn.ʥʘʩ=r1+ʩ1n.ʥʘʩ
r2ɝ
'

s
 ʆʤ 0,6 0,64 0,76 1,3 2,24 1,7 

15 ʍn.ʥʘʩ=ʭ1ʥʘʩ+ʩ1n.ʥʘʩʭ2ɝʥʘʩ
'  ʆʤ 1,11 1,14 1,21 1,3 1,41 1,36 

16 
I2ʥʘʩ
' =

U1

Rnʥʘʩ
2 +ʍnʥʘʩ

2

 
ɸ 174,4 168,3 153,9 119,7 83,1 101,1 

17 I1ʥʘʩ=I2ʥʘʩ
'

Rnʥʘʩ
2 +(Xn.ʥʘʩ+ʭ12n)

2

ʩ1n.ʥʘʩĀʭ12n
 ɸ 177 170,9 156,4 122 84,6 103,1 

18 

kʥʘʩ
'
=
I1ʥʘʩ

I1n
 

(ʩʨʘʚʥʠʪʴ ʩ ʧʨʠʥʷʪʳʤ ʚ 

ʧ. 1 kʥʘʩ) 

- 1,31 1,29 1,22 1,11 1,04 1,07 

19 I1*=I1ʥʘʩ/I1ʥʦʤ - 6,2 6 5,5 4,3 3 3,6 

20 ʄ*=(
I2ʥʘʩ
'

I2ʥʦʤ
'
)

2

ĀKRĀ
sʥʦʤ

s
 - 1,43 1,52 1,82 2,54 2,45 2,59 

 

61.ʀʥʜʢʫʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʦʙʤʦʪʢʠ. ʇʨʠʥʠʤʘʝʤ kʥʘʩ=1,35: 

Fʧ.ʩʨ=0,7Ā
kʥʘʩI1un1

a
Ākɓ
'
+ky1Ākʦʙ1Ā

Z1

Z2
,                                (152) 



Fʧ.ʩʨ=0,7Ā
135,1Ā1,35Ā13

1
Ā1+1Ā0,958Ā

48

38
=3668 ɸ. 

ʌʠʢʪʠʚʥʘʷ ʠʥʜʫʢʮʠʷ ʧʦʪʦʢʘ ʨʘʩʩʝʠʚʘʥʠʷ ʚ ʚʦʟʜʫʰʥʦʤ ʟʘʟʦʨʝ: 

ɺʬŭ=
Fn.ʩʨĀ10

-6

1,6ĀŭĀCN
,                                                     (153) 

CN=0,64+2,5
ŭ

t1+t2
,                                               (154) 

CN=0,64+2,5
0,5

12,1+15,2
=0,978 

ɺʬŭ=
3668Ā10-6

1,6Ā0,5Ā10-3Ā0,978
=4,69 ʊʣ. 

ʇʦ ʨʠʩʫʥʢʫ 17 ʇʨʠʣʦʞʝʥʠʝ 5 ʜʣʷ ɺʬŭ=4,69 ʊʣ ʥʘʭʦʜʠʤ kŭ=0,5. 

ʂʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʧʘʟʦʚʦʛʦ ʨʘʩʩʝʷʥʠʷ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ 

ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʥʘʩʳʱʝʥʠʷ: 

ʩ1=(tZ1-bh1)Ā1-ʢŭ,                                               (155) 

ʩ1=12,1-3,7Ā1-0,5=4,2 ʤʤ. 

æɚn1ʥʘʩ=
hh1+0,58hk

bh1
Ā

cɻ1

cɻ1+1,5bh1
,                                   (156) 

æɚn1ʥʘʩ=
1+0,58Ā1,95

3,7
Ā

4,2

4,2+1,5Ā3,7
=0,25 

ɚn1ʥʘʩ=ɚn1-æɚn1ʥʘʩ,                                                  (157) 

ɚn1ʥʘʩ=1,42-0,25=1,17 

ʂʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʜʠʬʬʝʨʝʥʮʠʘʣʴʥʦʛʦ ʨʘʩʩʝʷʥʠʷ 

ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʥʘʩʳʱʝʥʠʷ: 

ɚʜ1ʥʘʩ=ɚʜ1Āʢŭ,                                                     (158) 

ɚʜ1ʥʘʩ=1,74Ā0,5=0,87 

ʀʥʜʫʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʬʘʟʳ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ 

ʥʘʩʳʱʝʥʥʦʩʪʠ: 

ʭ1ʥʘʩ=ʭ1Ā
Вɚ1ʥʘʩ
Вɚ1

,                                              (159) 
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ʭ1ʥʘʩ=0,973Ā
1,17+1,34+0,87

1,42+1,34+1,74
=0,505 ʆʤ. 

 

ʂʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʧʘʟʦʚʦʛʦ ʨʘʩʩʝʷʥʠʷ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ ʩ 

ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʥʘʩʳʱʝʥʠʷ ʠ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ: 

æɚʧ2ʥʘʩ=
hh2

bh2
Ā
ʩɻ2

ʩɻ2+bh2
,                                          (160) 

ʛʜʝ ʩɻ2 ï ʜʦʧʦʣʥʠʪʝʣʴʥʦʝ ʨʘʩʢʨʳʪʠʝ ʜʣʷ ʨʦʪʦʨʘ. 

ʩɻ2=t1-bh2Ā1-ʢŭ,                                           (161) 

(ʜʣʷ ʟʘʢʨʳʪʳʭ ʧʘʟʦʚ ʨʦʪʦʨʘ hh2=hh
'
+hh=0,3+0,7=1 ʤʤ.) 

ʩɻ2=15,2-1,5Ā1-0,5=6,85 ʤʤ. 

æɚʧ2ʥʘʩ=
1

1,5
Ā
6,85

6,85+1,5
=0,55 

ɚʧ2ɝʥʘʩ=ɚʧɝ2-æɚʧ2ʥʘʩ,                                            (162) 

ɚʧ2ɝʥʘʩ=2,33-0,55=1,78 

ʂʦʵʬʬʠʮʠʝʥʪ ʤʘʛʥʠʪʥʦʡ ʧʨʦʚʦʜʠʤʦʩʪʠ ʜʠʬʬʝʨʝʥʮʠʘʣʴʥʦʛʦ ʨʘʩʩʝʷʥʠʷ 

ʨʦʪʦʨʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʥʘʩʳʱʝʥʠʷ: 

ɚʜ2ʥʘʩ=ɚʜ2Āʢŭ,                                                       (163) 

ɚʜ2ʥʘʩ=2,09Ā0,5=1,05 



ʇʨʠʚʝʜʝʥʥʦʝ ʠʥʜʫʢʪʠʚʥʦʝ ʩʦʧʨʦʪʠʚʣʝʥʠʝ ʬʘʟʳ ʦʙʤʦʪʢʠ ʨʦʪʦʨʘ ʩ ʫʯʝʪʦʤ 

ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʠ ʥʘʩʳʱʝʥʠʷ: 

ʭ2ɝʥʘʩ
' =ʭ2

'Ā
Вɚ2ɝʥʘʩ
Вɚ2

,                                            (164) 

ʭ2ɝʥʘʩ
' =0,912

1,78+1,05+0,59

2,58+2,09+0,59
=0,593 ʆʤ. 

ʉʦʧʨʦʪʠʚʣʝʥʠʝ ʚʟʘʠʤʥʦʡ ʠʥʜʫʢʮʠʠ ʦʙʤʦʪʦʢ ʚ ʧʫʩʢʦʚʦʤ ʨʝʞʠʤʝ: 

ʩ1n.ʥʘʩ=1+
ʭ1ʥʘʩ

ʭ12n
,                                                (165) 

ʩ1n.ʥʘʩ=1+
0,505

39,62
=1,013 

62. ʈʘʩʯʝʪ ʪʦʢʦʚ ʠ ʤʦʤʝʥʪʦʚ: 

Rn.ʥʘʩ=r1+ʩ1n.ʥʘʩĀ
r2ɝ
'

s
,                                         (166) 

Rn.ʥʘʩ=0,355+1,013Ā
0,246

1
=0,604 ʆʤ. 

ʍn.ʥʘʩ=ʭ1ʥʘʩ+ʩ1n.ʥʘʩĀʭ2ɝʥʘʩ
' ,                                     (167) 

ʍn.ʥʘʩ=0,505+1,013Ā0,593=1,11 ʆʤ. 

I2ʥʘʩ
' =

U1ʥʦʤ

Rn.ʥʘʩ
2 +ʍn.ʥʘʩ

2

,                                             (168) 

I2ʥʘʩ
' =

220

0,604
2
+11,1

2

=174,1 ɸ. 

I1ʥʘʩ=I2ʥʘʩ
'

Rn.ʥʘʩ
2 +(ʭn.ʥʘʩ+ʭ12n)

2

ʩ1n.ʥʘʩĀʭ12n
,                             (169) 

I1ʥʘʩ=174,1Ā

0,604
2
+(11,1+39,62)

2

1,013Ā39,62
=176,7 ɸ. 

ʂʨʘʪʢʦʩʪʴ ʧʫʩʢʦʚʦʛʦ ʪʦʢʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʠ 

ʥʘʩʳʱʝʥʠʷ: 

In*=
I1n.ʥʘʩ

I1ʥʦʤ
,                                                    (170) 
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In*=
176,7

28,4
=6,2 

ʂʨʘʪʥʦʩʪʴ ʧʫʩʢʦʚʦʛʦ ʤʦʤʝʥʪʘ ʩ ʫʯʝʪʦʤ ʚʣʠʷʥʠʷ ʵʬʬʝʢʪʘ ʚʳʪʝʩʥʝʥʠʷ ʪʦʢʘ ʠ 

ʥʘʩʳʱʝʥʠʷ: 

ʄn*=(
I2n.ʥʘʩ
'

I2ʥʦʤ
'
)
2
ĀKRĀ
sʥʦʤ

s
,                                           (171) 

ʄn*=(
174,1

26
)
2
Ā1,32Ā

0,024

1
=1,43 

ʇʦʣʫʯʝʥʥʳʡ ʚ ʨʘʩʯʝʪʝ ʢʦʵʬʬʠʮʠʝʥʪ ʥʘʩʳʱʝʥʠʷ: 

kʥʘʩ
'
=
I1n.ʥʘʩ
'

I1n
,                                                      (172) 

kʥʘʩ
'
=
177

135,1
=1,31 

ʦʪʣʠʯʘʝʪʩʷ ʦʪ ʧʨʠʥʷʪʦʛʦ kʥʘʩ
'
=1,35 ʤʝʥʝʝ ʯʝʤ ʥʘ 3%. 

ɼʣʷ ʨʘʩʯʝʪʘ ʜʨʫʛʠʭ ʪʦʯʝʢ ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ ʟʘʜʘʝʤ 

kʥʘʩ
'
, ʫʤʝʥʴʰʝʥʥʳʤ ʚ ʟʘʚʠʩʠʤʦʩʪʠ ʦʪ ʪʦʢʘ I1 (ʪʘʙʣʠʮʘ 2) 

s=0,8 kʥʘʩ
'
=1,3; 

s=0,5 kʥʘʩ
'
=1,2; 

s=0,2 kʥʘʩ
'
=1,1; 

s=0,1 kʥʘʩ
'
=1,05; 

ɼʘʥʥʳʝ ʨʘʩʯʝʪʘ ʩʚʝʜʝʥʳ ʚ ʪʘʙʣʠʮʫ 3, ʘ ʧʫʩʢʦʚʳʝ ʭʘʨʘʢʪʝʨʠʩʪʠʢʠ 

ʧʨʝʜʩʪʘʚʣʝʥʳ ʥʘ ʨʠʩʫʥʢʝ 3 

63. ʂʨʠʪʠʯʝʩʢʦʝ ʩʢʦʣʴʞʝʥʠʝ ʦʧʨʝʜʝʣʷʝʤ ʧʦʩʣʝ ʨʘʩʯʝʪʘ ʚʩʝʭ ʪʦʯʝʢ ʧʫʩʢʦʚʳʭ 

ʭʘʨʘʢʪʝʨʠʩʪʠʢ (ʪʘʙʣʠʮʘ 3) ʧʦ ʩʨʝʜʥʠʤ ʟʥʘʯʝʥʠʷʤ ʩʦʧʨʦʪʠʚʣʝʥʠʷ 

̖̎́̒̉ ̖ ̎́ ̒ , ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʤ ʩʢʦʣʴʞʝʥʠʷʤ s=0,2...0,1: 

Sʢp=
r2ɝ
'

ʭ1ʥʘʩ
ʩ1n.ʥʘʩ

+ʭ2ɝʥʘʩ
'
,                                                 (173) 

Sʢp=
0,186

0,59
1,015

+0,713

=0,147 

ʇʦʩʣʝ ʯʝʛʦ ʨʘʩʩʯʠʪʳʚʘʝʤ ʢʨʘʪʥʦʩʪʴ ʤʘʢʩʠʤʘʣʴʥʦʛʦ ʤʦʤʝʥʪʘ: 

ʄn*=2,59 (ʪʘʙʣʠʮʘ 3) 
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64. ʇʨʝʚʳʰʝʥʠʝ ʪʝʤʧʝʨʘʪʫʨʳ ʚʥʫʪʨʝʥʥʝʡ ʧʦʚʝʨʭʥʦʩʪʠ ʩʝʨʜʝʯʥʠʢʘ ʩʪʘʪʦʨʘ 

ʥʘʜ ʪʝʤʧʝʨʘʪʫʨʦʡ ʚʦʟʜʫʭʘ ʚʥʫʪʨʠ ʜʚʠʛʘʪʝʣʷ: 

æᵻʧʦʚ1=KĀ
ʈɻ.n1
' +ʈʩʪ.ʦʩʥ

Ā́DĀl1ĀŬ1
,                                              (174) 

ʛʜʝ ʂ ï ʢʦʵʬʬʠʮʠʝʥʪ, ʫʯʠʪʳʚʘʶʱʠʡ, ʯʪʦ ʯʘʩʪʴ ʧʦʪʝʨʴ ʚ ʩʝʨʜʝʯʥʠʢʝ ʩʪʘʪʦʨʘ ʠ 

ʚ ʧʘʟʦʚʦʡ ʯʘʩʪʠ ʦʙʤʦʪʢʠ; ʂ=0,2 ʪʘʙʣʠʮʘ 11 ʇʨʠʣʦʞʝʥʠʝ 5. 

Ŭ1 ï ʢʦʵʬʬʠʮʠʝʥʪ ʪʝʧʣʦʦʪʜʘʯʠ ʩ ʧʦʚʝʨʭʥʦʩʪʠ; Ŭ1=108 ɺʪ/(ʤ
2ĀÁʉ) ʨʠʩʫʥʦʢ 

20ʙ ʇʨʠʣʦʞʝʥʠʝ 5. 

ʈɻ.n1
' =kɟĀPɻ1Ā

2l1

lʩʨ1
,                                                (175) 

ʛʜʝ ʠʟ ʪʘʙʣʠʮʳ 1 ʜʣʷ s=ί̎̏ ̍ʥʘʭʦʜʠʤ ʈɻ1=861 ɺʪ; kɟ=1,07. 

ʈɻ.n1
' =1,07Ā861Ā

2Ā0,14

0,742
=348 ɺʪ. 

æᵻʧʦʚ1=0,2
348+276

Ā́0,815Ā0,14Ā108
=44,φ2 Áʉ. 

65. ʇʝʨʝʧʘʜ ʪʝʤʧʝʨʘʪʫʨʳ ʚ ʠʟʦʣʷʮʠʠ ʧʘʟʦʚʦʡ ʯʘʩʪʠ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ: 

æ◒ʠʟ.ʧ1=
ʈɻ.n1
'

Z1Āʇn1Āl1
Ā
bʠʟ.n1

ɚɻʢʚ

+
b1+b2

16Āɚɻʢʚ
'
,                              (176) 

ʛʜʝ ʇʧ1 ï ʨʘʩʯʝʪʥʳʡ ʧʝʨʠʤʝʪʨ ʧʦʧʝʨʝʯʥʦʛʦ ʩʝʯʝʥʠʷ ʧʘʟʘ ʩʪʘʪʦʨʘ. 

ʇʧ1=2hʧʢ+b1+b2,                                           (177 

ʇʧ1=2Ā18,3+10+7,6=54,2 ʤʤ.=0,054 ʤ. 

ɼʣʷ ʠʟʦʣʷʮʠʠ ʢʣʘʩʩʘ ʥʘʛʨʝʚʦʩʪʦʡʢʦʩʪʠ F ɚɻʢʚ=0,16 ɺʪ/ʤ
2, ʧʦ ʨʠʩʫʥʢʫ 18 

ʇʨʠʣʦʞʝʥʠʝ 5 ʜʣʷ d/dʠʟ=1,5/1,585=0,95 ʥʘʭʦʜʠʤ ɚɻʢʚ
'
=1,4 ɺʪ/(ʤ2ĀÁʉ). 

æ◒ʠʟ.n1=
348

48Ā0,054Ā0,14
Ā
0,4

0,16
+
7,6+10

16Ā1,4
Ā10
-3
=3,15 Áʉ. 

66. ʇʝʨʝʧʘʜ ʪʝʤʧʝʨʘʪʫʨʳ ʧʦ ʪʦʣʱʠʥʝ ʠʟʦʣʷʮʠʠ ʣʦʙʦʚʳʭ ʯʘʩʪʝʡ: 

æ◒ʠʟ.ʣ1=
ʈɻ.ʣ1
'

2ĀZ1Āʇʣ1Ālʣ1
Ā
bʠʟ.ʣ1

ɚɻʢʚ

+
hʧ1

12Āɚɻʢʚ
'
,                              (178) 
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ʛʜʝ ʇʣ1 ï ʧʝʨʠʤʝʪʨ ʫʩʣʦʚʥʦʡ ʧʦʚʝʨʭʥʦʩʪʠ ʦʭʣʘʞʜʝʥʠʷ ʣʦʙʦʚʦʡ ʯʘʩʪʠ ʦʜʥʦʡ 

ʢʘʪʫʰʢʠ, ʇʣ1åʇʧ1; 

bʠʟ.ʣ1 ï ʦʜʥʦʩʪʦʨʦʥʥʷʷ ʪʦʣʱʠʥʘ ʠʟʦʣʷʮʠʠ ʣʦʙʦʚʦʡ ʯʘʩʪʠ ʢʘʪʫʰʢʠ, ʧʨʠ 

ʦʪʩʫʪʩʪʚʠʠ ʠʟʦʣʷʮʠʠ ʚ ʣʦʙʦʚʳʭ ʯʘʩʪʷʭ bʠʟ.ʣ1ʤʘʭ=0,05 ʤʤ.; 

ɚɻʢʚ
'

 ï ʜʣʷ ʚʩʳʧʥʦʡ ʦʙʤʦʪʢʠ ʦʧʨʝʜʝʣʷʝʪʩʷ ʧʦ ʨʠʩʫʥʢʫ 18 ʇʨʠʣʦʞʝʥʠʝ 5, ʜʣʷ 

ʢʘʪʫʰʝʢ ʠʟ ʧʨʷʤʦʫʛʦʣʴʥʦʛʦ ʧʨʦʚʦʜʘ ʧʨʠʥʠʤʘʶʪ hʧ1/(12Āɚɻʢʚ
'

)=0. 

ʈɻ.ʣ1
' =kɟĀPɻ1Ā

2lʣ1

lʩʨ1
,                                                   (179) 

ʈɻ.ʣ1
' =1,07Ā861Ā

2Ā0,231

0,742
=574 ɺʪ. 

æ◒ʠʟ.ʣ1=
574

2Ā48Ā0,054Ā0,23
Ā
0,05

0,16
+
18,3

12Ā1,4
Ā10
-3
=0,67 Áʉ. 

67. ʇʨʝʚʳʰʝʥʠʝ ʪʝʤʧʝʨʘʪʫʨʳ ʥʘʨʫʞʥʦʡ ʧʦʚʝʨʭʥʦʩʪʠ ʣʦʙʦʚʳʭ ʯʘʩʪʝʡ ʥʘʜ 

ʪʝʤʧʝʨʘʪʫʨʦʡ ʚʦʟʜʫʭʘ ʚʥʫʪʨʠ ʜʚʠʛʘʪʝʣʷ: 

æᵻʧʦʚ.ʣ.1=
KĀʈɻ.ʣ1

'

2́ĀDĀlʚʳʣ1ĀŬ1
,                                                (180) 

æᵻʧʦʚ.ʣ.1=
0,2Ā574

2́Ā0,185Ā74,8Ā10-3Ā108
=12,23 Áʉ. 

68. ʉʨʝʜʥʝʝ ʧʨʝʚʳʰʝʥʠʝ ʪʝʤʧʝʨʘʪʫʨʳ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ ʥʘʜ ʪʝʤʧʝʨʘʪʫʨʦʡ 

ʚʦʟʜʫʭʘ ʜʚʠʛʘʪʝʣʷ: 

æᵻ1
'
=
æᵻʧʦʚ1+æᵻʠʟ.n1Ā2l1+(æᵻʠʟʣ1+æᵻʧʦʚ.ʣ1)Ā2lʣ1

lʩʨ1
,                 (181) 

æᵻ1
'
=
14,2+3,15Ā2Ā0,14+(0,67+12,23)Ā2Ā0,23

0,742
=11,06 Áʉ. 

69. ʇʨʝʚʳʰʝʥʠʝ ʪʝʤʧʝʨʘʪʫʨʳ ʚʦʟʜʫʭʘ ʚʥʫʪʨʠ ʜʚʠʛʘʪʝʣʷ ʥʘʜ ʪʝʤʧʝʨʘʪʫʨʦʡ 

ʦʢʨʫʞʘʶʱʝʡ ʩʨʝʜʳ: 

æᵻB=
ВP'B
SʢʦʨĀŬB

,                                              (182) 

ʛʜʝ ВP'B ï ʩʫʤʤʘ ʧʦʪʝʨʴ, ʦʪʚʦʜʠʤʳʭ ʚ ʚʦʟʜʫʭ ʚʥʫʪʨʠ ʜʚʠʛʘʪʝʣʷ, ɺʪ; 

ŬB ï ʢʦʵʬʬʠʮʠʝʥʪ ʧʦʜʦʛʨʝʚʘ ʚʦʟʟʜʫʭʘ, ɺʪ/(ʤ
2
ĀÜʉ); 

Sʢʦʨ ï ʵʢʚʠʚʘʣʝʥʪʥʘʷ ʧʦʚʝʨʭʥʦʩʪʴ ʦʭʣʘʞʜʝʥʠʷ ʢʦʨʧʫʩʘ, ʤ
2
. 



×Pɺ
'=×ʈ-(1-ʂ)Ā(ʈɻ.ʧ1

' +ʈʩʪ.ʤʝʭ)-0,9Pʤʝʭ,                       (183) 

×ʈ'=×ʈ+kɟ-1Āʈɻ1+ʈɻ2,                                        (184) 

×ʈ=1812 ʠʟ ʪʘʙʣʠʮʳ 1 ʜʣʷ s=sʥʦʤ. 

ВP'B=1897- 1-0,2 348+276-0,9Ā117=1293 ɺʪ. 

sʢʦʨ= D́a+8ʇʨĀl1+2lʚʳʣ1,                              (185) 

ʛʜʝ ʧʦ ʨʠʩʫʥʢʫ 19 ʇʨʠʣʦʞʝʥʠʝ 5 ʇʨ=0,32 ʤ ʜʣʷ h=160 ʤʤ; 

ʧʦ ʨʠʩʫʥʢʫ 20ʙ ʇʨʠʣʦʞʝʥʠʝ5 Ŭɺ = 20 ɺʪ/(ʤ
2 
Āęʉ) ʜʣʷ Dʘ=0,272 ʤ. 

sʢʦʨ= Ā́0,272+8Ā0,320,14+2Ā0,0748=0,99 ʤ2. 

æᵻB=
1293

0,99Ā20
=65,3 Áʉ. 

70. ʉʨʝʜʥʝʝ ʧʨʝʚʳʰʝʥʠʝ ʪʝʤʧʝʨʘʪʫʨʳ ʦʙʤʦʪʢʠ ʩʪʘʪʦʨʘ ʥʘʜ ʪʝʤʧʝʨʘʪʫʨʦʡ 

ʦʢʨʫʞʘʶʱʝʡ ʩʨʝʜʳ: 

æᵻ1=æᵻ
'
1+æᵻɺ,                                                     (186) 

æᵻ1=14,2 + 65,3 = 79,5 Áʉ. 

71. ʇʨʦʚʝʨʢʘ ʫʩʣʦʚʠʡ ʦʭʣʘʞʜʝʥʠʷ ʜʚʠʛʘʪʝʣʷ. 

ʊʨʝʙʫʝʤʳʡ ʜʣʷ ʦʭʣʘʞʜʝʥʠʷ ʨʘʩʭʦʜ ʚʦʟʜʫʭʘ: 

Q
B
=
kmВP'ʚ
1100Āæᵻʚ

,                                                    (187) 

ʛʜʝ km ï ʢʦʵʬʬʠʮʠʝʥʪ, ʫʯʠʪʳʚʘʶʱʠʡ ʠʟʤʝʥʝʥʠʝ ʫʩʣʦʚʠʡ ʦʭʣʘʞʜʝʥʠʷ ʧʦ ʜʣʠʥʝ 

ʧʦʚʝʨʭʥʦʩʪʠ ʢʦʨʧʫʩʘ, ʦʙʜʫʚʘʝʤʦʛʦ ʥʘʨʫʞʥʳʤ ʚʝʥʪʠʣʷʪʦʨʦʤ. 

km=m
n

100
ĀDa,                                                 (188) 

km=2,5
1500

100
Ā0,272=5,05 

Q
B
=
5,05Ā1293

1100Ā65,3
=0,09 ʤ3/ʩ. 

ʈʘʩʯʝʪ ʚʦʟʜʫʭʘ, ʦʙʝʩʧʝʯʠʚʘʝʤʳʡ ʥʘʨʫʞʥʳʤ ʚʝʥʪʠʣʷʪʦʨʦʤ: 

ɗ'B=0,6Da
3Ā 
n

100
,                                                (189) 
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ɗ'B=0,6Ā0,272
3
Ā
1500

100
=0,18 ʤ3/ʩ. 

ʅʘʛʨʝʚ ʯʘʩʪʝʡ ʜʚʠʛʘʪʝʣʷ ʥʘʭʦʜʠʪʩʷ ʚ ʜʦʧʫʩʪʠʤʳʭ ʧʨʝʜʝʣʘʭ. ɺʝʥʪʠʣʷʪʦʨ 

ʦʙʝʩʧʝʯʠʚʘʝʪ ʥʝʦʙʭʦʜʠʤʳʡ ʨʘʩʭʦʜ ʚʦʟʜʫʭʘ. 

ɺʳʚʦʜ: ʩʧʨʦʝʢʪʠʨʦʚʘʥʥʳʡ ʜʚʠʛʘʪʝʣʴ ʦʪʚʝʯʘʝʪ ʧʦʩʪʘʚʣʝʥʥʳʤ ʚ ʪʝʭʥʠʯʝʩʢʦʤ 

ʟʘʜʘʥʠʠ ʪʨʝʙʦʚʘʥʠʷʤ. 

 

 

 

 

 

 

 

 

 

 

 



ʇʈʀʃʆɾɽʅʀɽ 1 

ɿʘʜʘʥʠʝ  

ʥʘ ʧʨʦʝʢʪ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ 

ʈʦʪʦʨ _______ . 

ʄʦʱʥʦʩʪʴ ʈ =         ʢɺʪ 

ʅʘʧʨʷʞʝʥʠʝ U =   ɺ 

ʏʠʩʣʦ ʧʦʣʶʩʦʚ 2ʨ=  

ʏʘʩʪʦʪʘ f = 50 ɻʮ 

ʀʩʧʦʣʥʝʥʠʝ ʧʦ ʩʧʦʩʦʙʫ ʟʘʱʠʪʳ ʦʪ ʚʦʟʜʝʡʩʪʚʠʷ ʦʢʨʫʞʘʶʱʝʡ  

ʉʨʝʜʳ                 IP                                              

ʂʦʥʩʪʨʫʢʪʠʚʥʦʝ ʠʩʧʦʣʥʝʥʠʝ                         IM 1001_______________________                 

ɼʦʧʦʣʥʠʪʝʣʴʥʳʝ 

ʪʨʝʙʦʚʘʥʠʷ___________________________________________________________

_____________________________________________________________________

_____________________________________________________________________

__________________________________________________ 

ɺʳʜʘʥʦ  

ʉʪʫʜʝʥʪʫ_______________________________________________________                  

ɻʨ._________________  

ç __ è ______ 20 __ ʛ. 

ʈʫʢʦʚʦʜʠʪʝʣʴ________________ 
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ʇʈʀʃʆɾɽʅʀɽ 2 
 

ʆʙʲʝʤ ʠ ʛʨʘʬʠʢ ʚʳʧʦʣʥʝʥʠʷ ʦʩʥʦʚʥʳʭ ʨʘʟʜʝʣʦʚ ʢʫʨʩʦʚʦʛʦ ʧʨʦʝʢʪʘ 

 

ˉ 

ʧ/

ʧ 

ʅʘʠʤʝʥʦʚʘʥʠʝ ʨʘʟʜʝʣʦʚ ʧʨʦʝʢʪʘ ʆʙʲʝʤ ʨʘʟʜʝʣʘ 

ʚ % 

1 ɺʳʙʦʨ ʛʣʘʚʥʳʭ ʨʘʟʤʝʨʦʚ 5 

2 ʕʣʝʢʪʨʦʤʘʛʥʠʪʥʳʡ ʨʘʩʯʝʪ 35 

3 ʈʘʟʨʘʙʦʪʢʘ ʢʦʥʩʪʨʫʢʮʠʠ (ʚʳʧʦʣʥʝʥʠʝ ʯʝʨʪʝʞʝʡ ʦʙʱʠʭ 

ʚʠʜʦʚ ʚ ʪʦʥʢʠʭ ʣʠʥʠʷʭ) 

30 

4 ʄʝʭʘʥʠʯʝʩʢʠʝ ʨʘʩʯʝʪʳ 5 

5 ɺʝʥʪʠʣʷʮʠʦʥʥʳʡ ʨʘʩʯʝʪ 8 

6 ʊʝʧʣʦʚʦʡ ʨʘʩʯʝʪ 7 

8 ɿʘʚʝʨʰʝʥʠʝ ʯʝʨʪʝʞʝʡ ʠ ʦʬʦʨʤʣʝʥʠʝ ʧʦʷʩʥʠʪʝʣʴʥʦʡ 

ʟʘʧʠʩʢʠ 

10 

  100 
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ʄʀʅʀʉʊɽʈʉʊɺʆ ʉɽʃʔʉʂʆɻʆ ʍʆɿʗʁʉʊɺɸ  

ʈʆʉʉʀʁʉʂʆʁ ʌɽɼɽʈɸʎʀʀ 
ʌʝʜʝʨʘʣʴʥʦʝ ʛʦʩʫʜʘʨʩʪʚʝʥʥʦʝ ʙʶʜʞʝʪʥʦʝ  

ʦʙʨʘʟʦʚʘʪʝʣʴʥʦʝ ʫʯʨʝʞʜʝʥʠʝ 

ʚʳʩʰʝʛʦ ʧʨʦʬʝʩʩʠʦʥʘʣʴʥʦʛʦ ʦʙʨʘʟʦʚʘʥʠʷ 
çʂʫʨʩʢʘʷ ʛʦʩʫʜʘʨʩʪʚʝʥʥʘʷ ʩʝʣʴʩʢʦʭʦʟʷʡʩʪʚʝʥʥʘʷ 

ʘʢʘʜʝʤʠʷ ʠʤʝʥʠ ʧʨʦʬʝʩʩʦʨʘ ʀ.ʀ.ʀʚʘʥʦʚʘè 
 

 

 

  

ʌʘʢʫʣʴʪʝʪ ʠʥʞʝʥʝʨʥʳʡ 

ʂʘʬʝʜʨʘ çʀʥʬʦʨʤʘʪʠʢʠ ʠ ʵʣʝʢʪʨʦʵʥʝʨʛʝʪʠʢʠè 

 

 

 

 

 

ʂʫʨʩʦʚʦʡ ʧʨʦʝʢʪ 

ʧʦ ʜʠʩʮʠʧʣʠʥʝ çʕʣʝʢʪʨʠʯʝʩʢʠʝ ʤʘʰʠʥʳè 

ʥʘ ʪʝʤʫ: çʈʘʩʯʝʪ ʦʙʤʦʪʦʢ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷè 

 
 

 

 

 

 

 

 

ʉʪʫʜʝʥʪ ʛʨʫʧʧʳ ............     

ʈʫʢʦʚʦʜʠʪʝʣʴ ʧʨʦʝʢʪʘ            

 

 

 

 

 

 

ʂʋʈʉʂ ï 20_ 
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ʉʚʦʜʥʳʝ ʜʘʥʥʳʝ ʨʘʩʯʸʪʘ ʘʩʠʥʭʨʦʥʥʦʛʦ ʜʚʠʛʘʪʝʣʷ 

 

P2H=   ʢɺʪ;  Uʥ=   ɺ; nc=   ʦʙ/ʤʠʥ; I 1ʥ=   ɸ; 

ÃÏÓ•̎    ɖʥ=   ; sʥ=   ; Ix.x.=   A; 

Mmax/Mʥ=   ; Iʭ.ʭ /Iʥ=   ; Iʧ/Iʥ=   ; Mʧ/Mʥ=   ; 

ÃÏÓ•̖Ȣ̖Ȣ     Ƞ D=    ʤ; lŭ=    ʤ; l1=    ʤ; 

l2=    ʤ; Dʘ =    ʤ; Ű=    ʤ; ŭ =   ʤ; 

ɚ=lŭ/Ű kŭ=   ; Z1=   ; Z2=   ;   

j1=   ɸ/ʤ
2
; j2=   ɸ/ʤ

2
; Bŭ=   ʊʣ; Ba=   ʊʣ; 

ɺzlmin =   ʊʣ; ɺzlmax =   ʊʣ; ɺz2max =   ʊʣ; ɺz2min =   ʊʣ; 

Bj  =    ʊʣ;    

 

 

ɼʘʥʥʳʝ ʦʙʤʦʪʦʢ  ʉʪʘʪʦʨʘ  ʈʦʪʦʨʘ  

ʏʠʩʣʦ ʧʘʟʦʚ ʥʘ ʧʦʣʶʩ ʠ ʬʘʟʫ q   

ʏʠʩʣʦ ʚʠʪʢʦʚ ʚ ʬʘʟʝ W   

ʋʢʦʨʦʯʝʥʠʝ ʰʘʛʘ  ɓ   

ʉʝʯʝʥʠʝ ʦʙʤʦʪʦʯʥʦʛʦ ʧʨʦʚʦʜʘ,ʤʤ
2 

qʵʣ   

ʏʠʩʣʦ ʵʣʝʤʝʥʪʘʨʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ nʵʣ   

ʏʠʩʣʦ ʵʬʬʝʢʪʠʚʥʳʭ ʧʨʦʚʦʜʥʠʢʦʚ ʚ ʧʘʟʫ uʧ   

ʏʠʩʣʦ ʧʘʨʘʣʣʝʣʴʥʳʭ ʚʝʪʚʝʡ ʦʙʤʦʪʢʠ a   

ʉʝʯʝʥʠʝ ʵʬʬʝʢʪʠʚʥʦʛʦ ʧʨʦʚʦʜʥʠʢʘ, ʤʤ
2 

qʵʬ   

ʂʦʵʬʬʠʮʠʝʥʪ ʟʘʧʦʣʥʝʥʠʷ ʧʘʟʘ (ʜʣʷ 

ʚʩʳʧʥʳʭ ʦʙʤʦʪʦʢ) 

k3   

ʉʨʝʜʥʷʷ ʜʣʠʥʘ ʚʠʪʢʘ, ʤ   lʩʨ   

ɼʣʠʥʘ ʚʳʣʝʪʘ ʣʦʙʦʚʳʭ ʯʘʩʪʝʡ, ʤ lʚʳʣ   

 

  



ʇʨʦʜʦʣʞʝʥʠʝ ʇʈʀʃʆɾɽʅʀɽ 4 

 

ʇʘʨʘʤʝʪʨʳ ʩʭʝʤʳ ʟʘʤʝʱʝʥʠʷ 

 

ʅʘʠʤʝʥʦʚʘʥʠʷ   ʇʨʠ ʥʦʤʠʥʘʣʴʥʦʤ ʨʝʞʠʤʝ (s=sH) ʇʨʠ ʧʫʩʢʝ (s=1 ) 

r1 ʆʤ  ʦ.ʝ. ʆʤ  

x1    

r2    

x2    

x12    

r12    

 

ʇʦʪʝʨʠ ʧʨʠ ʥʦʤʠʥʘʣʴʥʦʡ ʥʘʛʨʫʟʢʝ 

 

ɺʠʜʳ ʧʦʪʝʨʴ ʢɺʪ % ʢ ʩʫʤʤʝ ʧʦʪʝʨʴ 

1.ʕʣʝʢʪʨʠʯʝʩʢʠʝ ʧʦʪʝʨʠ 

ʕʣʝʢʪʨʠʯʝʩʢʠʝ ʧʦʪʝʨʠ 

  

ɺ ʪʦʤ ʯʠʩʣʝ: ʚ ʦʙʤʦʪʢʝ ʩʪʘʪʦʨʘ   

ɺ ʦʙʤʦʪʢʝ ʨʦʪʦʨʘ   

2. ʇʦʪʝʨʠ ʩʪʘʣʠ    

ɺ ʪʦʤ ʯʠʩʣʝ: 

ʦʩʥʦʚʥʳʝ ʚ ʩʪʘʪʦʨʝ 

  

ʜʦʧʦʣʥʠʪʝʣʴʥʳʝ (ʧʦʚʝʨʭʥʦʩʪʥʳʝ ʠ 

ʧʫʣʴʩʘʮʠʦʥʥʳʝ) 

  

3. ʇʦʪʝʨʠ ʤʝʭʘʥʠʯʝʩʢʠʝ   

4. ʇʦʪʝʨʠ ʜʦʙʘʚʦʯʥʳʝ   

ʉʫʤʤʘ ʧʦʪʝʨʴ  100 

 

ʉʨʝʜʥʝʝ ʧʨʝʚʳʰʝʥʠʝ ʪʝʤʧʝʨʘʪʫʨʳ ʦʙʤʦʪʦʢ ʥʘʜ ʪʝʤʧʝʨʘʪʫʨʦʡ 

ʦʢʨʫʞʘʶʱʝʡ ʩʨʝʜʳ 

ʆʙʤʦʪʢʠ ʩʪʘʪʦʨʘ: æɗ1=éééęʉ; 

ʆʙʤʦʪʢʠ ʨʦʪʦʨʘ (ʜʣʷ ʜʚʠʛʘʪʝʣʝʡ ʩ ʬʘʟʥʳʤʠ ʨʦʪʦʨʘʤʠ): 

æ ɗ2=éééęʉ; 
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ʈʠʩ.ʇ5.2. ɿʥʘʯʝʥʠʝ ʢʦʵʬʬʠʮʠʝʥʪʘ kE  

 

 

  

 

ʈʠʩ.ʇ5.1. ɺʳʩʦʪʘ ʦʩʠ ʚʨʘʱʝʥʠʷ h ʜʚʠʛʘʪʝʣʝʡ ʨʘʟʣʠʯʥʳʭ ʤʦʱʥʦʩʪʝʡ ʠ 

ʯʘʩʪʦʪʳ ʚʨʘʱʝʥʠʷ: ʘ - ʩʦ ʩʪʝʧʝʥʴʶ ʟʘʱʠʪʳ IP44; ʙ - ʩʦ ʩʪʝʧʝʥʴʶ ʟʘʱʠʪʳ IP23 



 
ʈʠʩ. ʇ5.3. ʇʨʠʤʝʨʥʳʝ ʟʥʘʯʝʥʠʷ ʂʇɼ ʠ cos ʩʨ ʘʩʠʥʭʨʦʥʥʳʭ ʜʚʠʛʘʪʝʣʝʡ: ʘ - ʩʦ 

ʩʪʝʧʝʥʴʶ ʟʘʱʠʪʳ IP44 ʠ ʤʦʱʥʦʩʪʴʶ ʜʦ 30 ʢɺʪ; ʙ - ʩʦ ʩʪʝʧʝʥʴʶ ʟʘʱʠʪʳ IP44 

ʠ ʤʦʱʥʦʩʪʴʶ ʜʦ 400 ʢɺʪ; ʚ - ʩʦ ʩʪʝʧʝʥʴʶ ʟʘʱʠʪʳ IP23 
 

 

 

 
ʈʠʩ. ʇ5.4. ʆʪʥʦʰʝʥʠʝ ɚ=l/Ű ʫ ʜʚʠʛʘʪʝʣʝʡ ʠʩʧʦʣʥʝʥʠʷ ʧʦ ʩʪʝʧʝʥʠ ʟʘʱʠʪʳ 

ʘ - IP44; ʙ - IP23 
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